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1947 ( G. B. Dantzig)

(A. Charnes) (W. W. Cooper)
1961 : (Y. ljiri) :
(S. M. Lee) (V. Jaaskelainen)
1
1.1
1 ,
A B : 1-1
1-1
8
A 4 16 kg
B 0 4 12 kg
2 3
? , X X%
8! ]
X +2%< 8



4 x < 16
4x< 12

Z , Z2=2x +3x% ,
max z=2x +3Xx
[ % +2x%< 8
4x < 16
dx< 12
( X, X2 0
2 ( 1-1), 500
: ol 1

200 e ol 2
00 Jy 55
"J;E;}?Tﬁ'.ﬂil'&
1 4’ 1-1
, 20% ,
0. 2%
1000 / , 800 /
Xu ,
Yo , ,
0. 2%, (2- x ) 500< 2 1000
, 0.2%,
[0.8(2- x)+ (1L 4- x)] 700< 2 1000
, X< 2: %< 1.4
, z=1000x + 800 x
min z= 1000 x + 800 %
( X > 1
0.8x + %= 1.6
3 Xt <2
X <1l4
X, =20
(1) (%,%, , %) :
(2) ,



(3) : ( )

max(min) z=ax +e X + + GXn (1-1)

[asx +az %+ +anxe< (=,2)h
X taxt+t +ax<(=,2)b
) (1-2)
au Xt ae X+ +anmXe< (=,2)bs
X, X , X= 0 (1-3)
, (1-1) , (1-2)  (1-3) ;
(1-3)
1.2
: 1
X X , X, %= 0 1
*32
x, +2x, =8 XX +2%< 8 Xx +2% =8
P , X,
\ 0, 0, ,,:—4::=I1 =0, % +2%< 8,4x< 16 4 < 12
7 , X, %
24
- 1-2
0 1 2 (
) (
1-2 ), 1
Z=2X% + 33X,
=-(23)x +423
, : ” y4
, = -(23)x+1423
Q
(
1 Q,Q
(4,2)
z=14

10 -



14
1 ( )
1 max z=2x +4x, z
X1 +2%< 8 Z : QQ
( 1-4) QQ Z ,
( )
2.
max z= x + %
-2% + %< 4
X - %< 2
X, =0
1-5 1-5 , ,
Igl' X3
) k)
Q. %\ﬂ‘f
/ 2,
o
T, "-.
0 éh;ﬂ“"ﬁ" N
Q, T o ' S
2 “ X
1-4 1-5
3.
1 -2% + %= 4, ,
23 ,

11 -



1.3

min;

(M)

(M1)

C=(a,c,

P

12 -

max,
<, > ,
(-o0,00) ,
max z=gx +ex + + GXn
[aix +ta:x+ +anxn=h
21X +a2% + +anxn=Dh
J
i Xt tazX +  + ann Xo = Iy
(X, %, ,X%=0
n
max z = G X;
1
n
{ aiXx; = b, 1 =1,2, , M
1
x =0, j=1,2, ,n
h >0, R

max z= CX

{Zﬂ Pi X
1

x>0, j=1,2, ,n

1
@y

,Gn)
X _aj h
X @ b
X = : P = : b=
L Xn _a'nj_ _bn_
Xj
max z=CX
AX=Db
X=0



a1 aw an 0
A= ... .. e | =(P, P, ,Pn);0= 0
am  am amn O
A—— mx n , m< n;
b— :
C— ,
Xe—
(1) , mn z=CX
, zZ= -1 max z= - CX
(2) C < ,
“ < : < ;
. oz ( ),
3 1
1 ( M )
max z=2x +3X%
(% +2%< 8
] 4x < 16
dx< 12
X, =20
X, Xa, X
max z=2x +3% +0x +0x + 0%
(% +2% + X =8
<4)(1 + X =16
4% + % =12
L X, X, X%,X,X%=0
X X X ,
, ©G,@,6=0
(3) Xk Xk = Xk - Xk, Xk, Xk= 0
4
min z= - x +2x - 3%

IN

XX+ X+ X
Xt - Xe+ X% =2

-3+ X +2x =5

L X%, %= 0, %
13-



(1) X - Xs X, X, %= 0;

(2) < % ;
(3) > X
(4) z=-1z, min z max 2,
max 2 =x -2x% +3(x - %) +0x% +0x
[ x+tx+ (X%-X%)+X% =7
Xx-x+t (X%-X%) - X =2
-3xtx +2(x - %) =5
X, X,X,X%,X%, x>0
1.4
, 1.3
(M) :
max z = G Xi 1-4
Zl j (1-4)
Z aixi = h, i=1,2, ,m (1-5)
1 (1-6)
x>0, j=1,2, ,n
1.
(1-5) (1-6) X=(%,%, , %),
2.
A mX n , m B A mx m
(I B[# 0), B , B m
a1 a2 Am
B= =(P1,P2, ,Pm)
am  amw amm
Pi(j=1,2, ,m) : Pi xi(j=1,2, ,m) :
L] y (1'5)
A m, m<n, m
(1-5)
(au\ ’32\ 'am\
ck1 a2 cm
X + X + o+ Xm
am L Qe an m

14 -



(1-7)

Xe

(1-7)

(1-5)

b a.,m+l 'aLn
b a,m+l cen
= - Xm+1 - - Xn (1-7)
L b L Gn m+1J L Amn
Zl Pj Xj - b- jZ+1 Pj Xj
a1 a2 am\
ck1 k2 am
B= =(P.,P, ,Pun)
L Am ane Amm
Xe =(%, X, ,Xn)
Xm+1 = Xm+2 = = Xn :0,
X=(x,%, ,X,0, ,0)
m, X , ,
1-2 0,0,2,Q,Q ( % =0, % =0)
(1-6) : 1-2 0,Q,Q,Q,Q
ml
’ :1E'uf:’rfﬁ
C]m

1-6

1-6

15 -



1. 2 y )
2.1
1.
K n , XY K, X? K
aXW +(1-a)X* K,(0<as< 1); K
, 17 (a)(h) (¢ 1-2
: 1-7(d)
(a) (b} {e) (d)
1-7
2.
XM X XY n E" k Ui,M2, Mk, O i
k

<1,i=1,2, ,k;z i = 1,

X=pr XV +p X2+ +pe X
X X X®, X ( O<pi<l )

3.

K , X K; X XK X K

X=aX? +(1-a)X?, (0<a<1l)
X K ( )

2.2

1 ,

D:{X‘Zn P xi = b, X 2 0}

16 -



Z Pix; = b x = 0, j=1,2, , N

( ) , D D
)<(1) — ()(1(_1) ’ )él)’ ,Xqu))T
)((2) = ()éz) )éZ) X%Z) )T
D .X(l)¢ X(Z)
Z Pj X(il) = b1 )él) 2 01 J = 1121 1n
1
>0, j=1,2, ,n

Z Pixi” =b X’
1
X=(x,%, ,%) XV x* :
X=a X" +(1-a)X® (0<as< 1)
X =ax” + (1-a)x?, :

Z Pix; = Z P [an(l) + (1 -G)XSZ)]
1 1

n n n
GZ P xi" +Z P x? —az P x}?
1 1 1

—=oab+b-ab=>b

X", X”=20,a0>0,1-a>0, x20,j=1,2, ,n X D,D
1 X=(%,%, ,X%) X
(1)
(2) P, P, P« , k m; k=m
: X=(x,»*, ,x%,0 0) k<m
m- k P., P, , Pk ,
X,
2 X D
, X m
Z Pixi =Db (1-8)
1
(1) X , D
1, X , P.,P., ,Pn
; ai,i:1,2, , M
o: Pt +0: P2 + +0m Pm =0 (1-9)
u>0 (1-9) (1-8) ,

17 -



(% -po ) Pr+ (% -poz) P+ + (X -pam)Pm=Db
(X oL ) Pr + (% +pOz) P: + + (Xm +pam ) P =D

XP =[(x -par), (% -poz), ,(Xn -pom),0, 0]
X? =[(x +par), (% +poz), ,(Xn +pom),0, 0]

X X? x=%>é” +%x<2> , X X, x?
1 lJ 1)
x*xpaiz 0, i=1,2, ,m
X X® X D
(2) X D :
X D , D
)<(1) — ()él) ’ )él) ’ ’ Xqu))T
)<(2) — ()éZ) )éZ) XEwZ))T
X=aX” +(1-a)X? o0O<a<1
X , P. Pn i>m , x=x"=x? =0,
X X

>, Px’ =b S P X = b

m

Z Pi(x” - x”) =0

XYz X@ (x” - x7) : P.,P., ,Pn ,
X
2 K , X K K
5 X , X7,
X(2) X(3)
X( 1-8)
X? X X2
X X X X
X(l) X(s) X(l) x(3)

X =aX" +(1-a)X® o0<a<1
X x x%?
X=AX +(1-A)X? 0<Aa<1

1-8 X

X =A[a X + (1-a) X771+ (@1-2)X?
=2 X A (1 -a) X+ (1-2) X?

18 -



M1 =0\ b2 =(1-A),us=A(1-0Q)

X=ps X +ps X2 +ps XP
ZUi =1, O<py <1

3 ,
X(l) ’ X(2) ’ , X(k) ’ X(O) , X(O)
z =CX9( Z =max 2)
X D
k k
X(O) = Z Gix(i) ai > O,Z a =1
1 1
k k
cx® = a X = a; CX"” 1-10
<. 2. (1-10)
X(m) Cx(m) Cx(i)
xtm (1-10) X",
k k
Z a.cx" < z acx'™ = cx™
1 1
cxX%%< cx™
CX(O)
CX? = cx™
X m
’ (1) A(2) A(k) ’
X X ! X T x !

)I(\ 1
A k k
c=c5y o =5 ac”
g X ;X
gf')zm, i=1,2, ,k

N k
C:zu.m: m
X 1

19



, , n, m ,
3
0 , , , , N
n+1 : (0,0,
0),(2,0,0),(0,1,0),(0,0,1) z xi< 1, xi= 0,
1=1,2, ,m ,
3.1
6 1 1
max z=2x% +3x: +0x +0x + 0% (1-11)
X+ 2% + X =8
4% + X =16 (1-12)
4% + % =12
x>0, j=1,2, ,5
(1-12)
1 21 00
A=(P.,P.,P,R,P)={4 0 0 1 O
O 4 0 0 1
(1-12) X, Xa, X
1 0
PP=|0|,R=|1,PB = ]
0 0
1 0
B=(RP,P.,Ps)={0 1 Ow
0 1
B Xz, X , X ,  (1-12)
= 8- X -2%
x =16 -4x (1-13)
X =12 - 4%

20 -



(1-13)

X =% =0,

(1-14)

(1-13)

x =0, (1-13)

(1-15) ,

, (1-15)

s IS
I
w

X, Xa, X

, (1-16)

(1-17)

(1-11)

Z=0+2x1 +3 %
z=0
X =(0,0,8,16,12)"

(1-14)

X ,

X, X%, %=0

X = 8-2x%=20
X =16= 0
X =12 -4%= 0

x =min(8 2, - ,124)=3
X =3 x =0,

X +2% =8 - X
X =16 - 4x
4 =12 - %

X
I
=
o
1
NN
X

X

(2,0,4)

(1-14)

(1-15)

(1-13)

(1-16)

r(1-17)

21 -



Z:9+2X1-%X5 (1-18)

x =% =0, z=9, X+
X" =(0,3,2,16,0)"
(1-18) , X ,
,X(l) ’ ,
’ X(Z)

xX® =(2,3,0,8,0)"
X(3)
X® = (4,2,0,0,4)"

z=14 - 1.5% - 0. 125x (1-19)

(1-19) , X, X
X, X, X =X%=0 |, ,
X 4 2
1 , X, X, X, X, X )
: : (
) : X® =(0,0,8,16,12)"
1-2 (0,0), X =(0,3,2,16,0)" 1-2 Q (0,3);X? =
(2,3,0,8,0)" 1-2 Q (2,3), X =(4,2,0,0,4)" 1-2
Q (4’2) )<(0) , ><(1)’ )<(2) ’ X(a)
1-2 , 0 : Q, Q, Q
3.2
(1)
max z = Z G Xi (1-20)
Z Pixi = b (1-21)

x= 0, j=1,2, ,n
Pi(j=1,2, ,n)

B:(Pl,PZ, ,Pm):

22 -



(2) <<

: X; a;(i=1,2, ,mj=1,2, ,n)

(X1 + A m+1 Xm+e1 + +aan=b.

X2 +a,m+1Xm+l+ +aan:b

(1-22)
Xm + @mme1 Xmer +  + @mn Xn = bn
xi=20, j=1,2, ,n
mx m
0O O
B=(P, P, ,Pm)=0 1o
O 0 1
B (1-22)
[ % =h - @& m+1 Xme1 - - &nXn
X =b - @& m X1 - - &n Xn
< (1-23)
Xm = bn - @nm+1 Xme1 - - @mn Xn
Xm+1 = Xmr2 = = X =0, (1-23)
x=h (i=1,2, ,m)
b>0( 1.3 )
X=(x,%, ,%,9 .0)
n-m
=(h,k, ,b,0, 0
n-m
(3) 2 : :
5
3.3
; : (1-23)
)q:b-jzmajx,- (i=1,2, ,m) (1-24)
(1-24) (1-20) ,

Zzicbi‘kli[Q'szdij]Xj (1-25)

23 -



m
ZOZE
1

m

e, z =Z c¢dij, J=m+1, ,n
Z=2 + G - Z)X
jZ+1( ) J
Z=2 + Oj X
2.7
1.
X =(h,B, ,B,0, ,0) B
j:m+1, , N, ;< 0; ><(O) Oj
2.
X =(h,B, ,B,0, ,0) , j=m+1,
0m+k:0,
Xm+ k y X(l)
(1-27) z=2, XY 2.2 3 X x®
3.
X =(h,B, ,B.,0, ,0)7 , Om+ « >0,
a,m+kS O, ( )
X
( =b ')\ai,m+k ()\ >O)
X(nﬂkz
M'=0, j=m+1, ,n, jZm+k
a.m k< 0, A>0 XY
Z= 2 +AOm+«
0m+k>o, )\—>+°°, Z—>+°°;
, : 1,2
0]2 O, 3 0m+k>0 0m+k<0
3.4
X

24 -

1=1,2,

(1-26)

(1-27)

o< 0,

Om+ k =O,

’m’



o >0

1.
(1'27) , Oj >0 , X ,
Xi ( ) o >0,
? ;
mjax(oj >0) =0«
Xk
2.
P.,P., ,Pn , X
(1-21)
Z X” P =b
Pm+1, Pm+2, | Pm+t, , Pa P., P, ,Pn ,
P+ t : 0 (i=1,2, ,m)
Pm+t = z Bi, m+tPi
[ — 2 Bi,m+t i =0
(1-29) 0, (1-28) ,
Z X" P +e[ Pm+t - Bi,m+tpi] =b
Z (X" -@Bim:)P +8Pm: = b
0 : (
) (X” -8Bi.m)(i=1,2, ,m) ,
X"
Bim+t(i=1’2’ M)
X
: ]>O(i=1,2, , M) 6
Bi,m+t
o X
G:min[ i,m+t>0] =
i Bi,m+t B Bl,m+t
(0)
X
Xi e e_[3|,m+t

(1-28)

(1-29)

(1-30)

25 -



(0)
X

(1) _— (0)
X = X -Bl,m+t. Bl,m+t, 101 )
i)
|
(0) (0)
o) - A . m, m+ t X
X(m I, m+ t B ’ ’O’ ’Bl,m+t’ ,O
7
m+ t
)((0) )((l)
© (0)
(1) X _Bl m+t. Bi,m+t I# l
X = (0)
X =1
Bl,m+t
Xi(o) X(O) 'X(il) X(l) .Bi et
Pm+t ) X(l) m
) X(O) X(l)
XI(O) 'q.))l, met =0
X" .0 , 0 ( ),Bimcz 0O XV m
Pi(j=1,2, ,m,jz 1) P+ 1 ,
aij,
Pmst = Zlajpj [Ea (1-31)
Poet = Z B, mi P, (1-32)
1
(1-32) (1-31)
Z Bimt -0ai)Pi +BrmeP =0
1
iz |
B|,m+t¢ 0, P.,P, |, Pn ,
XY m Pi(j=1,2, ,m,jZ 1) Pm«
( 1-2 )
3.5 ( )

26 -



X1 + a. m+1 Xme1 + + ak Xk + + anXn=h

X2 + & m+1 Xme1 + + &k Xk + + anXn=h
1 w (1-33)
X + a me1 Xme1 + + ak X« + +anxn=>h
w
Xm + @n m+1 Xme1 + + ank Xk + + @nn Xn = b

X, X, , Xm , mx m )
Xm+1, Xm+2 , , Xn , ,
Xk 0
e=min[L ax>0 b
i di k ai k
0
G:m_in[i d ik >0] ZL
i i k dlk
B, di« b, a«x ( )
0 Xi , Xk, Xi
ax | 0
bk
(I
P« = ; P =
ak 0
L @nk .y
Xk Xi , P« ) (1'33)
Xt Xi Xm Xm+ 1 Xk Xa b
1 a, m+1 ak  an h
w
1 & m+1 Ak a@n b (1-34)
w
1 am m+1 8nk  @mn (o
(1) (1-34) | Ak,
m+ n b
0, ,0,--0, 02wt g5 2D (1-35)
a k a k Ak | Ak
(2) (1-34) Xk ) a k 1 )
(1-35) aw(iz 1) , (1-34) i , i
0, .0,-20 0,am:-2"a, .0, ,a.-2". a.|b - baik]
ai k a k ai k I k




. :-—:ak(# |)’ . bb-;%b. (iz 1)
a_|: (i=1) -~ (i=1)
ai, b
(3)
X X Xm  Xm+1  Xc  Xn b
1 -2% 0 s O &b
0 += 0 dm: 1 4B
auk
0 -2 1 Gumi O dun|p,
I a .
(4) (1-36) X, X, , X, , Xm mx m
, , X1, X, X , X
XY=, B-:,0,B:1 B,0 K,0 0)F
: ak : ;
ax 1
7 6
6
X X X X
1 2 1 0 0] 8
4 0 0 1 O0]16
O 4 0 0 1112
X, Xa, % , X, X , X, % =0,
X =(0,0,8,16,12)"
X X5 X, X, X :
XX X X X b
1 0 1 0 -12]2
4 0 0 1 0|16
0O 1 0 O Y41 3
x, xs =0,
x* =(0,3,2,16,0)"
4

28 -
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4.1

(1-22) n+ 1 ,m+1
Xl +a.m+1 Xm+1+ +a1an=b
X + @me1 Xm+1 + + anXn=h
W

Xm+ @nm+1 Xm+1 + + @mn Xn = b
-Z+toXx e X + + CnXm + Cn+1 Xme1 + +GXn=0
-Z X1 X Xm  Xm+1 Xn b
O 1 O 0 a, m1 an
0 1 0 & m+1 &n | b

O 0 0 1 am,m+1 amn bﬂ
L1 ¢ e Cn Cm+1 G 0 |

4 1 X ) xX 1 1Xm )
G‘ IQ1 ,Cm )
- Z Xt X Xm Xm+1 Xn b
i O 1 O 0 a, m+1 An b 7
0 1 O &, m+1 &n b
O O O 1 Gm, m+1 Admn bn
1 0 O 0O Gnm:1 - Cai m1 G - Gain |
_ 2, 1 S ob]
, 1-2
1-2
G - G Gn Gn+ 1 G
i
Cs | Xs b X1 Xm Xm+1 Xn
X1 h 0 A m+1 an 01
C| x 6] 0 0 &, m+1 &n 02
Gn Xm bn O 1 am,m+1 Amn em
-z - Ghi 0 0 Gm1 - Ga, m1 G - Gain
—1 -1 =1
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G , G,cé, ,G,;
b L
G G,G, ,G;
0i , 0 ;
) X
G - caj, j: 1,2, , N
1
1-2 )
4.2
(1) : ,
(2) X
O =G - caj , 0,< 0, j=m+1,
i Zl j i J
(3) 0j>0,j= m+ 1, , N , O« Xk
(4) max(o; >0) =0«, Xk , 0
G:min[L aik>0]:L
ik a k
X )
(5) Ak (
ax | 0
ck 0
P, =
a k 1]«
U Gm k-’ \O,
Xe Xi Xk, (2) (5),
1
(1) 1 ; X3, X4, X

9 =(0,0,8,16,12)"
] y 1‘3
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G- 2 3 0 0 0
S
Gs Xe b X X X X X5
0 % 8 1 1 0 0 4
0 X 16 4 0 1 0
0 12 0 [4] 0 0 1 3
z 0 2 3 0 0 0
1-3 G Cs
00=G-2=2-(0x1+0%x4+0x0)=2
2 =c¢-2=3-(0x2+0x0+0x 4)=3
(2) , P, P :
(3) max(o: ,0:) = max(2,3) =3, X : 0
9=min[aL a >0 =min(g 2, - ,124)=3
| i2
X5 X X6 [4]
(pivot element)
(4) [4] : P, (0,0,1)", xe
Xo Xs 14
1-4
G - 2 3 0 0 0 o
G Xs X % % X X5 |
0 % [1] 0 1 0 -V 2 2
0 X 16 4 0 0 1 0 4
3 % 3 0 1 0 0 14
z 9 2 0 0 0 -3 4
b Xs=2,% =16, % =3
Y'=(0,3,2,16,0)"
z=9
(5) 1-4 G-12, G -2z=2 X (2)
(4) : 1-5
1-5
G - 2 3 0 0 0 o
G Xs b X % % X Xs |
2 X 2 1 0 1 0 -Y2 -
0 X 8 0 0 -4 1 [2] 4
3 % 3 0 1 0 0 V4 12
z - 13 0 0 -2 0 U4
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= 2 3 0 0 0 o
G Xg b X % Xa X X5 '
2 X 4 1 0 0 14 0
0 % 4 0 0 -2 12 1
3 % 2 0 1 Y2 -1 8 0
-Z - 14 0 0 -3 2 -1 8 0
(6) 1-5
X = X¥ = (4,2,0,0,4)T
z =14
5.1
3.2
ZPij:b
1
Xn+1, ,Xn+m,
(a1 X +azX + + anXe+ Xoe1 =h
a1 X+ & X + + &n Xn + Xn+2 =h
u X+ ae X +  + amn Xn + Xn+ m = b
L X, , X220, X+1, ,X%X+m=0
Xo+1, , Xn+m , mx m
X® =(0,0, ,0,h,b, ,bn)’
Q‘ZSO, ’
1. M
] (-M)(M )’
8
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min z= -3x + X + %
( X -2% + %< 11
-4+ X +2x%= 3

-2X% + %=1

L X, %,X%=0

M
X % , X , X,
minz= -3x +x + X% +0x% +0x% + Mx + Mx
[ X -2% + X%+ X =11
<—4x1+ X +2% - X% + % =3
-2x% + % +x =1
(X, %, X%, %,%,%, =0
M
, 1-6 min, G-2=20
1-6
Xx=4,% =1, %=9,%=%=%=Xx =0
z= -2
1-6
G -3 1 1 0 0 M M
G X b % X X3 X4 % X X7 !
0 Xa 11 1 -2 1 1 0 0 0 11
M X6 3 -4 1 2 0 -1 1 0 32
M X7 1 -2 0 [1] 0 0 0 1 1
G- 2z -3+6M 1-M 1-3M 0 M 0 0
0 Xa 10 3 -2 0 1 0 0 -1
M X6 1 0 [1] 0 0 -1 1 -2 1
1 X3 1 -2 0 1 0 0 0 1
G- 132 -1 1-M 0 0 M 0 3M-1
0 Xa 12 [3] 0 0 1 -2 2 -5 4
1 X 1 0 1 0 0 -1 1 -2
1 X3 1 -2 0 1 0 0 0 1
G- 2z -1 0 0 0 1 M-1 M+ 1
-3 X1 4 1 0 0 V3 -23 23 -93
1 X 1 0 1 0 0 -1 1 -2
1 X3 9 0 0 1 2 3 -4 3 4 3 -7 3
G- Z 2 0 0 0 V3 13 M-13] M-23
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MiNn W= Xn+1 + + X+ m +0X + + 0 Xn
(a1X1+ +a1an+Xn+1=b.

&1)(1+ +&an+Xn+2:b

am X + + @mn Xn + Xn+m = bn

X, X2, , X+m= 0
: w=0,
3
9
mnz=-3x + X+ X
[ X +2% + %< 11
] -4x+ % +2x%=3
-2% + x =1
X, X, X%=0
MNW= % + X
[ Xt -2% + X%+ X =11
) -4Ax + X t+2X - X%t X% =3
-2% + X +x =1
XX, %X, X, %,X%, X%, =0
X , X , 1-7

Xx =0, %=1, %=1, %=12,% =% =% =0

% =% =0, (0,1,1,12,0)"

, 1-8
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1-7

0i

11
32

X7

[1]

[1]

X1

Ci -

11

10

12

Xe

G-74

G -7

Cs

G- 4

1-8

0;

-23

43

Y3

Y3

23

Y3

X1

[3]

12

Xg

X1

G- 7

G- 74

2

z= -

4, % =1,%=9,

X1 =

1-8

5.2

X|:0,
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‘ " " 1974 (Bland) :

(1) G-z>0 Xk :

k=min(j|c - z >0)
(2) 0 ,
5.3
max z=CX; AX=Db, X= 0 . G6-z<0,(j=1,2, ,n
X, X2, y Xm ’

Xi = b - aixi,l=1,2, ,m
jZ+1 ] J

- ZmIOb +]Znn+1[Q ) Zml GaIJJ X‘

= 2 +'Znﬂ (G - z2)X (1-37)
Z=Z(}b—‘Z[ZGaij-Q]Xi
=2 - -Zl(Zj - G) X (1-38)
: (1-37) , G-2z2<0,(j=1,2, ,n
(1-38) , z-620,(j=1,2, ,n)

(1-37)  (1-38) ,

Q-ZJEO Z‘-QSOI(J=1’21 1n)

1-9
1-9
max z= CX min z= CX
AX=Db, X= 0 AX=Db,X=0
G-1% < >0
Zi -G > <0
5.4
(1) , , 1-10
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1-10

Xj 2 0
X< 0 Xi= - X:%X=20
X; =% - XX ,X=0
> 0
b<O -1
< Xsi
= Xai
2 ( ) Xsi s Xai
max z
min z Z=-2, max Z
Xsi 0
Xai - M
(2) max , 1-9
Atk A, AR
1 15 A1) I s G
'
H-FE AR A1 it
T sk,
£/ woman \T/ semem \T| w—
FEF A TR L e (i
# p At P E
IRy T i
SHE—a 30 NE——
D
&
e, =max{a; }
E Ot &2 %

i

IR ay >0 HH
B, =h; la,
&8, =min{@; }
o, HER AR
ag HEILE

(1) FAEAE A =, B AR i x,
(2) ®ETEAT (W)

2 by oy =2b; ; aglay =y,
(3) A ELES (5 E3)

A l=ay ; 0= JLfh o #
(4) FpILBITHCE

A g
< By Tt Ba =il

[
&y
iy

b — o iy =

1-9
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(1) : ;
(2) :
(3) :
10 100 : 2.9m,2.1m 1.5m
7. 4m, ;
: 2.9m,2.1m 1.5m
: 0.9m 100 : 100 , 90m
: : 1-11
1-11
(m)
2.9 1 2
2.1 0 2 2 1
1.5 3 1 2 3
7.4 7.3 7.2 7.1 6.6
0 0.1 0.2 0.3 0.8
100 :
X, X , X X X5 1-11 ,
min z=0x +0.1x +0.2x% +0.3x% +0.8%
[ % +2% + X =100
) 2% +2x% + X =100
33X+ X% +2X +3x% =100
X, , X% ,%,X%=0
X, X7, X ; 1-12
: 30 ; 10 ; 50
90 100
11
CPH A B D
; : : 1-13
1-14 : ?
Ac A C , Ap A P
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1-13

1 1 1 1
A — A A< —A B2 —B,Be< =B 1-39
2 MM IVE g TR g 2P (1-39)
Ac+ Ao + Av = A (1-40)
Bc+Br+Bxi=B
(1-39) (1-40)
1 1 1
- A+ A+ A0
2 A
1-12
G- 0 0.1 -0.2 -0.3 0.8 -M - M -M
Oi
G | Xe b X X2 X3 Ny X5 X6 X X8
-M| % | 100 |1 2 0 1 0 1 0 0 %)
-M| x| 100 |0 0 2 2 1 0 1 0 -
- M| % | 100 [[3] 1 2 0 3 0 0 1 %)
AM| - 0.1+3M| - 0.2+4M| -0.3+3M| - 0.8 +4M 0 0 0
‘M| % [2003[ 0| 353 23 1 1 1 0 13 %)
-M| x| 10 |0 0 2 [2] 1 0 1 0 %’
0 | x|1003] 1 13 23 0 1 0 0 13 -
~0.1+ -0.2+
0 -0.3+3M| -0.8 0 0 -4 3M
5 3M 4 3M
150
-M| % |503|0]| [33] 93 0 32 1 12 U3 |
03 x| 5 |0 0 1 1 12 0 12 0
0 |x|1003] 1] 3 23 0 1 0 0 13 TO
~0.1+ 0.1- -0.65- 0.15 -
0 0 0 -4 3M
5 3M 5 3M 3 2M 32M
0.1|%| 10 |0 1 -1 0 -9 10 35 -3 10 -15
03 x| 50 |0 0 1 1 12 0 12 0
0 [x]| 30 |1 0 1 0 13 10 -15 1 10 15
0 0 0 0 -0.74 | -M+0.06|- M+0.12| - M-0.®

39 -



1-13

40 -

( /kg)
C 50%
A 50
P 25%
C 25%
B 35
P 50%
D 25
- %Ac +%AP '%AHS 0
3a.tpidaso
dp.tp . tpc
1-14
(kg) I ( 1kg)
C 100 65
P 100 25
H 60 35
1-14 A B
100kg, P 100kg, H 60kg

Ac + Bc+ Dc < 100
Ar+ B + Dr < 100
As + By + Du< 60

, X, , X
X = Ac X2 = Ar Xs = Anx
X = Bc Xs = Br Xs = Bn
X = Dc Xs = Dp Xo = D
1 1 1
- - %<
2X1+2X2+2X3_O
1 3 1
- = =% - %<
4X1+4X2 4)(3_0
3 1 1
- = — =% <
4x4+4xs+4x5_0
| -ix4+lxs-lxs<0
2 2 277
X + X% + x< 100
X + X% + x< 100
X + X% + %< 60
(X, , X%=0




50(x + % + X% )— A
35(x + X% + X% )— B
25(x + % + % )— D
65(x + X + X% )— C
25(% + % + % )— P
35(x% + X% + X )— H

max z=50(x + % + %) +35(x + X%+ X%)+25(x + Xs + %) -
65(x + X% +X%)-25(x + X%+ %) -35(% + X + %)
= -15x +25% +15% - 30x% +10x% -40x - 10X
, Xwo X, :
max z= - 15x +25»% +15% - 30x +10x% -40x - 10x +
0- (%o + X1+ X2 + Xz + Xu + Xs + X )

%xl +%X2 +%)@+X10=O

+%X2-%X3+X11=O

X

+lx5+l>@+x1 =0
4 4 ° 7

1 1 _
+2xs-2>¢;+x13—0

X + X% + X + X =100

N Mow M
X P

¥ + X% + X% + xs =100
X+ X% + X% + X =60
. x>0, i=1,2, ,16
; , ; A 200kg,
C 100kg; P 50kg; H 50kg
z=500 /

a, G n(j=1, ,6),
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(1) :

Z ax; < n (j=1, ,6)

5
Z axi; <15 (j=1, ,6)
1
(2)
Vii < d; (i:]., ,5;]21, ,6)
(3)
Wij =W, j-1+ Xj+Xij - Vj (izl, ,5;]21, ,6);
Wi0:0,Wi6=ki
(4)
Xij= 0, Xi; 2 O,yijZ 0, (I=1, ,5;j=l, ,6)
wi;=0 (i:]., , 95 ]=1, ,5)
(5)
5 6 5 5
max = Syi; - GXij - CiXij - Hi wij
2= 2,2, 8y - ox EEDIDN
13
A, : 115%;
B, , 125%,
4 )
C, , 140%,
3 ;
D1 ’ ’ 6%
10 : )
?
(1)
XiA,XiB,XiC,XiD(izl,Z, ,5) I A,B,C,D
: 1-15
1-15
A XA X2 A X3 X4
B X3B
C Xc
D X1D X2D XD XaD
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(2)

100000 ,
xa + %o =100000
A
D xo(1l+6%)
¥oa + Xec + Xo =1 06 X0o
: A D
XA (1+15%) X0 (1+6%)
Xaa + %8 + Xeo =1 15xa +1 06X%0

Xea + Xp =1 15%A +1 06 X0

x50 =1 15xa +1 06 xo
, B C ,

xs< 40000

X c< 30000

(3)

max z=1 15xa +1 40x%c +1 25xe +1 06 %o
(4)

max z=1 15xa +1 40%c +1 25xe +1 06 %o

[ XA + Xip = 100000
-1.06XDp + Xa + Xc + Xb =0

-1.15%A - 1.06%p + Xsa + X8 + X650 =0

) -1.15%a - 1. 06 X0 + Xa + Xep =0
-1.15%a - 1. 06 X0 + Xo =0
Xoc < 30000
Xs8 < 40000
L XA, Xie, Xic, X020 1=1,2, ,5

(5)
© XA =34783 | xo =65217
: %A =39130 , %c=30000 ,xo=0
: xa =0, %8 =40000 ,xo =0
© Xa=45000 ,xo0=0
© %o =0
43 -



143750 43 .715%

1.1 ,
2
(1) max z=x + 3% (2) min z=x +1.5%
(5x +10%< 50
w+ s 1 x +3x= 3
3 o< 4 Xx + x=2
“« %3 0 X, %= 0
(3) max z=2x +2x (4) max z=x + x
X - %= -1 X - %= 0
-0.5x + < 2 3x - < -3
X, %20 X, %20
1.2 ,
(1) min z= -3x +4X% - 2X% +5X
[ 4% - % +2% - Xe= -2
) X+ X +3% - x< 14
-2X% +3% - Xzst+2x= 2
(X, ,x>20,
(2) max s= z/ p«
Z = Zl ZlaikXik
‘Zl-xik:-l(izl, n)
L xi«k=20 (i=1, ,n k=1, ,m)
1.3
(1) max z=2x +3x +4x% + 77X (2) max z=5x -2x +3x -6X
2% +3% - X -4x% =8 X +2% +3% +4x =7
Xt -2% +6Xs -7TX = -3 2x+ X%+ X% +2x =3
X, X ,X%,X%=0 X1,X%,%, =0
1.4 :



(1) max z=2x + % (2) max z=2x +5x

Xu <4
3% +5x< 15
2% < 12
X +2x< 24 )
3% +2x< 18
X, X=0
L %, %= 0
1.5 1.4 (1) , ,
1.6 M ,
(1) max z=2x +3x - 5% (2) mn z=2x +3% + %
X+ X%+ X% =7 Xt +4% +2x%= 8
2% -5% + %= 10 3X +2x% > 6
X, X, %=0 X, X, X=0
(3) max z=10x + 15% + 12X (4) max z=2x - % +2X
[ Bx +3% + %<9 [ X+ X +X%>6
-5x% +6x +15x%< 15 -2X% + X3= 2
2X + X+ x%=5 2% - Xs= 0
X, X, =0 L X, %, %=0
1.7 y z z

max z= G x + ¢ %
arx +a:x< h
a1 x + a2 x< b
X1, %= 0
1< @< 3,4< ¢< 6,8< h< 12,10 b< 14, - 1< a:< 3,2 a2< 5,2< a: < 4,
4< @< 6
1.8 1-16
a a a da ¢ :
(1) :
(2) : ;
(3) ;

(4) : , X, X6

1-16

b N X3 X Xs %
x d 1 0 & 0
X 2 1 0 1 -1 0
X 3 & 0 0 -4 1
G-z e 0 0 -3 0
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1.9

1 6 00 10 OO0 60
2 10 00 14 00 70
3 14 00 18 00 60
4 18 00 22 00 50
5 22 00 2 00 20
6 2 00 6 00 30
1.10 ABZC
A B C y ) !
1-17
1-17
( / ) (
A > 60% > 15% 2.00 2000
B 1.50 2500
C < 20% < 60% < 50% 1.00 1200
( / 0. 50 0. 40 0. 30
3. 40 2. 85 2.25
1.11 v A, B
A A, A ,
B, B, B AB
A : B : B ,
( 1-18),
1-18
A 5 10 6000 300
A 7 9 12 10000 321
B 6 8 4000 250
B 4 11 7000 783
B 7 4000 200
( / 0.25 0.35 0.50
( / 1.25 2.00 2.80
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‘max z=CX; AX< b X= 0

Xs:(XSL,XSZ, ,Xsm)T )
max z= CX+ OXs; AX+ 1 Xs=Db; X, Xs= 0
| mx m Xs , Xe
B, (A, 1) (B, N) N ,
Xe
le ], C CB,CN
XN
: C=(Cs, Cv)

B,N, S
max z= Cs Xs + Cv Xn = Cs X + Cni Xn1 + Gs1 Xsi (2-1)
BXe+ NXn =BXs+ Nt Xn1 + S Xs2 = b (2-2)
Xe, Xn2 0 (2-3)
(2-2) , BXe=b- Nt Xn1 - S st; B-1 ,
Xe=B'b-B "N Xu - B'S Xe (2-4)
(2_4) (2_1) 1 S ]
Z=CsB b+ (Cu - GB "Nt ) Xn1 + (Cs2 - GB ' I) Xs (2-5)
B'b
Xn =0, >d”=[ ] z=GB 'b
0
(1) (Gi: - GB™ ' Ni) 1 ¢G-z(j=1,2, ,n
G:=0, | , Xs2 - GB ', Xe (2-5)
0, C: - C:B ' B=0, C-GB'A -GB'
(2) 0
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- (B'lb)i‘ PN }_ (B b),
e_miln|:(B_le)i (B PI)I>O _(B_lpj)i (2 6)
(B ' b) (B 'b) [ (B ' Py)i (B 'P) [
1 ,
(3)
(2-4) ,(2-5)
Xe + B "Nt Xn1 + B Xs2 =B ' b- z+ (Cn1 - CeB™* Ni) Xn1 - CeB ™" Xs2
= - CBBhlb
- Z-
0 | B N B Xe B b
. . = o (2-7)
1 0 GCGv-GCB N - CsB Xn1 - CeB
| Xs2 |
(2-7) 2-1 , (0,1)T ,
2-1
Xs
XN Xs RHS
B!B=1 B! N; B! B'b
Cv - CsB™ ' Nu - GB*! - CeB''b
2-1 , B*
-1
2
B—l B—l
(0(11 12 alm\
21 022 O2m
A= , : 1
\aml U e amm,
’011 ][Gll\
21 - 021/ Qu
P. = ) O , :El =
L Olmi L -(]ml/C(ll,
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¥ o 0 0\ (1) (1 oy a&an\
- 021/ Olu1 1 0 0 Ggé) Gglni
E = , E P = B A=
L - Olma/ Q11 1) L0 L O (](1) (X(nﬂn
al¥/ asd )
1 aty
2 Gé%) , :Ez = , E2 =
-a'e/ at? )
-ai?/ o’ 0| 1 0 o as
1 ot 0 0 1 aoff asm
, EEA=
L 0 a'e/ ass’ 1) L0 0 o O |
(1
1 1
, E. B EA= EE BEE=A
w
1/
B B!
1
max z=2% + 3% +0x% +0x + 0%
XX +2% + X% =8
4x + X =16
4% + % =12
, B = (P,
1 0 O X
PA,P5)= 0O 1 O , XBO: X |,
0O 0 1 X5
X
G, =(0,0,0); Xn, = y X Cv, =(2,3)
1 0 0|1 2
on, =Cy, - G, B " No=(2,3) - (0,0,0)|]0 1 0[| 4 0|=(2,3)
O 0 1JLo 4
ol 3o of e £, 2]
X , e—mln{(Bo P, Bo'P. >0 min 4° 72 =3
2
X , X P =|0], 4

49 -



-1 2 1 0 -22|1 0 O 1 0 -12
£, = 0|, B'=EB"'=[0 1 0/|0 1 0o[=l0 1 0
14 0 0 v4/lo 0 1 00 14
1 0
(X, %) : Ne={4 O0f;
0 1
1 0 -12[1 1 -12
B'N.=| 0 1 0|4 =| 4 0
00 140 1 0 14
1 0 -12| 8 2
B.'b=| 0 1 0|| 16| =| 16
00 1 4)112 3
B.=(P:, P, P)
X
X =| x|, X, = Nk Cs, =(0,0,3),Cy, =(2,0)
1 0 -v2|[1 0
on, =Cu, - Cs, Bi* N: = (2,0) - (0,0,3)| 0 1 o||4 O
0 0 14Jlo 1
=(2-34)
0= mlr{z(B?l—Pbl)'—‘Bl P1>1} mln[i,%s,%]zz
B=(P, P, P) X P =
1 1
41, 1 , £, =| -4 B'=EBEB " =
0 0
1 0 Olf1 0 -w2 1 0 -U2
-4 1 0/|0 1 ol=| -4 1 2
0 0 1J)lo o 14 0 0 14
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on, =Cy, - G, BN =(0,0) - (2,0,3)| -4 1
=(-2,1 4)

X ,
6=min{—(BB—b)i—‘Bs'lP1>O}:min[ B i]=4
Xa

(B' Pu)i 2'1 4
, B=(P,P, P)
-1 2
X B P = 21, 2 , £,
1 4
14
12
-18
B
1 14 0 1 0 -U2 0 14 0
B'=EB'=|0 12 0| -4 1 2= -2 12 1
0 -18 1 0 0 14 12 -18 0
Xn, = (%, %)

O ¥4 0|1 O

ov, =Cy, - G5, B ' Ns =(0,0) - (2,0,3)| -2 Y2 1/(0 1
12 -18 0JlOo O

=(-32,-1228)
X1 0 ¥4 O 8 4
X =| X |=B'b=| -2 12 1|| 16| =|4
X2 Y2 -18 0JL12 2
4
1z =CB:'b=(2,0,3)| 4| =14
2
3
1 1 ,
Yo, Yo, Vs
A B , 1
4 A , 2 ,
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(1) (2-9) ,(2-10)
(2-10) ,

(2) Xe
C- GsB ' A< 0

(3) Yy (2-10) ,

(2-11) b,

(4)

52 -

Vi +4y> 2

2y +4y:> 3
W=8y +16y. +12

Q) 1 ]

MNW=8y +16y: +12ys

W +4y > 2
2\ +4y> 3 (2-8)
yi=20, i=1,2,3
( )
Cv-GCGB'N -GB"
Cv - GB "N< O (2-9)
- GB '<0 (2-10)
(2-9) ,(2-10)
GB ', , Y=GCGB'
Y= 0
0 G- GB 'B=0
C-GB 'A=C- YA<O
YA= C
-Y= - GB’ (2-11)
- Yb= - GB 'b (2-12)

Yo=GB ‘b=z

min w= Yb



{YAZ C
Y> 0

{max z= CX| AX< b, X= 0}

2
0;C=(2,3);b=| 16
4 12

minw=Y(8,16,12)"
1 2

Y 4 0= (2,3)
0O 4

Y>0

LY = (%, ¥, ))

A

mnw=8y: +16y +12y
V+4y = 2
Zyl +4%23

Yo, ¥, 20

X
a1 a2 cin h
X
<
. " o b,
L Xn
X, %, ,X=20

min w = y1b+y2b+ +ymbm

953 -



a1 a2 An
(y1 1 y2 1 1 ym) 2 (G- 1 G L ) G')
am ame Amn
Vi,y, ,Yn=20
] 2'2
2-2
Y X X X N min w
Vi ar ao an < b
¥e &1 A &n < b
Ym R amn < o8
> > >
max z=minw
max z G G G
2-2 ,
90° 1 2-2
2-3
2 2-3
2-3
Yi X X X b
Vi 1 2 8
Yo 4 0 16
Y5 0 4 12
(o 2 3

54 -

max z=2x +3%

X +2x%< 8
4 % < 16
4x.< 12

L X%, %= 0

MiNW=8y. +16y + 12V

i +4y > 2
AV +4y > 3
Yo, ¥, %20



n

max z= Z G Xj
1

{Z aijx;=b, i:1,2, , M

20, j=1,2, ,n

n

max z= Z G Xj
1

Z a;X;< h, i=1,2, ,m
] - Z ajx,< -b, i=1,2, , M
L x=20, j=1,2, ,m
y (2-13)
Vi (2-14) i=1,2, ,m
minoo=z byi+z (- by")
{E ay+y (-ayza, =12
y,¥=0, i=1,2, ,m
minoo:Z b(y - V)
Z a‘J(>,|-y|,)2 Ql j:1121 1n
1
Y=y YL, Y20 Y Y
minoo:z by
{Z ajyiz ¢, j=1,2, ,n
1
Vi , 1=1,2, ,m

(2-13)

(2-14)
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2-4

( )
max z min w
n n
> >
S S
m
< >0
> <0
3
min z=2x +3% -5x + x
X +% -3% +Xxs=5
<2x1 +2% - %< 4
X + X+ X% =6
L %< 0; »%,x%=20, X
v Vi, ¥, Vs 2-4
max Z =5y +4y + 6y
[ Vi + 2V > 2
Vi + < 3
1 -3y +2y + < -5
o - ypty=1
Ly2 0,y< 0,y
4.2

(1)

max z=CX; AX< b, X= 0

minw=Yb; YA> C; Y= O

min w = max( - w)

max( - w)= - Yb, - YA -C; Y20

56 -



mn(-u)=-CX; - AX= -b X=0

min( - ) = max «J

max o3 =max z=CX; AX< b, X= 0

(2) X Y

max z=CX; AX< b X= 0

|

AX< b

<
<

YA X< Yb

Y ,
YAz C
X :
YA X= CX
CX< YAX< Yb
(3) ( ) :
( )
)
( ) (
MmNw= - X - % max z=y + y
X - %=1 Vi -yp<s -1
- X+ x> 1 -yt+tys -1
X, x=0 Vi, =0
(4) X 9
N N N
CX=Yb ,X,Y
cX =, 2
cX=%,  Yb= W ¥
X,
N N -
CX=Yb> CX

x>

S7 -



: B C-GB 'A< 0

N\
X,
z=CY=GB'b
Yb=cB 'b=CcX
N\
Y
N N N
(6) X, Y YXs =0
N N N
YsX=0, X, Y
max z= CX min w= Yb
{AX+Xs:b {YA-Ys:C
X, Xs=2 0 Y,Ys=> 0
C C=YA-Ys ,
z= (YA - Ys) X=YAX - YsX (2-15)
. b=AX+ Xs ,
Ww=Y(AX+ Xs) =YAX + YXs (2-16)
N\ N N N N N\ N N
Ys X=0,YXs=0; Yb=YA X=CX, 3 X, Y
1 1 31
N\ N N\ N\
CX=YAX=YDb
N\ N\
(2-15) ,(2-16) , YXs=0, Ys X=0
(7)
max z= CX; AX+ Xs=b; X, Xs= 0
mnw=Yb; YA-Ys=C; Y,Ys=> 0
] 2'5
2-5
XB XN XS
0 Cv-CsB N - CB!?
Ya - Y -Y
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Ysa X , Yo

B , A= (B, N);
max z= G Xs + Cnv Xn
{BXB+ NXy + Xs=b
Xs, X, Xs= 0

min w=Yb
YB - Ys = Cs
YN - Ya = Gy
Y,Ys,Y2> 0
Ys=(Ys, Ye)

Xe =B 'b
G -GB'N -CB"
Y=GB ', (2-17) ,(2-18)

Yst =0
- Y2 =Cy - CBB_l N

max z=x + %
- Xt X + X< 2
-2% + X% - %<1

X, X%, %= 0

, X=(0,0,0);
MNw=2y + y

[y -2y21
i+ =1
- %20
o, =0

MNW=2x +3% +5% +2Xx +3X%
X+ X +2% + X% +3%2 4
2% - % +3% + X+ X%=3
x>0, j=1,2, ,5

v =45,y =35;2z=5

Xn

(2-17)
(2-18)
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max z=4y. +3Vy
Vi +2y<
Yo - Yes
2y1 + 3y <
< “t o ys
3 + s
Yo,y 2
Yo, ¥ , v : X =X =

O W N O Ww DN

x =0 Vi,y2> 0; :
x +3% =4

2% + % =3

X =(1,0,0,0,1)"; w =5

5 -
, , Z= CBB-l b, Cv -
GB 'N Y=CB ", Y ?
B {max z= CX| AX< b, X= 0} ,  (2-12)

Z =GB 'b=Y b

Z-k

£ _ -1 N\
b—CBB =Y

=l

B(4.2.5)

|
-\.H"'\-\. : y3 =
4 e I
H"'“'“-..__ I/ _@r ) ’
¢} Sttt i ’ 1.5 A

)

1kg, 0.125
B 1kg, 2-1
.1:|‘_ '1
- (4,2) (4,2 5), zZ=
2x 4+3x 2.5=155,
1.5 A 1kg , ",
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(4,2) (4.25,1.875), z=2x 4.25+ 3x 1. 875= 14.125
0.125 B 1kg "

y*i i
1.5 ,1kg A 0.125 ,1kg
6
b ,
, : (2) (3)
CBB_lijO, y ’
max z= CX
{AX:b
X=0
B , B=(P.,P., ,Pn),
Xe=(X,%, ,Xn)
, Xs = B'Db B'b
(B 'b)i <0, ,
(1) X, X, , Xm
o=c-z=c-GB'P,=0, i=1,2, ,m
(2) Xm+1, , Xn
0i=G-z=G-GB 'RPR<0, j=m+1, ,n
Xi , Xk
(1) , b ,



(2)

min{ (B "b):|(B "b)i <0} = (B "h)

62 -

Xi
(3)
X ai(j=1,2, ,n) a; = 0,
: a; <0(j=1,2, ,n,
(B:m_ir'l{g_—_ZLO(|;<O}:u
j I O ik
0 Xk ,
(4) an ) !
(1) (4
6
MNw=2x +3% +4x
X +2% + %= 3
2% - % +3%= 4
X, % ,x=20
max z= - 2X -3x -4X
-X-2% - X%+ X% = -3
-2%+ % -3x+ X=-4
x=0, j=1,2, .5
: 2-6
2-6
G - -2 -3 -4
Cs Xs b X % %
0 X -3 -1 -2 -1
0 % -4 [ -2] 1 -3
G -2 -2 -3 -4
2-6 : b ;
(2),
min( -3, -4)= -4
X
(3),



)(1 [13 _2”
, 2-7
2-7 , , b
2-8
2-7
G- -2 -3 -4 0 0
Cs Xs b X X X Xa X
0 X 1 0 [ -9 2] V2 1 -1 2
-2 X 2 1 -1 2 32 0 -1 2
G-2 0 -4 -1 0 -1
2-8
G - -2 -3 -4 0 0
Cs X b Xt * X Xa %
-3 * 25 0 1 -1U5 -2/5 Y5
-2 Xt 1Y 5 1 0 715 -15 -25
G-z 0 0 -35 -85 -15
2-8 b , ,
X =(11 5,2 5,0,0,0)"
Y Yo,
Y =(y ,%)=(85,15)
(1) : ,
(2) , :
(3) :

63 -



2-9

7.1

b , B=b+Ab

Xs = B (b+Ab)
Ab= (0, ,Ab,0, ,0) Xe> 0,
, X
B '(b+tAb) =B 'b+B 'Ab
T

B'b+B 'l Ab

0] [auAb ] 6 |
B_l A br = airA b :Abr Qir
0 | LamA D L U mr
b b +a:Ab=0,i=1,2, ,m

aAb> -b, i=1,2, ,m
>0 ,Ab> -Wdi:a.<0 ,Ab< - W air;
max{ - b/ o [ar >0} Ab< min{ - b/ ai o <0}
1 1 b Ab
64 -



0 4 0.25 0
B'b+B'Ab|=| 4|+ 0.5 |Ab=|0
0 2 - 0. 125
Ab> -40.25= -16,Ab> -40.5= -8,Ab< 20.125=16
[ -8,16]; b [8,32]
7 1-5 1 1, 1.5
4 : :
B'Ab
0O 0.25 0][4 0
B 'Ab=| -2 0.5 1{| 0| =| -8
0.5 -0.125 o0llo 2
1-5 2-10
2-10
G- 2 3 0 0
Cs Xe b X % % X %
X 4+0 1 0 0 0.25 0
0 % 4-8 0 0 [ - 2] 0.5 1
3 % 2+2 0 1 0.5 -0.125 0
G-z 0 0 1.5 - 0. 125 0
2-10 b , 2-11
2-11
G - 2 3 0 0 0
Cs Xs b X * X Xa %
2 X 4 1 0 0 0.25 0
0 X 2 0 0 1 -0.25 -0.5
3 % 3 0 1 0 0 0.25
G - g 0 0 0 -0.5 -0.75
4 , 3
Z =4x 2+3x 3=17( )
2-11 X =2, 2
7.2 Ci
G
(1) G Xj ,

0=6-GB P
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O,=¢G - zmlaijyi

66 -

G Ao :
0i=g+Ag - GB 'R0
G +tAGgs YP;, YP; - G,
Ag
(2) G ¢c G, o Ac G ,
(CGG+AG)B'A =GB 'A+(0, ,AC, ,0)B'A
=GB "A+AC (da 0z, ,0m)
: AG
oi=¢-GB'A-Aca:, j=1,2, ,n
0i<0
a: <0, Ac=sol i,
d; >0, Ac2of/ay  j=1,2, ,n
Ac
mjax{o,—/dr; o >0} Ac< mjin{c;/arj o <0}
8 1 1-5 X C Ac,
Ac
1-5 2-12
2-12
G 2 3+Ae 0 0 0
Cs Xs b X % % X4 %
2 X 4 1 0 0 0.25 0
0 % 4 0 0 -2 0.5 1
3+Ac % 2 0 1 0.5 - 0.125 0
0 0 - 1.5 Ac/8 0
a e ‘Aol 2 ~U8
2-12
-1.5-Ace/2< 0 Ac/8-18<0
Ac= -1.90.5Ac<s1 Ac
-3<Aecs 1
X [0,4] :
7.3
i )
9 1 1



6kg, 3kg, 2 ; 5 ?
(1) X5 , P; = (2,6,3)T ,

0s=6¢ - CsB 'P=5-(1.5,0.125,0)(2,6,3)" =1.25>0

(2) %
0 0.25 O 2 1.5
B'Ps=| -2 0.5 1| 6|=| 2
0.5 -0125 O 3 0.25
(1), (2) 1-5, 2-13(a)
2-13(a)
G 2 3 0 0 0 5
G Xe b X1 % X3 X4 % %
2 X1 4 1 0 0 0.25 0 15
0 X5 4 0 0 -2 0.5 1 [2]
3 X 2 0 1 0.5 - 0.125 0 0.25
G -12 0 0 -1.5 - 0.125 0 1.25
b : ,
(3) % , X , :
2-13(b), x=1,%=15%=2 16. 5
2.5
2-13(b)
G 2 3 0 0 0 5
G XB b X1 % X3 X4 % X5
2 X1 1 1 0 1.5 - 0.125 -0.75 0
0 X 2 0 0 1 0.25 0.5 1
3 X 1.5 0 1 0.75 - 0.1875| -0.125 0
G -1Z 0 0 -0.25 - 0.4375| - 0.625 0
10 1 1 :
: P.=(2,5,2)",
4 ?
,%
% : o X
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0 0.25 01 2 1.25
B'P.=| -2 0.5 1|l 5|=| 0.5
0.5 -0.125 0lL 2 0.375
%
¢ - CB "P.=4-(1.5,0.125,0)(2,5,2)"
=0.375
Xt , 2-14
2-14
Cs Xs b X % % X
2 X 4 1.25 0 0 0.25
0 % 4 0.5 0 2 0.5
3 % 2 0. 375 1 0.5 -0.125
G - Z 0. 375 0 -1.5 - 0.125
2-14 % , 2-15
2-15
Cs Xg b % % % X4
4 X1 3.2 1 0 0 0.2
0 X% 2.4 0 0 2 0.4
3 % 0.8 0 1 0.5 0.2
G-z 0 0 1.5 0.2
2-15
',3.2 ; ,0.8 15. 2
11 10 ' P.=(4,5,2)",
?
10 . X X,
0 025 0] 4 1. 25
B'P.=| -2 005 11| 5|=| -3.5
0.5 -0.125 0lL 2 1. 375
¢ - CB 'Pi=4-(1.5,0.125,0)(4,5,2)" = - 2. 625
1-15 x , 2-16
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2-16

Cs Xs b X % % X4 %
2 X 4 1.25 0 0 0.25 0
0 % 4 -3.5 0 -2 0.5 1
3 *% 2 1.375 1 0.5 -0.125 0
G-z - 2.625 0 -1.5 - 0.125 0
2-16 % X 2-17
2-17
Cs Xs b % % % Xa %
4 X 3.2 1 0 0 0.2 0
0 % 15. 2 0 0 -2 12 1
3 * -2.4 0 1 0.5 -0.4 0
G -z 0 0 -1.5 0.4 0
2-17
2-17 x
0% +% +0.5% -0.4% +0x% = - 2.4
X6
-% -0.5%+0.4x + % =2.4
X6 X2 , 2-17, 2-18
2-18
G Xs b Xt % X3 X4 % X6
4 X 3.2 1 0 0 0.2 0
0 Xs 15. 2 0 0 -2 1.2 1
- M X6 2.4 0 -1 -0.5 [0.4] 0
0 3- M -0.5M | -0.8 0 0
574 +0.4M
y X6 )
2-19 2-19 : X , X6
: 2-19 :
',0. 667 ; , 2. 667 : 10. 67
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2-19

G 4 3 0 0 0 - M
Cs Xs b X1 % % X4 X5 %
4 X1 2 1 0.5 0.25 0 0 0.5
X6 8 0 [3] -0.5 0 1 -3
X 6 0 -2.5 -1.25 1 0 2.5
G-12 0 1 -1 0 0 -M+2
4 X1 0. 667 1 0 0.33 0 -0.33 0
X 2. 667 0 1 - 0. 167 0 0.33 -1
Xa 12. 667 0 0 1. 667 1 0. 83 0
G - Z 0 0 - 0.83 0 -0.33 - M+3
3 *
: : aj,b,g
(1) t t=0,
(2) t :
(3) t : b b
(4) : t : (3),
8.1 C
12 =0
max z(t) = (3+2t) x +(5- ) x
[ x <4
) 2x < 12
3x +2x%< 18
L X, X >0

70 -




max z(t) =(3+2t) x + (5- t) x

X + X3 =4
2% + X =12
3% +2% + X =18
(. x=20, j=1,2, ,5
t=0, 2-20
2-20
G 3 5 0 0 0
G Xg b X1 *% Xa X X5
0 X3 2 0 0 1 13 -1 3
5 X2 6 0 1 0 12 0
3 X1 2 1 0 0 -3 13
G -3 0 0 0 -32 -1
C 2-20 2-21
2-21
G 3+ 2t 5-1 0 0 0
G Xs b X1 X2 X3 X4 X5
0 X3 2 0 0 1 13 -1/ 3
5-1 X2 6 0 1 0 12 0
3+ 2t X1 2 1 0 0 -1 3 1/ 3
0 O O '\?JZ '1
G -3 a 2
Tt "~ 3t
32 9
> = > < < 1<
t , = 716 7 04> 0, o0:<0, ot 97 | (2,6,
2,0,0)T t=9 7 t>97 .04 >0, X
, 2-22
2-22
G 3+ 2t 5-1 0 0 0
G Xs b X1 Xo Xa Xa X5
0 X4 6 0 1 -1
5-1 X2 3 0 1 -32 0 Y2
3+2t X1 4 1 0 1 0 0
0 0 92 0 -5 2
G - Z l l
"t Tt

71 -



a
N

t t= ][_2:5 , o=>0, 0s<0, d7< 5 ,
3,0,6,0)" t=5 t>5 ,0s >0, X6 ,
, 2-23
2-23
G 3+ 2t 5-1 0 0 0
G Xs b X1 Xo X3 X4 X5
0 X4 12 0 2 1 0
0 X5 6 0 2 -3 0 1
3+2t X1 4 1 0 1 0 0
G- Z 0 5-1 -3-2t 0 0
2-23 t , 02,0 <0, &5 |, (4,0,0,12,6)"
8.2 b
13 , =0
max z=x +3x%
XX+ %< 6-1t
- X +2%< 6+t
X, =0
max z= % +3x%
XX+ X+Xx =6-1t
-X +2% + X% =6+t
X, X% ,X%, =0
t=0, , 2-24
2-24
G 1 3 0 0
Cs Xs b X1 Xo X3 X
1 X1 2 1 0 2l 3 -1 3
3 X2 4 0 1 13 13
G - Z 0 0 -53 -23
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2-24, 2-25
2-25
G 1 3 0 0
Cs Xe b X1 X2 X3 X
1 X1 2 -t 1 0 2/ 3 -1 3
3 X 4 0 1 3 V3
G-12 0 0 -53 -23
2-25 , t t=2 , kO 0< K 2 (2-1,4,0,0)"
t>2 h <0; Xt : 2-26
2-26
G 1 3 0 0
Cs Xe b X1 X X3 X
0 Xa - 6+ 3t -3 -2 1
3 X 6-1 1 1 1 0
G-z -2 0 -3 0
2-26 , t>6 ;. 2< t< 6 (0,6 - t,
0, - 6+31t)"
2.1

(1) max z=6x -2x + 3%
2X - X +2x%< 2

X +4x< 4

X, X, X

(2) min z=2x + %

2.2
2-27,

L X, =0

>0

(3 + % =3
4% +3%= 6

X +2%< 3
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G 5 4 0 0 0
Cs Xs b X % X Xa X5 %
Xo 8 3 2/ 3 1 0 Y3 0 0
X5 14/ 3 -4 3 0 5 -23 1 0
Xs 20/ 3 53 0 4 -23 0 1
G - Z -1 3 0 4 -53 0 0
X 15 41 g 41 -10 41
X3 -6 41 5 41 4 41
X1 -241 | -12 41 15 41
G -7
2.3
(1) min z=2x +2x +4x (2) max z= x+2x +3x% +4X%
(2% +3% +5%2> 2 (- %+ % - % -3%=5
<3><1+ X + 7Xs< 3 6X +7% +3% -5x%= 8
XX +4X% +6Xxs< 5 12% -9% - 9% +9x< 20
[ X, X,X%x=0 L X% %= 0,%< 0, X%
3) mn z= Gi Xij 4) max z= X
(@) minz= 5 5 o () max 2= 5 ax
Z Xij =ai, i=1, , M ’Z a; x;<h, 1i=1, ,m< m
1 1
<Z xi=h, j=1, ,n <Zomx,-:b, I=m+1,m+2, ,m
1 1
L Xij= 0 x;= 0, jzl, ,N< N
C X ’ j=n+1’ » N
2.4 , ?
(1) : ;
(2) : ;
(3) :
2.5 1
max z = G X;
2. 9
{Z aiixi<s b, i=1,2, ,m
1
Xi >0, j=1,2, ,n
(¥, ,yn)
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n

maxzzz C X
1

{Z aij Xi< b + k, i=1,2, , M
1
)(12 01 j:1121 1n
max z< max z + Ky

.Y

2.6

MmaxX Z=GC X +tC X +GX

oo [ e[
Ol21 Oz2 Olz3 0 1 b
x=0, =1, ,5
: 2-28 :
(1) 0w ,012 003,021,022 ,023, 0,0 ;
(2) G,C,G
2-28
Xs b X1 X X3 Xa
X3 32 1 0 1 V2 -1 2
X 2 1 2 1 0 -1 2
G-z -3 0 0 0 -4
2.7
max z=2% + % +5X: +6x
2 X +X% + %<8 w
2% +2% + X +2X%< 12 ¥
x>0, j=1, ,4
Y =4,y =1, ,
2.8
(1) min z=x + % (2)min z=3Xx +2% + X% +4 X

2X + %= 4
XX + 7%= 7 1

X, =0

(X, % ,X%,%=>0

(2% +4% +5% + x>0

3X - X +T7TX -2%== 2

5% +2% + X +6X%= 15
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2.9
max z= - 5x +5x% +13x
-x+ x+ 3x< 20
12x +4x + 10x< 90

X, % ,%=0

’ , ?
(1) 20 30;
(2) 90 70;
(3) X3 13 8;
or Ll
12 5
(5) 2x +3% +5x%< 50;
(6) 10x +5x% +10:< 100
2.10 v : A B,C
2-29
2-29
/
A 8 2 10 300
B 10 5 8 400
C 2 13 10 420
/ 3 2 2.9
(1) : ?
(2) , B, 60 :
B ?
(3) v A-12 ;B-5 ; C-10
2.1 ; A-4 ,B-4 , C- 12 :
1. 87 A B, C ,
?

2.11 t
(1) max z(t) =(3-6t)x + (2- 2t) x + (5- 5t) x(t= 0)
[ % +2% + X< 430
3% +2x%< 460
X +4x < 420

L X, % ,X%=0
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(2) max z(t) =(7+2t) x + (12+ ) % + (10- t) % (t= 0)
X+ x + x< 20
2x +2% + x< 30
X, X,x=>0
(3) max z(t) =2x + % (0< t< 25)
(% < 10+ 2t
X+ %< 25-t
x< 10+ 2t
L X, =0
(4) max z(t) =21x +12x +18x% +15x (0< £ 59)
(6% +3x + 6% +3x< 30+t
6Xx -3% +12% +6Xx%< 78 -t
9% +3% - 6x% +9x< 135 - 2t
x>0, j=1,2,3,4
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1
m Ai,izl,z, ’ m ’ ( )
ai’i=1,21 lml n B]’j=112’ ln’ blj=112, ’n’ AI
Bi ( ) Gi, :
3-1, 3-2
3-1 3-2
1 2 n 1 2 n
ai 1 Cu1 G2 Gn
2 % 2 G G Gn
m Am
h oY b, m G Cn2 Gnn
XIJ Ai BJ

E xi=b, J=1,2, ,n (3-1)
Zl Xj=a, i=1,2, ,m (3-2)
xii= 0

mx n , (m+ n)
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(1)
(2)

(3)
(4)

X1

Xi2

ulr1 1

vi| 1l

Wn L

sh=y (5 xl=5[5 %]

Xin Xa1 Xez Xen X X2
1
11 1
w
11
1
1 1
w w
1 1
Xij Pij,

Pi=(0 1 0 1 0) =e+ e

n

m+n-1

(2),(3)

(mx n)

an

rm
11!
N
1)
| m+ |
:Za
1
< m+n-1
m+n-1
A
3-4
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3-3

B Bz Bs B
A 11 3 10
A 2
Az 10
3-4
B Bz B Bs
A 7
A 4
Az 9
3 6 5 6
2.1
a = b=d
2, %72,
xij2 0, 1=1, ,m J=1, ,n
0< x;< min(a,b)
(Vogd)
1.
1
3-3 1, B a>h,
, 1 3-4 (A, B)
3-5 3-3 B 3-6
3-6 2, A 1 B,
3-7, 3-8
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B
A 7
A 4
As
3-6
B: B B B:
A 11 3 10
A 9 2
As 7 10
3-7
B
A 7
P 3 4
A 9
3
3-8
B: B B B.
A 3 11 3 10
Ao 1 9 2 8
A 7 4 10 5
3-8 3; ,
3-9
86
3-9
B
A 7
A 3 4
A 9
3
(1)
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m n (n+ m)
; (m+n-1)
(m+n-1)
(2) (m+n-1)
Xiljl
Piljl =@ T én
Xyig ’ s oo e
@n+j, , P, v
(m+n-1) (m+n-1)
(m+n-1)
2.4
2.
3-3 ’
, 3-10
3-10
Bi B Bs B
A 3 11 3 10 0
A 1 9 2 8 1
As 7 4 10 5 1
2 5 1 3
, 3-10
B B. 4, As B.
3-11 B. 3-12
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3-11

B, B, Bs B,
A 7
Ao 4
A 6
3 6 5 6
3-12
1 3-13
3-12
B B, B B,
A 3 11 3 10 0
A 1 9 2 8 1
As 7 4 10 5 2
2 1 3
3-13
B B B B,
A 5 2
A 3 1 4
A 6 3 9
3 6 5 6
2.2
( G - CeB ' Pij,i,,j N
of '(:BB_ll2j2 0 ,
1.
3-13,

WO | :
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3-1 (a,(b),(c)

[ ] 1

(a) (b (e)
3-1

(m+n-1) (

Pi,i,j N
=@+ e
=@+ Bnk-Bkt @ -0+ Bries-Brest+ @ - @+ Ene
(e+6nk) -(e+ek)+(e+ens)-(e+enws)+(a+en)
= Pk - P+ Pis - Pus + Py

Pik, Plk, Pls, Pus, Puj B ( 3'2)
P, P. '
: i 3'9 y ) (AllBl)l
I
. Fu P, A 1 B ,
i (A, B) 1 (A, B)
! 1 ,(A,B) 1, (A, B)
S N ~ P 3-14
3-2
3-14
i
B, B, B, B, i
3 11 3 10
..'1|
(€3 BETITETE SETRSTTCCLITIS RETLRLE 4(-1) 3 7
As 1R 9 P 2 8
K T RRETITEE EERR 1{+1) 4
A, 7 65 ¢ 10 3| 3 g
B it 3 f 5 [

(+1)x 3+(-Dx 3+(+1)x 2+ (-Dx 1=1( )
“ 17 (A,B)
, : 3-15
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3-15

(11) (11) - (13) - (23) - (21) - (11) 1
(12) (12) - (14) - (34) - (32) - (12) 2
(22) (22) - (23) - (13) - (14) - (34) - (32) - (22) 1
(24) (24) - (23) - (13) - (14) - (24) -1
(31) (31) - (34) - (14) - (13) - (23) - (21) - (31) 10
(33) (33) - (34) - (14) - (13) - (33) 12
; , 2.3
2.
U,Ww, ,Un;M,Ww, ,W m+ n
Xa (m+ n)x (m+ n) Xa
Ca =0,
CGB'=(u,t, ,U:;V,%, V)
Xii Pi=e+enj, CGB 'Pi=u+vV
;=6 - GB "Pi=a; - (u+w)
0
Gi - (u+v)=0, i,j B
1 Xo3 , Yaa , Y1, Xs2 , X3 , X4
Xa G-uw=0 =0 =0
X3 e -(k+w)=0 2-(u +w)=0
Xa G - (b+w)=0 5-(w+w)=0
Xo1 e -(k+w)=0 1-(w+wvw)=0
X32 G -(b+tw)=0 4-(w+w)=0
Xi3 Gz -(w+w)=0 3-(w+w)=0
X4 Gs - (L +w)=0 10-(w+w)=0
7 =0
k=-1, w=-5 wvw=2, vw=9, w=3, w=10
o =G - (u+wv), 1i,j N
U, V 1
3-9 3-16 3-9
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3-16

3-16
B B Bs B4
A 3 10
A 1 2
As 4 5
3-16 : U, Vi, 3-17
3-17
Bu B B B Ui
A 3 10 0
A 1 2 -1
A 4 5 -5
Vi 2 3 10
w =0, u+v=c;, i,j B U, Vi 3-17 , W=
, Ww+w=3 vw=3, u+w=10 vw=10; w=10 , WwB+w=5
b= -5, U, Vi
o =G - (Uu+wv)i,] N
Ou=0a -(u+w)=3-(0+2)=1
Oz =G -(u+w)=11-(0+9) =2
3-17 : : 3-18
3-18
B B Bs B Ui
3 11 3 10
A
1 0 0 0
1 9 2 8
A
0 0 -1 -1
7 4 10 5
A
10 12 0 -5
v, 2 9 3 10
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3-18

2.3 —
(2,4) , 3-19
3-19
B B B
4 1 3(-1
A (+1) (-1) 7
A 2 4
1(-1) (+1)
A 3 9
3 5 6
(2,4) 0 (-1) 0 =min(1,
3) =1(
, 3-20
3-20
B Bs B
A 5 2
A 3 4
A 9
3 5 6
3-20 , , 3-21
3-20 85
3-21
B B B
A 2
A 2 1
As 12
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2.4

1.
2.1 ,
? 1 33 ( )
o 3-21 (1,1) 0, 1
3-20 (1,1) , (1,1). - (1,4)- - (2,4). - (2,
1) - -(1,1)- 8=min(2,3) =2 , 3-22
3-22
B B Bs B
A 2 5
A 1 3
As 6 3
3 6 5 6
2.
) Ol
(1) : (i,1]) : A
Bj ’
(m+n_ 1) 13 OH
3-23, 3-24
: 2, B, 6, As
6 (3,2) 6, 3-24 B.
A 3-23 (1,2),(2,2),(3,3),(3,4) 0
3-23
Bl B Bs B
A 7
P 4
A 3 6 9
3 6 5 6
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3-24

B. B Bs
A 3 1 4
Ao 7 7 3
As 1 2 10
(2) -1)
0,
1) 0 6=0

. 89.



Cijzcjl |=11 1m1 lel 1n
¢; =0, =1, ,m, j=n+1

m n+1 m n m
min Zz = 2 Z C; Xij = 2 Z Gy Xij + 2 Gone1 Xij
1 1 1 1 1
= z Z Ci Xij
1 1

(n+1

Z Xij = a
1
m

Z Xii =b
1

L x;=0

n n+ 1

Zm ai:Z h+b1+1=Z b

! j=n+1( )

Ci, n+1 — O,
, : = m+
- a
2% 2,
G+ 1,j — O,
2 ( A1 B! C) ( ) 1 1 )
3-25
3-25
( )

A 16 13 22 17 50
B 14 13 19 15 60
C 19 20 23 - 50

() 30 70 0 10

( ) 50 70 30
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160

30

20
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3-27)

(

3-26)

(

3-26

o O O O

n ©O© 1
o
Lo
o
—
o
(ep)
o
<
o
N
o
™

< m O QO

3-27

17
15

17
15

22
19
23

13
13
20

16
14
19

16
14
19

3-28

3-28

50
60
50
50

30

20
50

10

10

30
30

50
20

70

20

20

30

30
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10,15, 25,20

3-29

0.15

, (
3-29
() (
25 10. 8
35 11.1
30 11.0
10 11. 3
Xij [
j
X1 =10
X2 + X2 =15
Xz + Xz + Xa3 =25
[ X4 + Xoa + Xea + X2 =20
Xuu + X2 + Xz + Xu< 25
X2 + %3 + Xu< 35
X3 + X4 < 30
x4< 10
[ j Cij
Cj 3-30
3-30 ¢
i
10. 8 10. 95 11.10 11. 25
11. 10 11. 25 11. 40
11. 00 11. 15
11. 30
a i , b i ,
4 4
min z= G Xij
2. 2
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4
Z Xij< a
1
]
Xii =b
1
Xi=0
! |> J ’ Xii = Ol
Oj = M, Dl
( : 3-31)
3-31
D
10.8 10.95 11 10 11. 25 0 25
M 11.10 11 25 11.40 0 35
11. 00 11.15 0 30
M 11. 30 0 10
10 15 25 20 30
1] y 3 '32
25 ,10 , 15 ; 5 ;
30 20 , 10 10
, ( ) 773
3-32
D
10 15 0 25
5 30 35
20 10 30
10 10
10 15 25 20 30
4 A BCDEF
3-33
, 3-34
1 ) b
?
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3-33

™M N I

A O WL m

w m < 0O

- N M <

3-34

20

17

14
13
15

17
20

15

13

14

17

, E-D

(1)

57

19

91

3-35

3-35

57
10

15

19

15

17

13

(2)

3-36
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3-37

3-37
A
C 2
D 2
F 1
1
: 3-38
3-38
A B E
C 2
14 13 17
F 7 8 3
3-39
3-39
A B E
C 1 1 2
1 1 2
F 1 1
1 1 3
3-39 40 :
131
5 1
3-40
3-40 A 1, A
B, 3+4=7 , A T B 1+5=6 A B
A A B B, 1+1+1=3
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3-40

A A As T T T3 T4 B B Bs B4
A 1 3 2 1 4 3 3 11 3 10
A 1 - 5 - 1 9
As 3 - - 2 7 4 10
T1 2 1 1 2 2 8 4 6
T2 1 - 1 1 4 5 2 7
Ts 4 - 2 3 1 2 1 8 2 4
T, 3 2 3 2 1 2 1 - 2 6
B 3 1 7 2 4 1 1 1 4 2
B 11 9 4 8 5 8 - 2 1
B 3 2 10 4 2 2 2 3
B 10 8 5 6 7 4 2 3
(1)
11 11
(2) 3-40
M
(3)
, 20 T, T, Tz, Ta
20
Xij< a Xij<
Zl j Zl i<h
Xii , Xii
(20- Xii) y Xii ci =0
(4) :
20 27,24,29 20
23, 26, 25, 26 , 20 Xii
( 3-41),
( )
3-41
A P As T: T2 Tz Ta B: B Bs B4
A 0 1 3 2 1 4 3 3 11 3 10 27
A 1 0 M 3 5 M 2 1 9 2 8 24
s 3 M 0 1 M 2 3 7 4 10 5 29
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20

20

20

20

20

20

20

26

25

26

B:

23

Ta

20

Tz

20

T2

20

T:

20

10

20

20

11

10

20

T

T2

Ts

T4

3-43

3-42

3.1

3-42

15
25

10
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15

15

15

15

3-43

o O O O O
© O O O O
< 0O MM M -
o ol ©
o N| ™~
o o Q
o) Q| ™M
N ™
o O o
Q L Lo
M LO
o o o
o — —
N N <
o o (=)
Tp} (o2} <
— N
— N M < W

3-44 3-45

3.2

(Vogel)
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12
14

11

10

3-44

3-45

n o o O

N MO N M
o < 1 0w
— N
i N N~ o
i Ml
M 0N < Mo
— —d d| ™M
N O 1O 1|l o
— —| N
o 1 1 99
— — AN| N

- N M <

3-49

3-46

3.3

3-46

3-47

12

10

10

10

10
16

3-48

10

30
10

20
10
20

10
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3-49

1 10 18 29 13 22 100
2 13 M 21 14 16 120
3 6 11 3 M 140
4 11 23 18 19 80
5 24 28 36 30 34 60
100 120 100 60 80
3.4 3-50
3-51,
3-50
B B Bs =
A 5 10 15
A 0 10 15 25
A 5 5
15 15 10
3-51
B B. B B
A 10 20 11
A 12 9 20
A 2 14 16 18
(1) AQ - B Co2 , ?
(2) A - B G , 3-50
3.5 ABCD . A—1500
B—2000 ,C—3000 ,D—3500
—2500 , —2500 , —5000
, « 7 ) : 3-52
3-52
A B C D
10 5 6 7
8 2 7 6
9 3 4 8
3.6 :320 250 350 : A B
- A—400 , B—450
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( 3-53
30 , 270
3-53
A 15 18 22
B 21 25 16
3.7
3-54
3-54
(
1 500
) 600
3 550
70
40 ,
?
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1
1 , ,
(kg) 2 1 11
(hr) 1 2 10
« 7 ) 8 10
) )(11 )<2 ) )
max z=8x +10x
2x + »< 11
X +2x< 10
X, =0
% =4,% =3,zZ =62( )
(1)
(2) : ,
(3) :
(4) 56
1. X1, Xo , , d ,d
d’ d
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c

1 Z=8x +10x% 8x +10x% +

- d =56 2% + %< 11 2+ %+ -d =11
3 ( )
P,
Pcm Pk+1,k:1,2, , K P« Pi+1
' ; P2 Pl
Wi,
4,
( )

min z= f(d" ,d )

(1) , :
min z= f(d" +d )
(2) : :
min z= f(d" )
(3) , , :
min z= f(d )
2 1
: P, P, P

mnz=Pd +P(d +& )+ Pd
(2% + X <11
X - Xe+d -d =0
1 X+ 2x+d -d =10
8x +10x + & - d =56
L x,x,d ,d=>0, i=1,2,3
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d

L K

min z= Z P Z (rx dk + 'k d;) (4-1)
Wk ,(JL)|+k
( Z Gi X+ k - ok = o, k=1, ,K (4-2)
«Z aixis (=,2)b, i=1, ,m (4-3)
xi=20, j=1, ,n (4-4)
L d,d =0, k=1, ,K
2
) 2
*: 15
)
[
)
OAB , di ,di+ :0, /
4-1 d %_/‘/,
- W
%, 4%
Pl %/"u
min d’ d =0 / -
X, % OBC 0 AN g
P. -
min(d" + d ), 4-1
¢ ,d =0 ,x % ED P,
min 4-1 ¢ =0, X Xe
Gb G (2,4),D
(10 3,10 3),G,D
¢ =1,¢ +d =0,0 =0, z =0
3 1 1
40 24
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80 ; 30 , 40
40
10

mnz=Pd +Pd +P(2d +d )
(X + % +d -d =40
X+ X% +d -d =50
1 X +d - & =24
X2 +d - d =30

(X, %,d ,d">0, i=1, .4
4-2 | 4.9
4-2 P. P X ABCD
Ps , 03 d d =0; X X
ABEF ABEF E d4 E (24,
26), 24 26
3
(1) : G-2z20,j=1,(2, ,n)
(2)
Q'ijz oxiPv, j=1,2, ,n; k=1,2, ,K
Pom P.m m Px: . P
A1 O :0, P> Az
(1) : K , k=1
(2) : k-1

(3) (5
(3)
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(4) ! (2

(5) k=K | k= k+1, (2)
4 2
2 :
min z= P d’ + P(d +CE)+ Ps: ds
(2% + X + X =11
x - X+d -d =0
1 x+ 2%+ - =10
8x +10x +d - & =56
(X, %,X,d ,d =20, i=1,2,3
(1) X,d ,d , , , 4-1
(2) k=1, P, : (5)
4-1
G P P> Ps
0
Cs Xs b X1 X2 Xs d d (97) @& (6 ) &
Xs 11 2 1 1 17 1
cki 0 1 1 1 1
P (07 10 1 [2] 1 -1 10 2
P: o 56 8 10 1 -1 |56 10
P 1
G-z P, -1 -2 2
P -8 -10 1
(3) k(=2)<K(=3), k=k+1=3, (2)
(4) P -1 -2, min(-1,-2)=-2 X
: (3)
4-2
G P: P P P 9
Cs Xs b X1 % Xs (o'} or (07} & (09 &
Xs 6 32 1 -2 Y2 4
ok 5 2 1 -1 ¥2)| -12 10/ 3
Xo 5 12 1 12 -12 10
Ps & 6 [3] -5 5 1 6 3
Py 1
G-z P, 1 1
Ps -3 5 5 1
(5) 4-1 :
6=min(1Y 1,0,10 2,56 10) =10 2
ck : (4)
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min z=P.(2d +3d )+ P + P d

(6) 4-2, (2) :
4-3
4-3 =2,% =4 4-1 G
4-3 , 0, 4-3
d o) , 4-4 4-4 x =10 3, %
=10 3, 4-1 D ,GD 1
4-3
g Py P, P, P: 6
Cs XB b X1 X Xs do [0 3 ¢ o3 &k
Xs 3 1 2 -2 -V 2 V2| 6
o 2 1 -1 3 -3 | -u2| wv2| 4
X 4 1 43 -43| -16 16|24
X1 2 1 -53 53 Y3 -V3
P: 1
G-z P 1 1
P, 1
4-4
G P P> P P 6
Cs Xs b X1 % Xs i i & ] & &
1 1 -1 1 -1 1
S 4 2 -2 6 -6 -1 1
Xo 10/ 3 1 -3 13 Y3|-23
X1 10/ 3 1 2/3)|-23 ¥3|-13
P, 1
G-z P, 1 1
Ps 1
4
5



X+ %+ d -d =10
X +d -d =4
5% +3% + & - d =56
X+ % +d -d =12

(% ,%,d ,d=20, i=1, ,4
, 4-5
(1) min z=P. (2d’ +3d )+ P.di + Pk
(2) min z=P .k + P (2d +3cd )+ P di
(1), d o,
4-5 P. Ps G P. Ps
4-5
G 2P, 3P, P Ps
Cs Xs b Xt X (o'} dr (07 vy o oY ds d
X 1 1 1 -1 1
x 4 1 1 -
P o 18 -3 3 -2 1 -1
di 2 1 1 1 1 -1
Py 2 3
G- Z P 3 -3 2 -2 1
Ps 1
(2), 4-5 , 4-6
, 4-7 x =4,% =12
4-6
g 2P, 3P, P, Ps
Ce Xs b X % o o & ; & & ds o
X 6 1 1 1 -1 1
X1 4 1 1 -1
Py & 18 3 3 -2 2 1 -1
ds 2 1 | [1] 1 |-1
Py 3 -3 2 -2 1
G-z P 2 3
Ps 1
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4-7

G 2P 3P P Ps
Cs X b Xt % o ' d o’ & & i dr
X2 8 1 -1 1 1 -1
X1 4 1 1 -1
P o3 12 -2 2 1 -1 -3 [3]
2P o'} 2 -1 1 1 -1
P: 2 -2 1 3 -3
G-2 P, 2 3 2
Ps 1
Xo 12 1 -53| 53 V3 -1 3
X1 4 1 1 -1
Ps o' 4 -203| 23 13 -1¥3 -1 1
di -1 1 -203| 23 13 -13
P 1
G - z P, 2 3
Ps 23|-223|-1Y3 V3
S
6 ,
(1) 60000
(2) !
3) 20% ,
(4) , 10%
4-8
4-8
/7 )
2000 10 12
1500 12 15
1000 15 15
37 42
X
P 60000 ;
P2
P 20%

108 -



60000
2000(10 - 10x 0.1+ X ) +1500(12 - x + % ) +1000(15- % + %) + & - &' =60000

10(1-0.1)+x +c - =12
12-x+x%+d& -& =15
15-% +x%+d -d =15
20%, ;
x +& -d =12x 0.2
X +& -d =15x 0.2
mnz=Pd +P(d +d +d )+ P(d +d )

: 4-9,
, 4-9
4-9
1 2 3 4
X 2.4 2.4 3 3
X 3 3 3 5
Xs 0 3 3 5
d 6300 3300 3000 0
& 0.6 0.6 0 0
e 2.4 2.4 3 1
di 3 0 0.6 0
o 0 0 0 0.6
& 0 0 0 2
7 ,

4-10 :

P B , ;

P As B 100;

Ps 80%:;

P 10% ;

Ps —— , A B ;

Ps B Bs ;

P, ——

109 -



4-10

B B Bs B
A 5 2 6 7 300
A 3 5 4 6 200
A 4 5 2 3 400
200 100 450 250 900/ 1000
4-11 2950
4-11
B B Bs B:
A 200 100 300
A 0 200 200
A 250 150 400
100 100
200 100 450 250 1000/ 1000
Xu + X2 + X3 + X< 300
X + X2 + X3 + %a< 200
X1 + X2 + Xz + X2 < 400
Xu + X1+ X1+ - d =200
X2 + %2 + X2 + & - & =100
Xis + Ys + X3 + b - dF =450
Xie + Xea + Xea + G - b =250
As B 100
1+ & - ¢ =100
80%
Xu + X1 + X1+ & - & =200x 0.8
X2 + %2 + %2 +d - d =100x 0.8
Xis + Xs + X3 + & - &5 =450x 0.8
Xu + Y4 + %a + &b - b =250x 0.8
10%
s 4
zl Zl Ci Xij + dio - dio =2950(1+10%)
: A B
X4+ a1 - di =0
B Bs
(xu+x21+x31)-%8()@3+x23+x33)+d£2 -d>=0
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3 4

2 Z CjXij + dis - dz = 2950
1 1

mnz=Pd +Pd +P(d +d +d +d )+ Pdo+

P5d1+1+P6(d[2+d1+2)+P7d1+3

4-12 3360
4-12
B B Bs B

A 100 200 300

A 90 110 200

i 100 250 50 400

10 90 100
200 100 450 250 1000/ 1000
1972 V Klee G.Minty
2n , 2"
( )n :
n/ 3 il 2 1l 2 O(kr)
a'
, 1979
(XAYUNSAH)
(N . Karmarkar)
[11]

4.1 : ?
(1) max z=d +d (2) max z=d -d’
(3) min z=d” +d’ (4) min z=d - d
4.2

(1)

mnz=P(d +d )+P.(2d +d )
[ % -10% +di - d =50
3+ 5% +d - & =20
8x + 6x +d - d =100

(X%, %,d ,d>0,i=1,2,3
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(2) min z=P. (& +d )+P.dd +P:dt +P:(d +15d )

(% + % +d -d =40
x+x+ad -d =100
1 % +d& -d =30
X +d -d =15
(%, %,d ,d=>0,i=1,2,3,4
(3) mnz=P(d +d )+P.d +Pd

x+ x+d -d =10

3x + 4x +d - d =50

8x +10% + ds - & =300
(X%, *x,d ,d">0,i=1,2,3

4.3
(1) min z=P & +P. & +Pd
[ x+ 2% +d -d =10
J10x +12% + & -d =62.4
2x + X <8
(%, %,d ,d=>0,i=1,2
(2) mnz=Pd +P.d¢ +P(5d& +3d )+ P d
(% +%+d -d =80
x+X%+d -d =90
1 % +d -d =70
X +d -d =45
(%, %,d ,d=>0,i=1,2,3,4
(3) min z=P. (& +& )+ P b
[ x+ x+d -d =1
J2x+2x+d -d =4
6x -4x +d -d =50
L x,%,d ,d=>0,i=1,2,3
4.4

mnz=Pd +P.d +P.(5d +3d )+ P:(3d +5d& )
(x+x+d -d =80
X +d -d =70
) X+ & - & =45
d +d -d =10
(% ,%,d ,d =0, i=1,2,3,4

(1)

(2)
mnz=P d +P(5d¢ +3d )+ P.(3d +5d& )+ P:di
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(3) 120, ?
4.5 , 10 8
; 3 ; , 2.5 120
: 1.5 ;
4.6
(kg) ( /kg)
1 500 6
2000 4.5
1 000 3
( ) 1 ]
4-13 )
2000Kkg,
4-13
( 7kg)
10% 50% 5.5
70% 20% 5.0
50% 10% 4.8

[1]

[2]
[3]
[4]
[5]
[6]
[7]
[8]
[9]
[10]
[11]

Gass S| .Linear Programming M ethods and A pplications, Fifth Edition Mc-Graw Hill Book Compa-

ny, 1984

, 1983
,1981

_ ,1978 , 4
Hadley G . Linear Programming, Addison Wesley .Tenth printing,1978
Bazaraa .M S .Linear Programming and Network Flow .Second ed .John Wiley & Sons,1990
Williams H P . Model Building in Mathematical Programming . Third ed Wiley, 1990
J P .Ignizio .Goal Programming and Extensions,D C Heath and Company, 1976

H A .Tahe,Operations Research - An Introduction, Seventh ed .Pear son Education Ine 2003

,1983 , 1

N .Karmarkar .A New Polynomid Time Argorithm for Linear Progamming .Proceedings of 16th

Annuad ACM Symposium on Theory of Computing 1984 .
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(integer programming) ,

( ) , (pure integer
(all integer programming) ;

, ( mixed integer programming)

programming)

0_
1 , 0 1 0-1
1
5-1 , ?
5-1
( % ) ( ) ( I )
5 2 20
4 10
24 ° 13
CoX, % (
) () ,
max z=20x + 10 %
(B +4x%< 24
2xt +5x< 13
4 (5-1)
X, %=0
L X, X%

114 -



X =4.8, % =0, max z=96

X : ,
? (x =4.8, x =0) (xx=5,% =0), (
), ; (x =4.8, % =0) 0. 8, (x =4,%x =0),
x =4, % =0 z=80,
x =4, % =1( ) ,z=90
5-1
C(4.8,0) (+)
(5,0)
, C
) Z
: “+7 B (x=4,x= 7,
1) , =96 ,=90 o 1 2 3 4 5 6 71x
5-1
Az=96-90=6
, «C )
2
, 5-1 C o ,
: 1 X X ; , X 0
1234 5 ; , X 012 3 , (
) 3x 5=15 :
5 ( ) , n n
: n! , n=10, 300 ; n=20,
2x 10° : : , :
(branch and bound method)
20 60 Land
Doig Dakin
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A, B,
B : A , B
7 , z: A vd 7
B ( ) , z z
2 A
max z=40x + 90 x%
(9% + 7x< 56
7% +20x%< 70
) (5-2)
X, =0
L X, %
, B ( 5-2),
Xx =4.81, % =1.82, 2z =356
&3
R.
T.
1 O, +7%,=56
5.
. .
““--q.-"f"'-'.rj
3 =~ o,
2 Fa B Tx, +20%,=70
R| —
11 Hﬂ""xh__
// RN
oG T oy =
5-2
pa A , pa
=z x =0, % =0 |, A , z=0,
. z=0, 0< 7 < 356
y y Xl, X1
=4.81
x< 4, %= 5
Bl B( )1 5'3
A , B B,
B B
z =349 2 =341
X = 4. 00 X = 5. 00
% =2.10 % =1.57
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IN

Z > X
- 5
z, y4 349, , fiz] i B, fa] i B
. 4-
zZ
0< z < 349 3
B B . z>z2, 2 &
B %<2 o, B : . o~
% > 3 B 5-3 4
X >2 X3 <3 , 0 | 2 1 4 5 6 X
5-4 B -
, z = 340, Z,
z =327 B. B 2 =341, z 340
Z < 341 B , B, . z=308< 2z,
Bs
z=z7=z7 =340
B x =4.00, % =2.00
] & B
1, =481
x,=1.82 =0, =356
E||=35ﬁ
|
) =4 £ =5
] & B, [al & B,
I =4 .00 x| =500 £=':'~ f:ad.';'
.:-3='1.|l-| x;=1.57
£ =349 2, =341
I
Xa El X2 33
I B, I8 B =340, =341
x, =4.00 x, =1.42
£, =200 x5 =300
2. =340 £4=327
L
*
x:=1 =2
fex] 4 s i B, =3d0=z*
:I:-|=5.-'1|-'1r :l:ﬂffﬁ"ﬁ
I-1=I-m
:-.=3E|'H
' y
* »
5-4

117 -



(1) B,
B :
B :
B :
(2)
, Z
; , B
[b] b
Z,
),
z =z
(
Gomory
3

118 -

max

IN

R .E .Gomory

Z= X% + X
- X+ x<1
33X + %< 4

X, =0

L X, X

(5-3)



_10

5-5 R A, , CD
R( 5-6), ACD, cC (1,1) R

. " CD’ ]

14 Ci, 1)

0 1 £
5-5 5-6
X X4,
{')(1"')(2"‘)(’3 =1
3k + X+ X =4
, , 5-2
5'2 ]
5-2
G 1 1 0 0
Cs XB b Pl X2 X3 X4
X3 1 -1 1 1 0
Xa 4 3 1 0
G - 7 0 1 1 0 0
1 X1 34 1 0 -1 4 14
1 X 74 0 34 1 4
G - 2 -52 0 0 -1 2 -1 2
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, X X
( (-
3 [_X3+_X4
4
-3X - %< -3
: 3
X
-3X - X + X% = -
5-2
5-3 b ,
X5 )
_L
. - 7 ) 2
6=m_|n[ . O <0] =min 1
i I -
5-3
G 1 1 0 0 0
Cs Xe b X X X% %
1 X I 4 1 0 -1 4 14 0
1 X 7 4 0 1 34 V4 0
0 % -3 0 0 -3 -1 1
G - Z -5 2 0 0 -1 2 -1 2 0
X3 , 54
5-4
G 1 1 0 0 0
Cs X b X % X Xa %
1 X 1 1 0 0 13 1/ 12
% 1 0 1 0 1 4
% 1 0 0 1 -1 3
G - Z -2 0 0 0 -13 -1 6
X3
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-3% - %< -3

X X )
3(1+x -%)+(4-3x - x)=3
X< 1
(%, X) Xt
5-7 , 2
5-7
(1)  x
X + Z aikXx =h (5-4)
I Q(Q )
kK K(K )
(2) b ik N f )
b=N+ fi, O0< fi<1l
ik = Nix + fik, O fik<1l (5-5)
N b )
b= 2. 35, N=2,f=0.35
b= - 0. 45, N=-1,f=0.55
(5-4)
Xi + Z NikXk - Ni = fi - Z fik Xk (5-6)
(3) ( , 3 ) (
)1 ) ) ) O< fi<11
fi - Z fikxk< 0 (5-7)
(5-4) ,(5-6) ,(5-7)
(5-7) ,
, (5-7)
Gomory 1958 :
, ( )
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0-1 , Xi 0 1 Xi
0-1 , Xi
X <
x> 0,
1 0-1 1
0-1 ,
4.1 0-1
1. S
4 7 ( )A (i=1,
2, ,7) :
] Al,IAQ,IAG ’
, AL A :
, A, A
A , b , o) ’
B 2
0-1 x(i=1,2, ,7)
1, A , _
Xi={ i=1,2, ,7
0, A

max z= Z C Xi
1

,
(Zl bxi< B

X+ X+ < 2
1%+ %2> 1 (5-8)
¥ + x> 1
L Xi =0 1

0-1 , : X 0 10
X=20 + 2L x; + 22 x, +23 Xg

, X 4 0-1 X0, X, X2, X3



1
5x +4x< 24 (5-9)
7% +3x< 45 (5-10)
: 0-1 Y,
L2
y= 1
(5-9) (5-10) (5-11) (5-12)
5x +4x< 24+ yM (5-11)
7% +3x< 45+ (1- yyM (5-12)
M , y=0 ,(5-11) (5-9) , (5-12)
: y=1 (5-12) (5-10) , (5-11)
y : y 0
m (= ):
Oir X +0i2 X +  +dinXe< b, 1=1,2, ,m
m : m O0-1 yvi(i=1,2, ,m)
M, m+1
Qi1 X +Qiz2 % +  +dinXe< b+yM, i=1,2, ,m (5-13)
vity+ +ya=m-1 (5-14)
, (5-14) ., m vy 0 , y =0,
(5-13) i=i ,
3. (fixed cost problem)
( )
5 ,
( ), :
X] J )
G )
k J
{K"'QXJ, x >0
Pi = ]=1,2,3
0, Xi =
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, , 0-1 Vi,

_{L j . x>0
= 0, j , X=0

mnz=(kytax)+t(kypt+ex)+(kyp+ax)

(5-15) 3
Xi< yiM, j=1,2,3
M (5-16) : Xi >0 Vi 1; Xi =0
0 : (5-16) (5-15)

4.2 0-1

O' 1 ) H

0O 1 , ,
2" n ( n>10),

(implicit enumeration), ,
0-1

6 max z=3X - 2% +3X%

(% +2% - %< 2

X +4x% +x< 4

T Xt+ % <3

4x + X< 6

(X, X, =0 1
: (x,x,x)=(1,0,0)
; z=3
: : zz 3,
3% -2% +5%= 3

(filtering constraint) :

5 .3 2°=8 , 4 , 32
, : 5
( 5-5), , : ,
5-5, 24
(x,*%,x)=(1,0,1) max z=8
) Z ) b

, : (0,0,1) z=5(> 3),

3% -2% +5x%=5
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(5-15)

(5-16)

(5-17)



5-5

?
Z
() ()
(0,0,0) 0
(0,0,1) 5 1 1 0 1 5
(0,1,0) 2
(0,1,1) 3 1 5
(1,0,0) 3 1 1 1 0 3
(1,0,1) 8 0 2 1 1 8
(1,1,0) 1
(1,1,1) 6 2 6
Xi Xi ( ) ’
, Z=3% -2% +5% = -2% +3x +5x%
-2,3,5 : (%, %, X) :(0,0,0), (0,0,1), (0,
110)1(0’111)1 ] ] ]
max z= -2% +3x +5x
[ - 2% +3X% +5%> 3
2% + X - X< 2
14% + x+ x< 4 (5-18)
Xo + X <3
L4  + X< 6
( 5-6):
5-6(a)
Z
(%, X%, %)
(0,0,0) 0
(0,0,1) 5 -1 1 0 1 5
5-6(b)
Z
(%, X%, %) '
(0,1,0)
(0,1,1) 8 0 2 1 1 8
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-2X2 +3x +5x%=> 5

2% +3% +5x%=> 8

1 1 Z ) )
5-6(c)
z
(%, %, %)
(1,0,0) 2
(1,0,1) 3
(1,1,0) 1
(1,1,1) 6
S
] n 1
, ( )
, n ( )
(assignment problem)
7 : EJGR
5-7
, ?
5-7
E J G R
2 15 13 4
10 4 14 15
9 14 16 13
7 8 11 9
, n n ,
n 5_7 ’
GJ>O(i1j:1121 1n) J J
( ) X, 1
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J 1
Xij
(xij) =
, (i)
0-1 :
,0-1
() , (bi),
, (b))
(hj) n
0 1,
(bi)
(W W Kuhn) 1955
(D K nig) 0
0
7
(1)
(2)
() 0 ,
min
2 15 13 4|2 0
10 4 14 154 6
()= -
9 14 16 13|9 0
L7 8 11 917 -0

o +» O O

13

0 10 11

5
1

o O O -

11

7
4
4

o O +» O

L O O O

5 ]

4
2 |
2 min

o O oo O

13

o w o N

O N © O

(5-19)

= (by)
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: 0 (%)
n n 0
(1) () 0
()
(2) () O
o)
(3) (1).(2) : 0
(4) 0 () O
0
0 0 0
.‘ ) 0
0
(5) m n
m< n,
7 (hy) , (1),
ki, ba; (2), bs : b, R4
[ 13 7 ]
6 6 9
5 3 2
¢ 1 @
m=n=4
0 0 0 1]
|01 00
()= 0 0 0
L0 0 1 O
min z, = Z Z bijxi; =0
minz:ZZojxij:el+oz+@s+c4:28(
8 5-8

128 -
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5-8

A B C D E
12 7 9 7 9
9 6 6 6
17 12 14
15 14 6 10
4 10 10 9
min
(12 7 1 7 |5 2 0 2
8 9 6 6 2 3 0 0 O
7 17 12 14 9 /—0 10 5 7 2
15 14 6 10 6 9 8 0 0 4
. 4 10 10 9 4 L0 6 3 6 5]
0 , )
5 2 o 2]
3 ()
100 5 7 2
9 8 4
Ld® 6 3 6 5]
m=4, n=5; :
0 :
(1) ;
(2) ) ;
(3)
(4) (2).(3)
(5) : 0
I l<n, : n
, l=n, m<n, (4),
8
, 1 : 3
0 0
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—o

— —L —2—p—2—]—

—| —2—3 —o—

4<n

35

7 0 2 0 2]
4 3 00 0
0 8 350
11 8 0 0 4

0O 4 1 4 3l

11

‘0 1 0 0 O]

0O 0 01O
O 00 01
O 01 0O
L1 0 0 0 O

=32

min z
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(5-20)

max z= Z Z Cij Xij

b =M - ¢

M ( Ci M )
B=(h;)

bi> 0,

(5-21)

min z = Z Z bij Xij

T3 Ty (e
:ZZMxi;-ZZ Gij Xij
=nM-ZZ Gij Xij

nM : ZZ b Xij ,ZZ Ci Xij

5.1 ,
?

(1) max z=3x +2x (2) max z=3x +2x

(2% +3%< 14.5 (2% +3x< 14
<4><1+ < 16.5 <2x1+ < 9
X,% 20 X, %= 0

5.2

5.3 Gomory

(1) max z=x + % (2) max z=3x - %

i 3% -2%< 3
2% + %< 6
-5x -4x< -10
4% +5x%< 20
) 3 2X + %<5
X, %= 0
X,»%= 0
L X, %
L X, X
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1 2 11
( ,
?
, ?
0-1 X,
{1, j ,
Xj=
0, ] :
]=1,2,3,4
5.5 : (=) :
yM  (y 0-1 , M )
(2) y yi M r)
5.6 0-1
(1) min z=4x +3x +2x (2) min z=2X% +5% +3x% + 4%
(2% -5% + 3x:< 4 [ 4%+ %+ ¥+ x%=0
4% + % +3x2 3 -2% 4% +2x% +4x =>4
X + X221 XX+ X - X+ x=1
L X, %,X% =0 1 L X, %, X, X =0 1
5.7 4 , 4 ,
! ’ ’)
A B C D
15 18 21 24
19 23 22 18
26 17 16 19
19 21 23 17

[1] A Kaufmann:Infeger and mixed programming .Theory and Appecafien .Academie press .INC( Lon-
don)LTD .
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1
1.1
1.
1 : 30 , 450
, 05
(2+0 25x) : X
800
X X
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f( X) =30x +450 %

05x +(2+0 25%x ) x< 800

max f( X) =30x: +450x
0 5% +2x% +0 25x% < 800
x=20, »x=0

2 ( n ) :
: (
O Ol1n
J=
O Onn
aj i j

wi(:1,2, ,n)

W= (W, We, W)
, o= owlow,
min aw - wi )’
2., v w)
w =1
1
1 :
2
2.
min f( X)

h(X)=0,=1,2, ,m
g(X)=0,j=1,2, ,I
X=(%,%, ,X%) n E" (
h(X)=0 g(X)=0
max f( X) = -min[ - f(X)],

, 1] _ 1”

IN

v
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) F(X)

(6-1)
(6-2)
(6-3)



h(X)=0

{h(X)z 0
-h(X)=0
{min f( X) (6-4)
g(xX)=0, j=1,2, ,I (6-5)
3.
( 6-1 )
{min f(X)=(x -2)° + (% -2)° (6-6)
h(X)=X + % -6=0 (6-7)
f(X)=c (6-8)
C , (6-8) C
2 4, (
AB , D
x =3, f(X )=2
(6-7)
h(X)=x +x -6 0
(6-7)
(6-9) X =% =2, 6-1 Cc 0 2 3 6 %3
f(X)=0) : 6-1
(6-9)
(6-9)
( ) ( )
1.2
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f( X) n E" R n : X=(x,

X, %) X R, >0, X e X R(
X R I X- X1 <g) f( X)= f(X), X f(X) R
( ), f(X) Xz X X
e X R, f(X)>f(X), X" f(X) R CF(X)
X R X R f(X)2 f(X ), X  f(X) R
(X)) X R Xz X, f(X)> f(X ), X
f(X) R , f(X)
2.
1 )
R n E" L f(X) R , X
R
(X)) _f(X)_ __f(X)_, (6-10)
X1 X Xn
Vi(X )=0 (6-11)
VE(X ) = f(;f), f()><2<)’ | f(;i) (6-12)
f( X) X
VE(X) f(X) ( ) ( X )
(6-10) (6-11)
2 )
R n E" L f(X) R , X R,
Vi(X ) =0, Z E

Z'H(X )Z>0 (6-13)
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X f(X)

H(X ) f(X) X (Hesse)
(X)) (X)) 2 f(X )]
X X X Xt X
2 (X)) (X)) 2 (X))
H(X ) = X X % X X (6-14)

(X)) 2 f(X) * (X))

X X X X X
, 2 (6-13) : X
f( X) : (6-13) , f(x) =X, x =0,
f"(x ) =0, (6-13)
X=(%,%, ,%)' ,
Z HZ Z£ 0( Z ), ZHZ
, Z HZ>0, ; Z# 0 Z'HZ= 0,
; Z#z 0 Z HzZ<O, : Zz 0
Z Hz< 0, Z# 0,Z HZ>0, Z# 0,Z HZ<DO,
, , , Z' HZ
; H ; ;
H
hj H : :
hu hun
he >0; ‘hﬂ n: > 0; ; >0
hr  he
ha hon
h: <0; ‘hu h: > 0;
i heo
h:  h: s b hun
h:  h:  hs| <O; (-1 >0
e h2  hes ha han
Z'HZ : H
2 (6-13) X’

1.3
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f(X) n E" R ,
1) R X" X7,
faX® +(1-a)X?)saf(X?)+(1-a)f(X?)
f( X) R
a(0<a<1l) X%z X* R
faX® +(1-a) X?)<af(X") + (1 -a) f(X?)
f( X) R
(6-15)  (6-16) ,
' f( X) ( ), - f(X) (
’ ( 6-2(a)) (
(b)) :
Slx)p f()

arf (x") +( 1—ar) £ (=) S e+ (1 -ar)2™]

a(0<a<

(6-15)

(6-16)

)( 6-2

|
I
|
| af (" +(1-a) f (=) Te—
|
|
|

0 £ trf”+{]—ﬂ'} e L 0 i ars [ 1-a) 2@ gl
(a) MR (b) [Ylefh¥
flx))
x
{e) A=, dEMAR
6-2

2.

1 f( X) R , B> 0, Bf(X)
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2 fi(X) 2 (X) R
+ f2 ( X) R
f(X) f(X) R , R
a(0<a<1l)
o X" +(1-0)X)<af(X?)+(1-a)f. (X))
faX” +(1-a) X )<af(X?)+ (@ -a)f (X))

fa X +(1-a) X )<saf( X))+ (@1 -a)f(X?)

F( X) R
Bifi (X) 4B o (X) +  +Bm fm( X)
B>0, i=1,2, ,m
3 f(X) R | B,
S ={X|X R, f(X)<p}
(S )
X" § X? g, F(XP)< B, F(X? )< B
R : a(0<a<1),aX” +(1-a)X? R,

faX® +(1-a) X)<af(X?)+(1-a) f(X?)<p
aX” +(1-0)X? g, , S

R n E" L f(X) R
R , XY R X® R,
f(X? )z F(X)+VE X)) (X - X))

f(X) R , a(0<a<1)
FaX® +(1-a) XP)<af( X?) + (1 -a) f(XD)

fOXY +a(X? - X)) - f( X))
a

< f(X?) - f(X)

a- +0,
T‘f(x(l))T(X(Z) _ x(l))

f(X) = 1 (X)

X

(6-17)

F(X)

f(X)

(6-18)
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f(X?)z F(X)+VE X)) (X - X))

XY R X? R
X=aX® +(1-a)X?, 0<ax<1
xXH o x? (6-18) X® X (6-18) X
f(XP)> f(X)+VF(X) (X - X)
f(X2Y)2 f(X)+VH(X)T (X - X)
a , (1-a) : ;
af(XP)+(1-a) f(X?)= f(X)+Vi(X) x
[a XV -a X+ (1L-a)(X? - X)]
= f(X)= fla X" +(1-a) X?)
f(X) R
00 (6-18)

fix
\v o

3
] 1 . Iy T A’_l_t'lll '
S+ xm T ) ( 6-3)
0 :i-lll I_x 4 ( )
R n E" , F(X
6.3 ( X)
R , f(X) R
: f(X) H(X) R
f(X) R X R Z F,
Z H(X)Z= 0
R : a>0, a [-a,a] , X+azZ R 3
f(X+az)z f(X)+a Vi(X) Z
f(X+aZ)= f( X)+a Vi(X)' Z+%0(2 Z' H(X)Z+ oa’)
|im9(°‘2—):o
a-0 a
l 2 T 2
P Z H(X)Z+ oo )= 0
L7 H(x)z+ 45 g
2 a
a-0, Z H(X)Z= 0
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H( X)
X R, H(X) R

F(X) = 1)+ TEO) (X)) + = (X ) H(+A(X:))(X:)

A (0,1)
R LFA(X-) R H(+A (X))
f(X)2 () +VF)T(X-)
3,f(X) R
X R, f(X) , f(X) R
3 f(X)= - - %
fi(x)= - %
a a, ?
-[aa +(1-a)al’za(-a)+(1-a)( - a)
a(@-a’)-2aa@-a)+a(@-a)=20
@-0°)(a-a)=0
O<a<1, a-o >0 , a a , (a-o0°)(a -a)=0
fi(x)= - (%)= - %
2,f(X)= - % - ¥
3 X" =(a,h)", X? =(a,b)’
f(xX”)=-4d -4 f(X?)=-38 -8
VE(X)=(-2x, -2%)
VE(XP)=(-2a,-2h)"
2
- &-B< -d-f+(-2a -2h) zg]
-d-8B< -d-8-2a(a-a)-2b(k -h)
(& -2aa+4d)-(8-2hb+KE)<0
-(a-a) -(k-h)<0
a ab b
4

(X)_ .,y f(X)_
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—AX . oo X

o
K

LX) _ (X)) _

X1 X X X 0
|H|=‘-2 o Z4s0
0 -2
fFCX) ( )
4.
(
( )
5 f( X) R
( )
X , N (X )
f(X)= f( X))
Y R : A, O<A<1,
((1-M) X +AY) N (X))
f((1-A)X +AY)=2 f(X)
f(X)
(L-A)f(X ) +AF(Y)= f((1-A)X +AY)
A,
f(Y)= f(X )
, X
3,
6 f( X) R
X R
VE(X ) (X- X )20
X  f(X) R ( )
3
f(X)= f(X )+VE(X ) (X- X))
X R
f(X)= f(X )
X R , (6-19)
(6-19)
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Vi(X )=0

1.4
(6-1) (6-2) (6-3) :
(6-2) (6-3) ( )
(6-1)
{rxnirR\f(X)
R={ X|g(X)=20, j=1,2, ,I}
f(X) , g (X)(j=1,2, ,1I) ( - g ( X) ),
, f(X)
: ( ) ,
4
(min f(X)=%X +% -4x +4
) a(X)=x-x+2=20
@(X)= - X +x-120
X,%x=0
f(X) @(X)
(X)) _*f(X)
X X %
|Hl=1, )
f(X) f(X)
Y X Vi &,(X)=0
2 %
= =4>0
0 2
e (X) “e(X)
o= X X X%
1T 00 2ex
X X %
-2 o‘
= =0 6-4
0 2
f(X) , & (X) :
( 6-4) C : X" =(0 58,1.34)",
f(X )=38
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1.5

( ) ] 1
, : n f(x) Vi(X)=0
. F( X) , X,
( ) X(O) X(l) ( ’ f( X(l)) < f(X(O) )’
,f(X(l))>f(X(0))), X(l) X(Z),
{ X"} X",

limll XY . x'1I =0,

{x")
f( X9) :
X9 ( 6-5),
XY
6-5 ’ X0 ’
X(k) )
B , XU (X)) <
f(X")
X= X" 4\ pY
X = X9 4n P
,P(k) Ak
(1) X k: =0;
(2) P
3 X P A, X
(4) X ’
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A«

1), ,
, A
, X= X9 +\PY f( X)
Aomin f( XY +APY)
A f(XY +APY)
( ) ,
7 f( X) , X
Acimin f(XY +APY)
{ X(k+1) — X(k) +)\kP(k)
VE(X ) P =0
o) = f( X +APY),
@A) =mine (A)
{ X(k+1) — X(k) +}\kP(k)
Ak @A) @ )=V X" +AP7) P
@ (A) h-», =0,
VE(X® +AP)T PR =T X)) PR =0
(6-21) 6-6
{ X} X, K 0<
<o 0a=1, k ko >0
XY - X <pl X2 -X 1" (6-22)
, { X"} a, {X"}a
a=2 , { X"}
l<a<2 ,

a=1, O0O<B<1 |,

(1)
X - XM <es
| F(XT7) - (X)) | <e2
(2)

(6-20)

(6-21)

l?.lll'{xllﬂ-ll]

N
FX)=f{ X"
6-6

(6-23)
(6-24)
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(k+ 1) (k)
X - X

1 X9 <€&€:s (6-25)
k1) y _ (K
|f(x<|f()%k);(|x Mo, (6-26)
(3)
I VE(XY)I <es (6-27)
€1,62,63,E4 €5
2
(1) ( - " ,0 618 )
(2) ( : )
(3) ( : )
0 618
2.1 (Fibonacci) ( )
y= f(1) [a 1 ( 6-7), t
a h,ac<h, f(a) f(h),
(1) f(a)<f(h)( 6-7(a)), t [a b]
(2) f(a)z f(h)( 6-7(b)), t [a, b
(EALY ; | f2)
yu f(e)
S~ | ! L I
0 {II tﬂlk £II| Elh |I!J =1 0 rJI: rli.l rl"‘ f:ul |ij '
(a) b}
6-7
: [ &, b] :
[a b] [a,h] [a,b]( )
[a,k]( [a,b]),
f(a) f(h) t,
n
? n
2
Fn n
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(6-28)

Fo=FR =1
[a, b a h( 6-8(a)), ,
[a,h] [a,b , [a, b] , ,
: 6-8(b) a h, € :
1+¢ € ,
F,. =2
) | | i ]TH .l |.-II-E 2
i iy b, b iz i by b
(a) (b)
6-8
( 6-9)
F =3, k=5, F =8,
{ R} :
Fn = Fn-l + Fn-2 rE 2 (6'29)
(6-29), F , 6-1 Fn
6-1
n 0 1 2 3 4 5 6 7 8 9 10 11 12
Fn 1 1 2 3 5 8 13 21 34 55 89 144 233
: n @ | L
n=1 |Irl [
( 1 2
E 3
) VR Foo = @la @ @
109486, 20 n=d ', 2 3
0 5 5
L
@E 3 D N
—L__ 0 oooogL "= S :
10946 L § 3 2
) n )
6-9
[&2,b]
6 ’
Bh-1 - & 1< (b -a)d
n )
1
> .
Foz 3 (6-30)
r]a
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b1 - &-1<n (6-31)

n=(b - a)> (6-32)
I Fos I I :
Ey (1) " 6’
a | — ' by (6-30) Fo, 6-1
LS
F.. Fos "
- - - (2)
(6-29)
6-10 ( 6-10)
b=+ F”F‘nz(b - &)
Fn—l
1 = + c (> - b) (6-33)
b=a+ Flg;l(b - @)
(3) f(t) f(t),

f(o)< f(t),

(4) f(e) f(t)( ), 3

k=1,2, ,n-1

) ' (6-34)

(5) k=n-1 |,
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tn-1:tn-1=%(3n-2+bl-2)

f(tea)  f(tos) S



. (6-35)
tnl—an2+[z+8 (bw-z-anz)
1 tnl y )
) [&1-2,fn-1] [tn-l,b1—2]
5 f(t)y=*f - t+2 ,
[-1,3] 008
, f(t)=¢€ - t+2 ,
't =05, f(t)=175
5=008,F.>15=1008=12 5
6-1,n=6,a=-1,b =3
f=b + (@ -h)=3+5(-1-3)=0 538
=b (@ - b)=3+75( )=0.
_ B o _ 1.8, 4 _
tl—a)+F6(b &) = 1+13 3-(-1))=1 462
f(t)=0 538 -0538+2=1 751
f(t.)=1 462 -1 462+2=2 675
f(t)< f(t), a=-1,h=1462t =0 538
t=h +E(a-b):1.462+%(-1-1.462):-0.077
f(t)=(-0077)* - (-0 077) +2=2 083
f(t)> f(t:) =1 751, a=-0077,b=1462,t =0 538
tgzaz+%(b Ca) = -0.077+%(1.462+0 077) =0 846
f(t:) =0 846" - 0 846+ 2=1 870
f(t:) > f(&) =1 751, = -0077,b =0 846, t. =0 538
u:b+%(as-b)=0.846+%(-0.077-0.846)20.231
f(t)=0 231" -0 231+2=1 822
f(t)> f(ts) =1 751, a=0231,b =0 846, =0 538 e=001,
5 =a+[%+e](b-a4)
=0 231+ (0 5+0 01)(0 846 - 0 231) =0 545
f(ts)=0 545 -0 545+2=1 752> f(t) =1 751
a=0231,b=0 545 f(6) =1 751< f(ts) =1 752, b

1.751
0545-0.231=0 314, 0314 4=0 0785<0 08,
6-11
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[y —

r
By I

I'J-LI—I-I—IELI_

h'

R ———

r

£ Iy

Ty L L . 'FJJ
£ I:J
2 " ; 'y
-1 0 t, 1 t, 2
a ———i i .
@ eUed® @
6-11
2.2 0618 ( )
) n
Fo-1/ Fo,
Fn—2 Fn—3 ﬁ
Fn—l’ Fn—2, ' FZ
Fox-1/ Fox Fod RBoxer
K- oo
Fox-a Fax
B Forer
Fo- 1 Fw1 1
F« R« + B 1+ Fow- 2
Fox- 1
kK- oo
) Pxv. 1
e 1
__1
H= 14
(6-36) (6-37)
_1+yp
U_2+”
M- +p-1=0
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(6-37)

(0 618 )

0 618

0 618
0 382

3.1

_{5-1

H="5
(6-36)
AN +A-1=0
f5-1
A=y = > =0 6180339887418948 (6-38)
0 618, :
: n [, Db] n-1 ,
U,
(b - a)u"*
0 , n:
u"'< d (6-39)
n, )
: 0 618
3
minf(X), X F (6-40)
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(6-40) f( X) :
X* ><(k) k ’ k+1 )<(k+l)’ X(k)
P(k)
X= XY +APY (A= 0)
f(x) X%

f(X) = f(X® +APY)
= f( X)) +A V(X)) P + o)

lim 24— g
Aeo A
A,
Vi(X®)TP® < (6-41)

f(x(k) +\ P(k)) < f(x(k))
X(k+1) — X(k) +A P(k)

P P ( ), VE(X")# 0(
XY ), (6-41) Pt
VE( X)) p¥ P
VE(XP) P2 =1 VX)) - I P2l co® (6-42)
0 VE(x¥)y p¥ P VE(XY) 0 =180, cod= -1
(6-41)
PO = ST (XY)
( X )
A
A :
FOXY -ATE(XP)) < £(XP) (6-43)
, A (6-43)
(6-43) A
f( X) Ak,
2.
(1) X £>0, I V(X)) *<e, X
(2) I VEX)N® >e, Ao,

XP = X e VE(X)
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(3) , X VECXPYI Pge, X
I V(X)) 2 >e, Ak,
XKD = X9 N VE(XY)

F(X) COXY (XY A TE(XY))
(X A TR(X )= £(X) - THX)ATE(X?) +
%)\ VE(XO )T H(XP M TE(XY)

__ V(X)) Vi X))
CTVRCX)THX)VE(XY)
H

A

A (6-45), ( 0 618

(6-45)
VIO T VXY VECX)) I
V(X)) H(XP)VE(XY)

f(X)=(x -1)" +(% -1)°
€e=01
X =(0,0)"
VE(X)=[2(x -1),2(% - 1)]
Vi(XY)=(-2,-2)
I VE(XO)VI 2 =( V(-2 +(-2)) =8>¢

2 0
H(X):[o 2}

(6-45)
V(X)) VE(X©)

M ST X H(X V(X))

L I

- [2 OH 2}_16_2

(-2,-2)
0 2/l -2
R R
n _ b\, ¥ )y — i _

X XA f(x){oJ 20 -2 1

Vi(x")=12(1-1),2(1-1)] = (0,0)"

(6-44)

(6-45)

(6-46)

(6-47)

153 -



X
, Ao

XY = X -ﬁ’f(%")):[o} 'A{ -ZJ :[ZAJ
0 -2 2\

F(XP )= (2 -1)2 + (A - 1) =2(2 - 1)°

df( X*) & =0
)\o = ][ 2
7 f(X) =X +25%
2 =(2,2)", f(X?)=104
A=1, 6-2
6-2
(R (k)
X Xo P X I Vi(x)l
X1 X
0 X© 2 2 4 100 100
1 X 196 1 00 32 50 50 1
2 X@ 1 88 0 376 0 376
3 x® 0 88 0 1 76 0 176
4 xX® -0 12 0 -0 24 0 0 24
5 x® 0 88 0
] X1 ] (O ] 0)
A
6-3
6-3
(k) (R
N “ “ f( XXM f(X¥) FOXP)
) X
0 X(© 2 003 2 2 4 100 104
1 X 1 850 192 - 0.003 3 84 -0 15 3 69
2 X(2) 0 070 0 070 0 .070 0 14 3 50 013
3 X3 0 070| - 0.000

154 -



6-12
e e e
- __j- ‘“:*Erwu
6-13
, f( X) ,
{(x*y { (X)) : { X"} X V(X))
=0; X*
X
6 :
( )’ ]
( 6-14) , 6-14
, X
3.2
1.
X Y n E" ,
X'Y=0
X Y A nx n , X AY ,
X" AY=0 (6-48)
Y A , X Y A (A )
- 155.



, A nx n , P(l) , P(Z),
(P")TAPY =0 (i= j; i,j=1,2, ,n)
A A= I( ).

8 A  nxn PP P2 P A

o PP +0: P2 +  +a. P =0
a (P") APY =0

(P")TAPY >0

a =0, i=1,2, , N
P(l) ’ P(z) 1 ’ P( n)
- _Ad T
min f( X) = 2X AX+ B X+ ¢
A nxn X, B E';c (6-50)
9 P”,i=0,1,2, ,n-1, A :

{n;in f(XY +APY)Y) = £( XY +APY)

X(k+l) — X(k) +)\kP(k)
n (6-50) X
(6-50)
Vi(X)= AX+ B
X(l) X(Z) X(n)
Vi(xX?)=AX" +B

(n)
, P

VE(X* V) = AXY + B= A(XY +APY) + B

=Vi(X"?) +AcAPY
Vi(x"“)#z0,k=0,1,2, ,n-1,
VE(XP)=VH(X" D) +Ans AP Y =
=VEOX YY) Ao AP 4 AP? 4+
Aot APTY
Ak,

+

df(x(k+1)) _ df[x(k) +A P(k)] :Tf( ><(k+l))T P(k) -0

o) A\
k=0,1,2, ,n-1
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(P(k))T Ff(x(n)) — ( P(k) )T Tf( )<(k+1) ) +)\k+1 ( P(k))T AP(k+1) + +
Ao (PPYT AP Y =0
’Tf( ><(n)) n P(O) , P(l) ’ ’ P(n'l) ( A ) ’

Vi(x"y=0
X" f(X) X

( 6-15) , X
! xim
F( X) X ;((1)’ -
NG 6-15
X
X , P | (6-50)
( X) X\ PO
X® = X +n P
Ao
VE(XY) P9 =0
’ o P . (650)  f(X) @«
A PO
@) O o
Ao

VE(©) P =0

V(™) - FEI(X)]T P =0
(6-50)
Vi(X)= AX+ B

1_1 1
Pl — (M )

X

(PY) AP” =0
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(6-50) , A , X,
VE(X)= AX+B=0

X =-A"B
O o ,  (6-50)

XD = X9 +x P, k=0,1,2, ,n-1
Aczmin f(X"Y +APY)
X" =X

(6-54) ; PP, P

Vi(X) = AX+ B,
'Ff(x(k+l)) _]:!'f(x(k))z A()<(k+l) _ X(k))

X(k+1) — X(k) +)\kP(K)
VE(XD) - VH(XY) =AAP®, k=0,1,2, ,n-1

X
P(O) - . Tf( X(O) )

X% AP

{ X(l) — X(O) +)\0 P(O)
Aomin £ (X +A P?)

Vi(x"), (6-51)

VE(X?)
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VE(CXPY)YT P = Vi XY Vi X?)=0
VE(XY) VE(XY) ( VE(xY) VE(x?)
Vi) ,

PY = V(X)) +a0 VF(X?)
P P9 A . (6-55)
[ - VE(XP) +a0 VE(X)]T[VE(X?) - VE(X?)] =0

e = (X)) V(X))
PTVECXO)T VE(XD)

(6-52)

(6-53)

(6-54)

(6-55)



B = -qo = LX) V(X))
VE(X®)T V(X))

PY = _VE(XY) +Bo PO
P
{ X(Z) — X(l) + s P(l)
Avimin £(X® 42 PY)
Vi(x?), Vi(x?)zo0, P PY» A
VE(X?)TVE(X?) -Vi(XP)]1=0

VE(X")Y Vi (xX"Y)=0
VE(X)Y Vi(X?)=0
VE(XP)YT P =VE(XP) [ - V(X)) +a0 VF(X7)] =0

VE(X?)Y Vi(xXY)=0
VE(X?) VE(XP) VE(X)

P(O) P(l) A P(Z)
P2 = - VE(X? ) +ou VF(XP ) +a0 V(X))
o o PP PO PV A

[ - VE(X?) +on VE(XP) +a0 VE(XO)]T[VE(X®) -VH(X”)] =0
[-VH(X?) +ae VE(XY ) +a0 VE(X) ] [VE(X?) -VE(XY)] =0

o VE(X)T VX)) a0 VE(XY) VH(X?)=0
“VEXY V(X)) - VE(XP)T V(XY ) =0

o = (X)) V(X))
PTVECXT)T VE(XT)
o TE(XE)T V(X))

o =01 {rf( X(© ) 1;-'f( X(O))

a

PP = - VE(XT) - B VE(XT) -Boe VE(XT)
= - VE(XT) B[ - VH(XT) -Bo VE(X™)]
= - VE(XT) +Be[ - VH(XT) +Bo P7 ]
= - VE(X?) +p. PV

(6-56)

(6-57)

(6-58)
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VXY V(X))
Bk_ Tf(x(k))T T"f(x(k))

Vi(X)= AX+ B, (6-55)
VE(X“ D)y =VE(XY) +Ac APY

{ plen = Tf( Yk D) ) +Bk po

Tf( )<(k+1) )T P(k) -0

No L TECXO)T P
=R AR

- X(k+1) - X(k) +)\kP(k) (6-59)
Tf( )((k) )T P(k)
A= - (P¥) AP (6-60)
1 PV = SV RN ) 4B P (6-61)
_Tf(‘x(k+l))T Tf(x(k+1))
Bx = Tf(x<">)T {rf(xm) (6-62)
k=0,1,2, ,n-1
X(O) ’ P(O) - _ Tf(x(o))
PY = - 1IFf(X(k)) +PBk-1 pie-b 1|:"f(X(k) )T P =, (6-60)
V(X)) V(X9
Ak = ( P(k)')T AP‘(k) 7 (6'63)
- Fletcher Reeves , FR
(6-62) (Fletcher) ( )
, (6-55) ,
VXX "y ap¥
Bk = (‘P(k))T'AP(k) (6-64)
(1) X £>0
(2)
P(O) — _Tf(x(o))
(6-59) (6-60) X"
(3) , X p k+ 1 X
{ XD = XY 4\, P
A rr)in f(X(k) +A P(k’)
(4) [ 1|:"f()(('”“)ll ’<¢, Xty . k<n-1,
(6-62) (6-61) Bk ptn 3
) b ) n b
; ) , n
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, n , X" ,
8
f(X):%xf+%2-x1x2-2x1
f(X)  (6-50)
()
A=
-1 1
X =(-2,4)T ,

VE(X)=[(8% - % -2),(%x - x)]’

Vi(x“)y=(-12,6)"
PO = -Vf(X?)=(12, - 6)"

1
N XYY ('12’6)[-6} _180_5
T (PY)TAPY T { 3 1” 12}‘@12‘17
(121_6)
-1 1l -6

-2 5| 12 [26 38]T
(1) _ 0) (0) __ S _ £V V0O
XY = X2 +)0 P _{ 4J+17{_6}_ 1717

Vi(x")=(6 17,12 17)’

K
CVExX®)T V(XY L17717)119 17 1

7

0 _?f(X(O) )T Tf( ><(O)) - ( ] 12 6)[ _ 12} _289

: fer AL 0 & 17 1| 12 [ 90 210]T
) - . ) PO = . 1 _| .90 210
i f(OXT) +Bo P [12 17] +289[ 6 } 289" ~ 289
- _Tf( )<(1))T p
ST (P APY

e

_ 17°17J1 ~ 289’ 289
[_&_m] 3 -1[_&_m]T
289° 289J .1 1Jl 289" 289

__6x 17x 90+12x 17x 210 _ 17(6x 90+ 12x 210)
( -60, -120)( - 90, - 210)" 60x 90+ 120x 210
1

\l

[
o

pdlEs- e BN

X2 = xX® #x, PY =[ + =
39 17/ 10l - 210 289 1
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f( X) 6-16

A7 (6-40)
2 1 % f( X) ,
%// / | "
X© VXY, PO = _V(X?)
6

, X +AP” A2 0),
f(X)= f(X? +AP”) X
fF(XO +AP?)= f(X?)+A VE(X?) P +

6-1

%)\2 (P) H(X?) P

A . (P”) H(X")P” >0, p© A

Tf( X(O) )T P(O)
(PP)T H(X®) PO

Ao = -
| min £( X +x P2)
XD = X0 4o PO

XY
VH(X)T PO =0

PP = - V(XY +Bo PO
( P(l) )T H( X(O) ) P(O) — O,

5 V(XYY H( X)) pO
T (PO H(X®) P

P(l)
D G
Vi(x®)' p¥
)\kz = (P(k) )T H()((k))P(k) (6'65)
< P(k+1) — _'l:_!'f(x(k+1)) +ka(k)
VixX ) H(x®ypt
\Bkz (‘P(k))T’H(X‘(k))P’(k) (6-66)
: H(X")
P(O) P(l) P(n 1) n
: ks n :
)<(k) n ’ X(n)
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3.3

30
1.
f( X) , X
f( X)
f(X)= f(X(k))+T'f(X(k))TA+%A X" H( X¥)A X (6-67)
VE(X)= VE( XY )+ H(X¥)A X (6-68)
Vi(X")+ H(X")A X=0
X=X - H(X") "Vi(x"?) (6-69)
H(X?) f(x) X%
f( X) . H(X) , (6-67)
: XY , (6-69) f( X) ( H(X™)
)
f( X) . (6-67) f(x) X"
(6-69) , f( X)

- H(X™) V(XY ,
PY = - H(XY) "Vi(x™)

XD = X9 4 pY (6-70)
A:min (XY +APY)

f( X) , (6-70)

f( X) XY , F(X)
X
H(X"), H(X")*, o
H(X")*

H(><(k))-l _(k)
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f( X) , , X xte
'!;!'f(x(k+l) ) _ '!;!'f(x(k) ) — A( )<(k+l) _ X(k))

XX = AT VRO Y - V(X)) (6-71)
: , k+ 1

T (k+1)

X(k+1) ) X(k) -ﬁ(k+1) [Tf(x(k+1)) _ Tf(x(k) )] (6_72)

{A G¥ =Vf(X ) - Vi(X"¥)

A X(k) — ><(k+l) _ X(k) (6'73)
(6-72)
A X ¥(k+l)AG(k)
H
(W (k+1) S0 (k+1) .
H ' H ( H H ):
A(k+1) -f(k) +A'H<k) (6-74)
N (k+1)
AH k , ,
A X® = 'S(k) +A Lu(k) )A G
A -PAGY =A XP - pGY (6-75)
H H
\ (K
A
é(k) A X9 Q) '}_{(k)AG(k) (W*YT (6-76)
dk) VV(k)
(6-76) (6-75)
A XY (QY)AGY ';(k)A GY (W™ )AGY =A XV ;‘ Ol
(@Y)Y'AGY =(W¥)Y'AGY =1 (6-77)
A(k) |
S
Y = XY
\N(k) =E|.((k)AGk) (6'78)
H
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(6-77)

A X)) aG”

(6-70)

(1)
(2)

X
(3)

P (0)

(4)

X

pY

ne(d XP)YAGY =5, G¥)¥AGY =1
(AG” )T”A G ,

_ 1 _ 1
= x®)yac® = (ad")a x¥
<Ek: 1
(6G¥ )L GY

A(k) :A XY (A X(k))T ) W AGY (AGY )+H(k)
H AG? ) A XY (AG(k)).t(k)AG‘k)

e (0 +A X9 (A XPY w9AGY (AGYYLY

H H (AG“() )TA X(’k) ) (AG(k))iH(k)AG(k)

X £>0

I V(X9 *<e

() _
= )
po = _ O T x)
, Ao:
min fF(X? +AP7 )= f( X+ P?)

XM = X +h0 PV
XY, ViX?),
I V(X)) *<e

. U
’ ’ y (6-81) H y
o = __(k)vf(x(k))

, A
mAinf(X(k) Y P(k))= f(x(k) +)\kP(k))

(6-79)

(6-80)

(6-81)
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XD = X9 AP

(5) )<(k+1) X(k+ 1) 4
n X(n) X(O) X(O)
(Davidon) : (Fletcher) ( Powell)
: DFP , DFP
9 DFP 3
3 , X? =(-2,4) ,

k! o]
H 0 1

VEH(X)=[(Bx - % -2),(% - x)]
VE(X?)=(-12,6)"
- ooy [ 3L
, ;qn1f(x“’+A;j”),

VE(XY) = [fi 13]

AGY =VE(XV) - V(X))

|8 lzJT T__[z;g ] QQ]T
"[17’17 (-12,6) = 17 ° 17

o Lo AXO (AXO) WUAG (A GY)LO
HooH (AG(O)) A X (AG(O))L(O)AG(O)

60 30]T[60 30J

H, J
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1 { 385 241]
986( 241 891

PO = LT E(XDy = 9_5136[ 385 241”6{ 17

241 891
min f(XY +APY),

29

A =17

X(Z) — )((1) +)\ P(l) :[ +
' 3g 17) 17

Vi(x®)=(0,0)"

X? =(1,1)"
(0
y
ROy K
- OTH(X) ,
DFP
)
) H ]
(0 — )
9y
H(><(k))—1’
10 DFP

min f( X) =4(x - 5)° + (% - 6)°

R
4 0 1 9

VI(X)=[8(x -5),2(% - 6)]"
Vi X2) =(24,6)"

XD = X +ho PO = XV N0 - V(X))

H

_'8-24%}
L9 - 6\

12/ 17

26 17] 2_9[ -9 29
- 21/ 29

“lof +lg JEIE +(

,DFP

DFP

(K
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f(X")=4[(8- 280) -5]° +[(9-6\o) - 6]°

di(xX?) _
o

_17
130

X =[(8-2M0),(9-6\)]" =(4 862,8 215)"
AXO =X - X =(-3138, -0 785)"
f( X" )=4 985
Vi(X")=(-1108,4 431)"
AG” =VH(XD) -V{(X?)=(-25 108, -1569)7

Ao

- (0) 0) 0) \T (0)
@ _ +A X (A XY ) “AGT (AG )H
(AG®)'A X© 0) \T(0) A (~O)
@bG”)AG

T
T

_|1 0, (-3138, -0.785)"(-3.38, -0.785)
0 1) (-25108, -1569)(-3138,-0 785)"

1 0 ] 1 0
(-25.108, -1 569)"( -25 108, - 1 569)
0 1 0 1

1 0
(-25.108, -1 .569)[ . J (-25.108, - 1 569)"

(1 o] [0.1231 0.0SOSJ [0.9961 0.0622J
0o 1) "loo030s 00077) Lo o622 00039
[ 01270 -00315}

[ -0 0315 10038

X

XV AL PVE(XY)

[4 862] [ 01270 -0 0315][ -1 .108}
8 215 -0 0315 1 0038 4 431

A1 =0 4942
X = (5,6)"
f( X) (6-50) :

S
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(@

@
H -

( )
3.4
(Jeeves) 1961 ,
)
1.
f( X)
[
(
) B.
B
(B ) :
(
)
B ,
B :
( )
), B: Tz
B, B ,

=

1.25x 107"
8 882x 10 *°

78 0 ]
0 V2

(Pattern Search),

- 8 882x 10'”J
5 00x 10°*

( Hooke)

)
B. +A

B: - A

T20

( 6-17)
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6-17 X
B: : B B B B ,
( B B )
2.
, (6-40)
(1) B,
(2) x(i=1,2, ,n)
o
0
Ai=|0i | <« i (6-82)
0
L O
A Oi,
(3) B f(R), B +A:., f(B+A:)< f(B),
B +A: : T ,
X B +A: B : B -A:, B
: , B
B +A:, f(B. +A:) < f(B)
Tu =y B -A:, f(B-A)<f(B)< f(B +A:) (6-83)
B, f(B)< min[f(B +A:), f(B -A1)]
X : : Tu B
T +Aje1,  f(Ty +A+1) < f(Thy)
Tojer =7 Tay -Qjer,  F(Toy -Qj+1) < f(Ti) f(Taj +A4+1) (6-84)
Tii, f(T)S min[ (T A1), T( T -Aj+1)]
0 j£n-1, Tw=8H
n : Tin,
Tin = B (6-85)
B: B
(4) : T2o
To=B +2(B - B)=2B - B (6-86)
(5) Tao : T, Toa, , Ton,  Ton
B , B B



To=B+2(B - B)=2B - B

B - B=2(Tw - B)=2(B - B) (6-87)
(6) i ,
f(To) < £(B)
To : To B+1,
f(To)= f(B), To Bi ) B, Bi
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h(X)=0, i=1,2, ,m (7-1)

{min f(X)
g(X)=0, j=1,2, ,I

{min f( X)
. (7-2)
g(X)20, j=1,2,
(7-2)
{min f(X),X R E
. (7-3)
R={X|g(X)=0, j=1,2, ,I}
(
) ()
1
1.1
f(X) h(X) g(X)(i=1,2, ,mj=1,2,
X(O)
g (X)z 0, X" g (X?)>0 X
X(O)
X(O) ( ) gj (X(O) ) :0, X(O)
’ X(O)
X ( )
X (7-3) , D,
Ao >0, A [0,A0]
X? +AD R (7-4)
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( 7-1),
g(X)=0
Vg (XY D=0, j J (7-5)
J

g (X? +AD) =g (X”) +A Vg (X*)" D+ oA)

1 )\>O 1
Vg (X?)'D>0, j J (7-6)
g(X? +AD)=20, j J
7-1 , X(O) ’
A>0 , D (7-6) X
X, D , No >0,
A [0OA0]
f( X? +AD) < f( X?)
D X
f( X) X ,
Vi(X”) ' D<o (7-7)
D X
D X
X
1 X (7-3) , f(X) X
g(x) X S RN
g(x) X , Jud
X , D
Vi(X )'D<0
v - _ (7-8)
g(X ) D>0, j J
, (7-8) D,
: X’
(7-8) D, X’
, X
1.2 -
X (7-3)
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, X Vi(X )=0;

X :
X’ (g (X )=0) X’ , Vg (X)) - Vi(X)
( Vg (X' ) V(X)) ), ,
( 7-2 X . X ,
, B ) , ,
Y12 0,
VE(X ) -y: Vg (X ) =0
X’ , g(X )=0 @(X )=0 v
f(X") Vg (X') Ve (X)) , X
( 7-3) , X , X
Vg (X') Ve (X') , Vi(X) Vg (X') Vg (X))
, y:1=20 vy:220,
V(X ) -y: Vg (X ) -y: Vg (X )=0
m[xj:ﬂ ?gl[-x}

—Vi (%)
7-2 7-3
V(X)) -y viYe(X) =0 (7-9)
(7-9)
{Vi g (X )=0
yi= 0
g(X )=0 .y . g(X )20 yi=0
- (Kuhn - Tucker, K-T)
(
), :
( : , )
X (7-3) , X



o=y .y, yi),

VR(X) - S.vi Yo(x) =0
lyig(X')y=0, j=1,2, I (7-10)
Ly, = 0, i=1,2, ,I
(7-10) K-T (
) - ( K-T )
(7-1) - :
th(X)zo
-h(X)= 0
h(X) =0, (7-10), -
X' (7-1) , X’
Vh(X )(i=1,2, ,m Vg(X)(j J)
AN =Qr A, An) T =i y:, i)
) m |
VE(X) - ZA Yhi(x") - Zlvf Vg(Xx')=0
lvia(x)=0, j=1,2, ,I (7-11)
Ly; =0, ji=1,2, 1
, (7-11) -
(7-10) (7-11) A1 Az, Am Yi,Y2 , LYI
(Lagrange)
1 -
{min f(x)=(x-3)°
0< x< 5
min f(x) = (x- 3)°
a(x)=x=0
@(xX)=5-x=0
Vi(x) =2(x-3),
Vg (x)=1,Vg(x) = -1
Vi y2, K-T
X K-T :
[(2(X -3)-y: +y2 =0
<yf x =0
yz (5- x ) =0
lyi ,y2=0
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(1) vy: #0,y2 20,

(2) vy: #0,y: =0, , X =0,y: = -6, K-T
(3) vy: =0,y> £ 0, , X =5y2 = -4, K-T
(4) vy: =y: =0, , X =3, K-T f(x')=0
, X =
2
X : ,
r . n 1 n n
min f( X) = Zlc,-xj + E 1 ZleXj Xk (7-12)
Ck=0Gij, k=1,2, ,n
Z aix;+h=20 i=12 ,m (7-13)
fee 1
XIZ O, j:1121 1n (7_14)
(7-12) ( ),
( ) : : : (
] ] ) 6 ]
- (7-10) (7-12) (7-14)
y - Y,
Z Qka+Z ajymwi +VYyi =G, ] =1,2, ,n (7-15)
(7-13) Yot i, (7-13) ( b> 0)
Z ajXji - Xx+i +b =0, I=1,2, ,m (7-16)
) , (7-16)
ijj:O, j=1,2, , N+ m (7-17)
xi=20, y=20, j=1,2, ,n+m (7-18)
(7-15) (7-16) (7-17) (7-18) ,
y (7-15) 1Q y

176 -



: z(z= 0, :

(7-15)
zaijyn+i+yj'ZQka+Sgn(Q)Z:Q, j=1,2, ,n
1 1
sgn(c) , @20 ,sgn(c)=1; ¢<0 ,sgn(gc)= -1
[z =sgn(a)a, i=1,2, ,n
X+i = h, i=1,2, ,m
ijol j:112’ 1n
Ly =0, j=1,2, ,n+m
, z =0 ,
’min Z) = Z
®(2) Z
Zaijyn+i+yj'ZQka+Sgn(Q)Zj:Q, j=1,2, ,n
1 1
] Zainj'Xmi‘l‘b:O, i=1,2, , M
1
x=20 j=1,2, ,n+m
yi=20 j=1,2, ,n+m
z=0 j=1,2, ,n
(7-17) , Xi Y i)
(7-20) , :
(X ,% , ,%+m,i,%, ,Yum2z=0,2=0, ,z=0)
(X , %, , %)
2
max f(X)=8x +10% - X - %
3% +2%< 6
X,»%= 0
min_f(X)=xf+x§-8)(1-10)@:%(2x§+2x§)-8x1-10x2
] 6-3%-2%20
x=0, »x=0
a = -8, c = - 10, G:1 =2, C: =2,
Q2:Q1:O, h:6, 811:-3, a, = -2
a C , il 2 ,

(7-19)

(7 -20)
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(ming(2) =2z + 2
-3+ -2x -2=-8
3 -2+ Y -2% - 2= -10

-3% -2% - %x+6=0

X, X,Xs,\%n,\ye,p,2,220

(ming(2) =2z + 2
2% +3y -y +2=8
3 2% +2y% -+ 2 =10

3Xt+2% + X =6

X, %,%,¥%,¥,¥B,2,220

ijj:O, j=1,2,3

( : X y; =0),
x =4 13, % =3313, x =0, w =0,
y =0, yp=32 13, z=0, =2=0

x =413, x =33 13, f(X )=21.3

x =413, ¥ =33 13,y: =0,y =0

ys =32 13 -
3
(7-3) , X ,
) ) x(k)
DY | Ak,
X1 = X9 +ADY R
f(x(k+l))< f(x(k)) (7'21)
)<(k+1) X(k+ 1)
1 { x(k)} !
Zoutendijk 1960 : Zoutendijk
X(k) X(k)
D:
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{‘Ff(x‘” ) D<0

7-22
'{ng(x(k))TD>O1 J .J ( )
D n:
Vi(X®)" D<n
-Vg (X?)'Dgn, j I (7-23)
n<o
VE(X®)'D  -Vg (X)) D( ) (
D )a ]
[(minn
Vi(x") D<n,
) '!;" (K \T . (k) (7'24)
-¥g(X7) Dsn, j J(X7)
- 1< d< 1, i=1,2, ,n
d(i=1,2, ,n) D (7-24) ,
, D, D
(7-24) (DY ), N« =0, X
C Vg (XY i IxXT)) X KT
N« <0, DY,
(1) g1 >0 €2 >0, X R, k: =0
(2)
IX?)={jlg(X")=0,1< j< I}
J(X)= | ), I VE(X)I *<eq, , XY
J(XPYy= 0 VE(XY)I 2 >e, DY = -Vf(XY),
(5)
IXNz
(3)
[ minn
| VE(XP) bsn
-Vg (X*) ' Dsn, ) I(xT)
- 1< d< 1, i=1,2, ,n
(D™ n)
(4)
In«|< €2
X(k). D(k)
(5)

A min f( XY +ADY)

0< A< A
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A=max{A g (XP +AD¥)> 0, j=1,2, I}

(6)
X(k+l) = X(k) +)\kD(k)

ki = k+ 1
(2)

3
{max_f(X)=4x1+4xz—>é—x§
Xt +2x< 4
{min f(X)=-4x -4% + X + %
a(X)=-x-2x%+4>0
X =(0,0)", f(X?)=0
2% - 4 -4
0= vy <[
(%) 2% - 4 ( ) -4
Va(x)=(-1,-2)
g (X?)=4>0, IX7)y= | )
I V(X)) 2 =(-4)°+(-4) =32
X ( )
D = -Vi(X”)=(4,4)
o {1
0 4] |4
, g (X?Y)=0, A=13
f(X”)= - 16\ - 16\ +16\° + 16\* =32\° - 32
F(XY) A C A=12 A AA=13), h=A=13
n_[4 4] ny_ 64
X ‘[3’3] f(X )= g
VeryWy_| 4 _A]T Dy _
f( X )-[ 3" 3] g (X7)=0
[ minn
4, 4
) -3d1-3dz3r]
d +2&k<n
- 1< d< 1, -1< k< 1

vw=d+1l, yvw=ak+1l, y=-n
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(min( - )

AT
) Vi +2y +yp< 3
B 2
v< 2
\ Vi,y,¥p=20
Ye ¥ ¥ yr ¥,

(min( - y» + My)
%m+§w-w-w+w=%
. Bot2y Yty =3
Yot ¥ =2

Yty =2

y20, j=1,2, ,8

y=2, =310, =410, yvy=%=¥%=0, y =17 10
nN=-y=-410,

SR EINE b

4 3+ }
43-0 N
f(X?)=1.49% - 0. & - 7.111

2)
M(d\x(—)‘=0, A =0.134

X? = Y}V 4\ pY :[

4 3+0.134 ]_[1.467J
43-07x0.134) L1239

g (X?)=0.05>0, X , A =0.134
X =(1.6,1.2)", f(X )=-7.2

|

(X )=-f(X )=7.2

4

SUM T (sequentia unconstrained minimization technique)
( (penalty function)), (barrier
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function) , , SUMT

4.1
(7-3) : (1)
_J[ 0 &0 7-25
P(t) = o <0 (7-25)
g ( X) t,
X R P(g(X))=0, j=1,2,
Xi R, P(g (X)) =o
e(X) = f(X) + zlw(gj(x)) (7-26)
ming( X) (7-27)
X, (7-25) W(g (X ))=0 X
R X (7-27) : (7-3)
(7-3) (7-27)
g(t) t=0
(t) —{ > &0 (7-28)
vy = £ t<0
g(t), t=0 : (Y Yy t X R
thb(gj(x)) =0
X0 R
0< le(gj(x)) < o
M>0, o(X)
P(X,M) = f(X) + lew(gi(x)) (7-29)
P(X, M) = f(X) + I\/IZ [min(0, g ( X))] (7-30)
min P( X, M) X(M)
X(M) R, , X R

f(X) + lew(g(xn = P(X, M)

2 P(X(M), M) = 1(X(M))
182 -



X R, f(X)= f(X(M))

Mib() P( X, M)
L M=1 my=10 M=1

letb( g (X)) -4

g(x)=x-a=0

g(x) =b- x>0
s () M,
M, X(M )0 R, , M
,min P( X, M) X( M) R “
O< M < M2 < < Mk <
{ X( M)} R (7-3) Xonin (
{ X( M)} )
f( X)
Mk
(1) M. > O( M. =1), € >0, ki=1
(2) ;
minP( X, Mc) = P(X"™, M)
P(X, M) = f(X) + Mkz [min(0, g ( X))]?
(3) j(1< j= 1)
- g(X")=ze
My 1 >Mk( , M1 =cM«,c=5 10), ki = k+1, 2
Xmm: X(k)
4

min f( X) = x + x
g(X)=-xX+x%=0
e(X)=x=20

P(X,M)=x + % + M{[min(0,(- X + x))]* +[min(0, x)]*}

—§:1+2M[min(0,( “ X+ %) (-2x%))] +2M[min(0, x )]
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—==1+2Mmin(0, (- X + x))]

X=(x,*x)",
- X+ %<0, x<0

_P__P_,
X X
min P( X, M)
_ 1 1 2
X(M)"[ T2(1+ M)’[4(1+ M)® 2|v|”
M=1,2,3,4 :
M=1: X=(-14,-716)
M=2: X=(-16,-209)
M=3: X=(-18,-29192)"
M=4: X= (-1 10, - 23 200)"
X(M) R R Moo, X( M) Xonin
=(0,0)"(  7-5)
P( X, M) E
7-5
4.2
(
); , f(X)
(
),
( ) ; R
f( X) ; R
R
( ) R R
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(7-3)
min P(X, 1) (7-31)

— _ 1
P(X,r) = f(X) + rkzl 50X’ (r« > 0) (7-32)
I_D(X,rk) = f(X) - rkz log(g (X)), (r > 0) (7-33)
R={X|g(X)>0, j=1,2, ,I} (7-34)
(7-32)  (7-33) , R ( o]
(X) =0), P( X, 1v)
X , (7-31) (
R ), 3
n>rn> > re > >0
, min P( X, r) X(re)
(7-3) Kmin ) Ik
(1) rn > 0( n=1), €>0
(2) X7 R, k:=1
(3) : ((7-32) ), (
(7-33) )
4) X7 R , ( R ):
min P( X, i) = P( X° | 1)
{* o (7-35)
XY = X(rn) R
P(X,r) (7-32)  (7-33)
(5)
| 1
I’kz1 gj(X(k)) < ¢
rkz log(g (X)) |< ¢
, X(k) Kin | , Merr < I’k(
n«1=rd 10 rn/5), ki=k+1, (3)
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IX™ - X2 <e

| FOX7) - F(X )| <e

5
’MnHM:%(me+m
< g(X)=x -1> 0
2 (X)=x=0
B _l 3 r
P(X,r)-3(x1+1) T ATt
_jé — 2 _
Xl—(x1+1) -(Xl_l)z_o
—P:]_-_I;:O
X X2
x (r)= 1+J?, ><z(r)=fr
X =lim {1+ 1, [f] =@,0)
6

min f( X) = x + %
g(X)=-x+x%=0
¢(X)=x20

P(X,1)=x +% - rlog( - X + %) - rlogx

7-1 7-6
7-1

r X () % (1)
r 1. 000 0.500 1. 250
I 0. 500 0.309 0. 595
s 0. 250 0.183 0. 283
fa 0. 100 0.085 0. 107
I's 0. 0001 0.000 0. 000

7-6
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X

S={jlg(X”)<0, 1< j< I}
To={jlg(X”)>0, 1< j< I}

S , X .S , S

To , ,
X(l) x(l)

(1) X E',rn>0( Lr=1), k=0

(2) S T

S={jlg(X")<0, 1< js |}
Te={jlg(X")>0, 1< < |}

(3) S , XY R, ,
(4)
(4)
1
p( X, 1K) = - i(X) +n , >0
( k) ZSng( ) kZTk gJ(X) k
X
K« ={ X[g(X)>0, o T}
. ( X, I’k),
min P(X,rk), XRk
)<(k+1) ’ X(k+1) ] ‘, (5)
(5) 0< resr < ri( r+1 = rd 10), k = k+ 1, (2)
20 40 ,1951 Kuhn T ucker
Kuhn - Tucker ,
Powd |

, 1982

(active set method)
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[8],[12],[13]

Fletcher R . Practicd Methods of Optimization, Vol .2, John Wiley & Sons . 1981 .
Edited by A .Bachem, M . Gr tschel and B . Korte, Mathematical Programming: The State of the
Art, Bonn 1982, Springer - Verlag, 1983 .

7.1 Xi , Y :
, (
)
Xi 2 4 6
yi 1 3 5 6
7.2
X -2% +3% =2
3 -2% +x =7
X+ x -x =1
7.3 ;
(min f(X) =X + % +8
< X - %= 0
(1) - % - % +2=0
X, Xe=2 0
(min f(X)=2X + % + % - x X
X + %< 4
(2) ) ,
5x + x =10
X, %, %= 0
7.4
f(x)=xX -6x+2
[0,10] , 8%
7.5 0. 618 7.4,
7.6
min f(X) =X + % + %
X" =(2,-2,1)", ,
7.7
f(X)=-(x -2)*-2%
X =(0,0)" , ; X =(0,1)"
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7.8 7.6

7.9
max f(X):X“%<§+2
X® =(4,0)7, A=1,
7.10
f(X):%XT AX
(11
_[1 2]
7.11 X" (i=1,2, ,n) A ( ), A nxn
i) (T
7.12
min f(X)=(x -2)+(x -2x)’
X® =(0.00,3.00)", 0.5
7.13 X% =(0,0)"
(1) ( 4 ),
(2) :
(3)
mn f(X)=2X + % +2x % + X - %
7.14 ( )
f(X)= X +2% -4x - 2% %
X® =(3,1)",
Al:[o.ﬂ’ AZ:{O ]
0 0.5
7.15
min f(X)=(x -2)° +(x% - 3)*
‘[ X +(x -2)°'2 4
X< 2
( (7-6) (7-7)):
(1) XV =(0,00"; (2 X7 =(2,2)"; (3 X¥=(3,2)]
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7.16 Kuhn-Tucker
max f(X)=C X+ X HX

AX< b
X= 0
A mx n , H nx n ,C n b m ,
7.17 Kuhn-Tucker
{maxf(x)z(x-f%)2
(1)
1< x< 5
{min f(x)=(x-3)°
(2)
1< x< 5
7.18
[ max f(X)=x
< X -2+ (x -1)°< 0
(x -1)°-%+2<0
X,»%=0
: Kukn-Tucker : Kuhn-Tucker
7.19
(min f(X)=2X -4x % +4% -6% - 3%
) X + X< 3
A + < 9
X, %= 0
7.20
(min f(X)=2X +2% -2x % -4% - 6%
) X + X< 2
X +5x< 5
X, %= 0
7.21 SUMT
{minf(X):xhxé
x =1
1 10
7.22 SUMT

[ max f(X)=x
(% -2)+(x -1)°<0
(x -1)° - (% -2)<0
X, X2 0
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7.23 SUMT
{min f(x) = (x+1)

x> 0
7.24 SUMT
{ min f(x) = x
0< x<1
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8-1

g(w)

g:

au,0< a< 1,

h=h(w)

b,0< b<1
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8-2

2x 3x 2x 2x 2x 1 =48 ,

18 :

123456

. B
B :
. B
{C,G,G}:
A G
1



A, : {B,B}, Kk Kk

(
S k 1
S , GC CGC C G {G,CG,G, G}
S={CG,&,G,C} , 1,2
S ={1,2,3,4} k S«
(
)
( )
(X, Yk, Z)
(X, Y, z) (X, Ve, Z)
3.
( )
Uk (&) k
S ,
Dk(S) k S
w(sx) Dv(s)
1 , B
D(B)={G,C,G}, G, GC B w(B)
w(B)=0GC
4,
k
( k )
{UK(S‘)1 ,Un(S)} k ' ) pk~”(8‘)

Pen(S) ={W(s), r1 (S+1), ,W(s)}
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k=1 , , pa(S)
pa(S)={u(s), u(s), ,w(s)}

) ) ) P
5.
k
Sk , Uk , k+1 S+ 1
S S Uk :
S+1 = Tk(S(,Uk)
k k+1 , T
1 S+1 = Uk ()
6.
Vk,n
Vicn = Vien (S, Uk, S+1, ,S+1),k=1,2, ,n
H ] Vk,n
S W Vis+1,n
Vin (S, U, S+, ,S+1) =Pk S, Uk, Verron(S+1,  , S+1)]
(1)
Vien (&, Uk, ,Sw+1)=szi(S,Uj)
Vi(s,u) ]
Vk,n(Sk,Lk, ,S]+1):Vi<(3,U<)+Vk+1,n($+1,Lk+l, ,S1+1)
(2)
Vien (&, Wk, ,S1+1)=E|kVi(S,UJ)
Vien (S, U,  ,S+1) = W(S, )Virrn (S, ks, , Se1)
: , fe(s) k )
n ,
fk(&)={ Opt}Vk,n(S,Lk, , Si+1)
Uk, ,Un
“ opt” (optimization) : min  max
1 ] Vk,n k SK
(s, W) = (s, W) k Sk S+1 = W(s)
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¢d(&,FR)=3, 5 E R 3 fu(x)
S« G ,  fa (D) 4 Du G
2.2
: A P H G
: P H G : P
A-B-C-DoEBEB-R-SG A G , D-BE-FR-G
D G
) P G )
A P : A G ,
Frilkdr _ :
L ] 1 I I 3 i d 1 '5 i El i ’
b - J 5 :
G :
s LR ik G
8-3
: 8-3
) l 1
= ) F. G ) fe(F1)=4 ,fG(FZ):3
=5 EEE = , R
] d(E,FR)+f(F) | 3+4
fs(E2) =min =mi =7
d(B,R)+f(FR) 5+3
US(El)zFl
, k& G 7,
E-FR-G
, B B :
) d(E,FR)+f(F) | 5+4
fs(E) =min = mi =5
d(E,R)+f(FR) 2+3
W(E)=F
. d(B,FR)+f(F) .| 6+4
fs(B) =min = mi =9
d(B,R)+f(R) 6+3
u(B)=F

A

Kk

197 -



fa(D) =7 w(Dh) =E
fa(D) =6 w(D)=E&
fa(D>) =8 w(bh) =E&
k=3
f:(G)=13 L(G)=D
f:(G) =10 W(G)=D
f:(G)=9 L(G)=D
f:(G) =12 b(GC)=D
k=2
f2(B) =13 kL(B)=GC
f.(B) =16 kL(B)=G
k=1 , A,
.{dl(A,Bl)Hz(Bl)} '”{5”3}
fi (A) = min =mi =
d(ABR)+ f2(B) 3+16
u(A) =B A 18
: : { u},
u(A=B,u(B)=G,u(C)=D,u(D)=E,u(BE)=FR,u(R)=G
A-B-CGCoD-EBEsRSG
Kk k+1
{ fi(s) =UKrTgik|(13k){dk(s,u(3)) + fier (W (s))} k=6,5,4,3,2,1
f7(s) =0( fo(s)=d(s,0))
, K k+1
(8-1)

f(s) =uk olpk'ESk){vk(s, h(s))+ frer ((s))}

k=n,n-1, ,1

fnea (S‘m+1) =0

(8-1)

(1)
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(2)

(3)

8-4

, A :
w (A w (B)
! l
A B G
( )
{w(A),w(B), ,w(k)},

l.b(Fz)
l
G

A-B-CG-D-BEB-R-G

®

8-4
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G A A G
1 : :
(1) 1 : 48 :
, a7 ; ,
6+12+24+48+48=138
: ( k=5 ) 3+3+4+4+1=
15 : ( B-G,B-GC
), 28 :
(2) ( ) ! A ( G
) G ( A ) ,
G ( A ) : :
(1) ;
(2) s, : :
(3) Uk Di(s);
(4) ;
(5) Vi :
Vin (S, ke,  ,S+1) =Wk S, Uk, Vier n (St , Uke1,  , Se1)]
Wk (S, W, Ve 1,n) Vi+1.n
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n

Vin = Zk VJ(S,U)

vi(s,u) |

Vicn = (S, k) + Ve 1, n[ Se1, , Sien |

Vk,n[s, pkn(&)]
Vk,n[s<, pk,n] = Vk(&, U() +Vk+1,n[S<+1 , pk+1,n]

P.n (&) W(S)  pPrran(Se1)
pen ={U(s), pern(se1)}
pen(s) s ,

fi(s) = Vin[S, Pun(s)] =<3|!otvk,n[$, Pen ()]

(p)pth,n(&, Pr.n) = (?)pt n}{Vk(S(, Uk) + Vir1n(Sern, Prr1n)}
k n

Ugr Prst,

=opt{ (s, W) + opt Vi+1,n}
Uy p

k+1,n

fk+1(8(+1) = Opt Vk+1,n(8(+1 , pk+1,n)

k+1,n

fk(S()ZUKORESk)[Vk(S(,Uk)'Ffk+1(S<+1)] k=n,n-1, ,1

far1(s+1) =0
S+1 = Te (&, W), :
,  k=n , : :
fi(s)
? k S
: Uk : 1 W (S+1) = &,
S W Sr1 S+1 Wk &,
$=Ti(S1, W)
K : Di (S+1)

fi(s«1)= opt {w(S+1,Ww)+ fk-a(s)} k=1,2, ,n

GRS
fo(s)=0
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S =Tk(S1, W) ; k=1

, fr(S+1),
3
20 50 , R Bellman ,
( )
n ,
k=0,1, ,n-1
p)*,n.1=(u§,Lf, ,Uw*-l) k

O<k<n-1 s S
Vo,n-1($,p;,n-1)=p opt (S){Vo,k-l(S,p),k-l)+

0,k-1 Po,k-1'%

opt Vin-1 (S, Pen-1)} (8-2)
Pin-1 pk,n—l(sk)
P12 =(Pok-1, Pen-1), = Te-1 (S1, Uk-1), )
Po.k- 1 Kk \ , opt max; V , Opt
min
. p;,n—l y
Von-1($,po-2)=  opt  Voni(S,p.n-1)

o,n-1 pO,n— 1

= opt [Voxk-1(9, pok-1) + Vien-1 (S, Pon-1)]

pO,n—l pO,n—l
k n-1
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Sk = Tk-l(S(-l,U(-l) Px.n-1

Sk Po.k-1
) Pon-1 ) pk,n-l(Sk)
, p)'k'l(s)
Von-1($, Pon-1) = opt { opt [Vok-1(S, po-1) +

Po,k-1 Po k-1(%) )
Prn-1 pk,n—lsk

Vicn-1( Sk, Pen-1)]}

pk,n—l ’
Von-1($, pon-1)=  opt {Vow1(S, p.c1)
Po.k-1 Po k-1
+ opt  Vkn-1( Sk, pn-1)}
pk,n—l pKn—l
P.n-1 = (P.k-1, Pen-1) , Sk (8, pox-1)

Vin-1( Sk, Prn-1)t opt Vicn-1 (S, Prn-1)
Pkn-1 Pren-1 (i
B : opt max “ <7, opt min
7 ’(8_2)
Von-1(S,n1)=Vox-1(8,k-1)+ Ven-1(Sk, Pon-1)
t Vox1(S, pr-1)+ opt Vin-1( Sc, Pen-1)
Pon-1 Pion-1 (i

t opt ){Vo,k.l(s),p),k.l)+

Po, k-1 Po,k-1(%
opt Vin-1( S, Pen-1)}

Pk, n- 1 pk,n—l(sk)
:VO,n—l (5 y p;,n—l)

P (8-2) , D1,
Von-1 (9, pon-1)t Von1(8, po*,n-l)

oot
P s : k,0<k<n-1,

S = Te-1(Se1, We-1) k n-1 , (
S S  Pr-1 )
pen- 1 ,

Vicn-1 (&, Pen-1) < opt  Vin 1 (S, Pen-1)

P 1 Py 1 (5)

o< opt max <7 opt min o>

Von-1 (9, p;,n-l) =V0,k—1(3),p)*,k—1) + Vk,n—l(S: ) pknl)
<Vox1(8, p;,k-l)"' opt Vien-1 (& , Prn-1)
Pion-1 Pion-1(8)
< opt {Vox-1(8, P x-1) + opt Vicn-1 (&, Pon-1)}

Py L. q(3)
ok-1 Fok-1(9 Pkn-1 Pin-1 (R

*
pk,n- 1

203 -



8-6 n
HE o mﬁ . 5y -1 - L7
— | —— p—— i —
ﬁ'ﬂﬁ ¥, {""1 . X)) L ':-'?l. , X )
8-6
S,$, y Sy X, X,

S+1( ),

£
L
i it
T I:-':.l s Xn ,]'
, X k

S+1 = Tw(s, x), k=1,2, ,n

( ) (
Vin=w(s,Xx)*w(s,x)*

11 *x N 113 + ” 1] x ”

Vl,n, y maX Vl,n

4.1

S, fu(s)
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* Va(S, Xn)
Vl,n

Xk

opt



fn(s):xmax)vn(s,xn)

n ntn

Dn(s) S n :
X = X (S) f(s), ,  Dn(s) , X Dn(s)

Xn = X (S)

n-1 ,
fn-1(Sl-1):X max )[Vn—l(Sl—l,Xn—l)* fo(s)]

n-1 Dn(Sn-l
S=Th1(S-1, X-1); ) Xn-1 = Xn-1(S-1)

fn-l(Sl-l)

K :
fre(s) :kaD%k)[vk(sk, Xe) * frra(Se1)]
S+1 = Tu (S, X) Xk = Xk (&) fr ()
fl(s):XImD%l)[vl(s,m)* f2(9)]
s=Ti(s,x); X =% (S) fi(s)

S , X =x(s) f(s) : s=Ti(s,x)

X =%(3) f2(3) : :

3
max z= x- Y- X
{x1+x2+>@:c (¢c> 0)
x=0, 1=1,2,3
S s Ss s, s =g X X X ;
fo(s) Kk s, k 3
S =% S+x =58 s+x=s=¢C
X = S O< x< s 0O< x<s=c
fa(s) =max(x)=s X =S

2 2

MSFE%%DéfNSHaﬂ%Jéw-mﬂ=g@§bwm»)

dh _ _ _2 _
dX2—2x23-3x2—0 X =58 X = 0( )
dh _ d h _ 2
4 =2s -6x, dx xzzéa_'23<o’ X =58
_4 C_2
f2 (s —27§ X =3
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fl(s):OSer\%xs[m-

f2(s)] = max

0< x1< s1

{xl- 2;"7(3 - x1)3]

X =—4g
4
fi(s)= 6%1
S =¢, ;

_1 _ 1.

X1 —40, fl(C)—640

§=S - X% =C-7,C=7,
- _2_ _ 1 _ 41
Xo —33—20, f2(g) = 16
S=§ éc ic—ic

IR Tt oty

1 _ 1

X3—4C, fs(S)—4C
X =Eex =wex =+

_4 ) _2 ) 3_4

max z—f(c)—lc
- VY T 64
4.2
Si+1, fk(S) k S,
k
S+1 )
8'6 y S+1 y S ]
, S = TI: (S(+1,Xk); )
S+1 Xk Sk
fi(s)= max wi(s,x) s=T:i (s,%)
1 11
x =% () fi(s) D (s) : x Di(s)
x =X (%)
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f2(s)= max [w(s,x)* fi(g)]
X3 Dy(s)

s=T:(s,%), X =% (S) f2 (%)
, n ;
fn(SHl):XﬂrTI]Dan?(Sn)[Vn(S,Xn) * faoa(s)]
S =Tn(Se1, %) Xo = Xn(Sie1) fo(Sw1)
Si+1 , X = X (S+1)  fa(S+1)
, $,S, ,S, :
, fi(s) , :
, S k
4 3
S =C, fi(s+1) k Skr1, 1
k
S=X,S+%=S,S+sS=s=¢C
Xx =9,08 < 5,08 %< s
fl(s):xm%((s):ﬁ X =§
1
fi(s) = max [ f(s)] =, max [%(s - )(2)]=2A7)é
x =43
3
fa(s)= max [%- f.(s)] = max{Xa- A(s -x;)a]:ig
0 X< 5, 0% x5 5, 27 64
X =—+g
4
s =cC X =2c % =4cx =4
’ 4" 2" 4"
max z= = ¢
64
S = ¢, 3 ?
S =S+1+ X, k=1,2,3 :
$+1< S< C
: X +S =S =CX+S=3,%+S =85
=9 -3=C-%,0 x<s-s8<¢cC-5,
O£ x< s -s<cC-sS
fl(s)=Xlrggxsz(x1)=c-s X =C- S

f2(s)= max [% fi(s)] = max [%(c-S - x)]
0< xzsc-s3 Osxzsc-53
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=5 (c s)’ X :%(c-s)
fa(s)= max [ x f2(s)] = max {xg A(c-s-xs)‘"’}
0s x5 o s, 0s xs o s, 27
=6—14(c-s)3 X =%(c-9)
S : $ ,
max f: (s)= max l(c-&)3
Max, X 64
: s=0 ,f:(s)
X =tcx =tox ==¢
4 2 4
max z= fs (0 -Llg
64
$ S S S, S$=¢ ;
fr(s) k s, 1 k ,
fi(s)= max (x)
1708
f2(s)=_ 5?53552[%1‘1(3)]
f3(3)=05'}23c>_<53[>@f2(5)]
5
max F=4x - X2 +2% +12
{3)@ +2% + %< 9
x>0, 1=1,2,3
$ S s S,
X X X ;
k S, 1 k
3% =5,9+t2% =5,%9+x% =8<9
x =8/ 3,0 %< 3/2,0€ <8

fi(s)= max (4%) ="

9 x =s/ 3

f(s) =, ma [- %+ f(s)=, mac | - %+ g(s-2x)
:0s';<]2§)s(2/2h(s’)(2)
m=sz-£3$=0 x2=§s
dx 9 9 7
, h(s, x)
_4 . S| _ 2
h(0)="gs,h| 5 |=-94
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Xk

h(s,x)

(1)

(2)

4.3

x =0 | f(s) =23 X
9
fa(s) :O<max%[2xf, +12+ f.(s)]
_X3S
= max{in +12+A(s-x3)2}: max h (s, %)
OSX3SSS> 9 Osx3553
dh _ 44 8 -0 _2
dx 9 * 9%~ * =118
dh 44
aX —9
ha(0)=%§+12, h(s)=28 +12
=5 fa(x) =235 +12
) S 1)
max, fa(s)=05n33a<x9[233 +12]
t(s) f1(9)=2x & +12=174
x« =0,% =0,% =9;
max F= f.(9) =174
, Y =3X,p 2%, = X,
_A 2 lz 2
max F—gyl- 4yz+2ys +12
{w+w+ws9
y=0, i=1,2,3
X
h h : ;
: fi() ;
, o fe(s)
Xk , Dk(S)
, S [s,s],
s [S, s] ,
As k {s,s+As ,s+mAg
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S+ mAx S< S+(mk+1)As

{fmds”)=0

f () = OE}S){Vk(S(, k) + fera(s+1)}, k=n, ,2,1
Se1 = T (s, &), s S S s S S
( 8_7) ’
(1) 8-7 { f(s)} ,
1 { Xk } , ,
n
f ||:5:]'=D
i=n N py— R
- (1, =3} | ':E'h:!; © ﬁﬂj__.lr; s
L 1 \\
,_.|r|. {h ]'=“Ft{'-'|. {-‘t i ]'+f;+1[Tt k=1 k=1
— I i i
(22 ) J=my (np ) 4 (20 ) s =4, s =
r 1 '
| #ﬁﬁﬂfmﬁhd | et i (st)
5y =5y +As
kst xt (s
. f'r_l T _i Bt i L)
4( i L (e )
(D, =5 | IE:L': i 7 I : (3” I se =T (5, %0 )
it ]
HR g .j
Feoa s ) =F, (3, )
E=1% :E T
|
k = k-1
i R AR S () MK s, , x,
8-7
(2) :
: k fu(s) X ()
S(!
(3) ,
(4) fk+1(3+1) k , k -1
fo(s) , k-1 f(s)  fuer (Se1)
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Xk

(5) fi(s) s
S+1
Sk+ 1
x (9 X (),
( )
)
?
(1)
(
(2)
(3)
(1)

{ %}

s=5+ A0 j< m)
S = Te(S, Xk ) (X  Dr(s))
fk+1($+1)

f1 (9

f (9
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(2)

(3) y oo " , { f(s)} S

fx m, n , m"
2% = 32768

n 1 2 3 4 5

32768 181 32 13 8
( )

) 1985
1985 ( 1985 10 8 )

8.1 1 2 (1) : (2)

; (3) ; (4) ; (5)
8.2 :
8-8 , ?

8-8

8.3 A BC D 8-9
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8.4
1) max z= (X 2) min z= G X
(1) Zl (%) (2) Zl
{z xi=b (b>0) {Z axiz b (a>0)
1 1
xi2 0, (i=1,2, ,n) xi=2 0, (i=1,2, ,n)
8.5
(1) max z=4x +9% + 2% (2) max z=4x +9% + 2%
{x1+x2+>@=10 {2x1+4x2+3xes 10
xi=z0, 1=1,2,3 xi= 0, 1=1,2,3
(3) max z=x % (4) min z=3% - 5% +3% - 3% +2% - 7%
{Z Xi=c (c>0) {2><1+3x2+2x32 16
1
iz 0, i=1.2 n xi= 0, 1=1,2,3

n

(5) max z=3xX -4x +2% -5% +2% (6) min z= Z X" (p>1)

1

{4)(1+2X2+3X3S 18 {Zi Xx=c (c>0)

x20, 1=1,2,3 x>0, i=1,2, .n

8.6 400 ,
« Ix , ( 10%)

(1) ;
(2) ;
(3) :
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1
(
)’ 1
1.1
, a, n Xi I
g(x) : n 2
max z= g (x)+ @¢(x)+ +o(x)
X+ X+ +X=a
x=0, i=1,2, ,n
g(x) : , g(x)
n : ,
Xi
S k n
Wk k , Uk = Xk
S+1 = S - k= & - Xk
Dv(s) ={w |0 Wk = < &}

f(s) S k n
+fk(S):0<rT]<a<Xs{gk(Xk)+fk+1(${'Xk)}, k=n-1, ,1
fa(s) =max gn( )

fi(a)
1 : ,

9-1
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9-1

/
0 0 0 0
1 3 5 4
2 7 10 6
3 9 11 11
4 12 11 12
5 13 11 12
, 123
S k n
Xk k
S+1 = K - X« k+ 1 n
Pk(Xk) Xk k
fr(s) S k n
{ f(s)=_max [Pe(x)+ fr (s - x)], k=3,2,1
SXkSSk
fa(s)=0
S ($=0,1,2,3,4,5) :
fa(s)=max[Ps(x)]
X3
x=%=0,1,2,3,4,5
9-2
9-2
X3 Ps (%) .
f3(s) %
0 1 2 3 4 5
0 0 0 0
1 4 4 1
2 6 6 2
3 11 11 3
4 12 12 4
5 12 12 5

215 -



X fa(s)
S (s =0,1,2,3,4,5) :

fz(s):rrlax[Pz(x2)+ fa (s - %)]

*x =0,1,2,3,4,5

X oo, (%), S - X%
f3(s - %) X , R(x)+ (s - x)
9-3
9-3
X (%) + fs(s - x) .
3 0 1 2 3 4 5 (s *
0 0 0 0
1 0+4 5+0 5 1
2 0+6 | 5+4 | 10+0 10 2
3 0+11 5+6 10+4 | 11+0 14 2
4 0+12 [ 5+11 | 10+6 | 11+4 | 11+0 16 1,2
5 0+12 | 5+12 | 10+11 | 11+6 | 11+4 | 11+0 21 2
( s =5 ) :
f1(5)=mx<1':1><[|01(><1)+fz(5-><1)]
x=0,1,2,3,4,5
X, p(x%), 5-x
f2(5- x) x o, p(x)+ 2(5-x) :
: 9-4
9-4
X p(x)+ f2(5- %) .
3 0 1 2 3 4 5 ") :
5 0+21 | 3+16 | 7+14 | 9+10 | 12+5 | 13+0 21 0,2
(1) x =0, s=s-x =5-0=5, 9-3 % =2, S=§-X =
5-2=3, x% =s=3 o , 3
(2) x =2, s=s-x =5-2=3, 9-3 X =2, S=§-X =



21
5 4 3
4 , x =1, % =2, % =1; XX =2, % =2,
x =0, 17
3 : x =0,% =2,x% =1, 14
S : A B L
A, S -u B, g(w) + h(s - w), g(w) h(w)
,9(0)=h(0)=0 A B ,
O<a<l O0<b<1, :
s=au +b(s - w) S b S - W A B
glw)+h(s - w) n
A tb,W, ,U, ?

max z={g(w)+ h(s -u)+g(u)+h(s-w)+ +g(w)+h(s- )}
(s =z—aw+Db(s - uw)

s =aw +b(s - w)

S+1=alh +b(s - w)
L0< u< s, 1=1,2, ,n

Uk : k ( k ) A S - W
S+1 = alk + b(s - W)

fr( ) &, k n

(fu(s) =, max { g(w) + h(s - u)}

1 fe(s) = max {g(u) + (s - u) + fet [au + Bs - u)]} (9-1)

k=n-1, ,2,1
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fl(S)

2
g=8u, L
a=0.7; h=5y, y
b=09
s =1000
Kk
S k : k-1
Uk k , S - Wk
S Uk y ’ S(:O 61
k g 10; u=0 3,
S+i1=ak+b(s- w)=07u+09(s - w), k=1,2, ,5
k Di(x) ={ |0 W< s}
Vi (S, W) Kk ,
Vi = 8k +5( & - W)
Vis = z Vi (S, Uk)
fe(s) S : k 5
fe (3)=0
f(s) = ma3<5k){8u +5(s- W) + fks1 [0O7U+0 9(s - w)]}
Up Dy
k=1,2,3,4,5
S ,
k=5
f5(s)=0<max55{8w +5(s - )+ fe[0O76+0 9(s - u)]}
_USS
= max {8u +5(s - u)}
0< usss5
= max {3u +5s}
0< usss5
fs W , b =S, fs(s) =8s
k=4 |,
f4(s)=o<rr3qxs{8u +5(s - u)+ fs[0O.7w +0 9(s - u)]}
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3 10



= maxs{8u4 +5(s - uw)+8[0.7u+0 9(s - w)]}

0< u

IN

= max {13 6w +12 2(s - u)}

0

IN
f=
IN

S
4 4

= max {1 4w +12 2s}

0< u S
4 4

IN

W =S, fa(s) =13 6s ,
&k =S, fs(s) =17 5s
w =0, f(s) =20 8s
u =0, fi(s) =23 7s
s =1000, fi(s)=23700( )
; W =0, =0, =S, =S, =S,
, 23700
s =1000
s=07w +09(s -uw )=029s =900( )
s=07w +02(s-w )=09s=810( )
$s=07w +09(s -w )=0.7s=567( )
$s=07w +09(s -w )=0.7s=397( )
$=076 +09(s-u )=0.7s=278( )
: S : $
500 ( 278 ), ;
?
n , g=cu,h=duw,
c>d a b,0<a<b<l
S+1 = ak + b( s - w), k=1,2, ,n
k
W=clk+ d(s - W), k=1,2, ,n
fr () S : k n

fn+1(S1+1) =0

fu(s) = max {cu + d(s - W) + fuer [a + b(s - w)]}

0< uks S

k=1,2, ,n

c d>0,

(9-2)
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: n
1< £ n , 1 t-1 LN
t abcd
,(b- a)
t ,(c- d)
(9-2) t (b-a) (c- d)
Zk:Uk/Sk ZkZO, Zkzl
fn(S) = max {cn +d(s - )}
=,max {(c- d)u+ ds)
= max {(c- d)¢n+ d s
c> d, (n 1 fn(&)
fn(s) =cs
n-1 (9-2)

fn.l(s.1)=0< max {cth-1+ d(s-1- U-1)+ fu(s)}

= Upo1S Sho

=max{Ch-1 + d(S-1 - lh-1) +CS}

Un-1

:runax{cun.l +d(S-1- W)+ dak-1 +b(s-1 - h-1)]}

n-1

=runax{[(c- d -c(b-a]wmi1+ (d+ch)s- 1}
=max{[(c- d) - c(b- &)]¢n-1 +(d+ D)} s-1

c- d>c(b- a)
{n1=1 n-1 . (9-4)
(n-1=0, n
k
k Z: =0 = =« =0 l« =0
(9-4) (ooi=1, (9-3)

fr.i(s-1)=(ctca)s-: =¢(l+a)s-:
S-1=atkh-2+b(s-2 - h-2),
for(s-1)=c(l+a[(a- b2+ bs- 2]
n-2 , (9-2)
fn.z(s.z):o< max {Ch-2+d(S-2- U-2)+ fn-1(S-1)}

=runax{cun.2 +d(s-2-W:2)+c(l+a)[(a-b)h-2+Dbs 2]}

n-2

220 -

(9-3)

(9-4)



=runax{[(c- d-cl+a)(b-a)]wm:2+[d+c(l+a)bs -2}
=Enax{[(c- d-cl+a(b-a]lnz+d+cb(l+a)}s-:

c- d>c¢(l+a)(b- a)

t
fi(s) = muax{cu +d(s - W)+ fi(s+1)}

t

{c- d>c(l+a+d+ +a ““"?)(b- a)

c-d<cl+a+d&+ +d ") (b- a) (9-5)
(o =Cn-r= =0 =1
{: =0: = =0i-1=0
2
a,becd : t (9-5)
1< € n-1
a=0.7,b=038,c=8,d=5, (9-5)
c-d 1-dc__1-58 3 _ _
c(b-a) b-a 09-07 16 L8P>1+a=1+07
,n-t-1=5-t-1=1, t=3
g( x) h(x) , ,
g(x) h(x) h(0) = g(0) =0
g(x)
h( x)
x [0,s] ,
x [0,s] . 9(x)  h(x)
fi (%) ;o 9(x) h(x)
: (9-1)
[0, s] , X=0,A,2A, ,mMA=s5s A
fi ( X)
(9-1)

fo () = max{ g(JA) + h(A - JA)}
fe(Bd) = max{g(jA) + h(A - JA) + fier[a(JA) +B(A - JA) ]}

k=n-1, ,2,1
i=0,1, ,m , fa(A), fooa(ind), , fi(Q)
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fl(mﬁ)= fl(S)

1.2
: a b , n
X , Vi , l
g(x,y) n ?
(max [g (%, %)+ G(%,¥)+ +G(X, )]
Jxtxt+t +x=a
yi+y+ +ym=Db
(x>0, y=20, (i=1,2, ,n)
(X, y):
X——— n
y— n
(Xc, Y):
Xk k
Yk Kk
X= X - Xk
Y=Y- W
X Y k+ 1 n
o _JL 0O< x< x}
k(X,Y) =] W 0< yi<
fe( X, Y) X , y
k n
[ (X, ) = g (X, Y)
JB(xy) = max [ge( X, ye) + fier(X- X, y- y)]
O_Sykk_sy
k=n-1, ,1
fl(a,b)
a( X, y)
1.
)\1
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max {g(%,y)+@(x,¥)+ +&(X, W) -A(ynp+y+ +y)}

X + X + + X = a

x=0,y=0, i=1,2, ,n
A
hi(xi)=h()q,)\)=ryrjza(>)<[gi(><a,yi)—)\yi]
Iimm_mzo
Y- Vi
max [h(x)+h(x)+ +h(x)]
X+ X% + +xn=a X=0
, , A
X A , v A xi=xMA),y=yQ)
5 yi(A) =b, {x,y} 5 yi(\)# b, A
( A), Z;S;Q)::b
2.
X0 = (X7, 8, K0 5 A =a Cx X9,
y

0)

JLmaX[gl(X%O),yl)+92(X§ ) E 0 (X )]

yi+y+ +yva=b y=20

VAR SN O y v,

n

{max Zl g(x,y”)

2 x=a x=0

X(l) :{ )él) ’ )él) 1 ’ XEwl) }’ X X(l) ’ y

{xX"}{y"}(k=0,1, )

n n n

S a0 sy g s T g0 )
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1.3

Xk 2

(1)
z=0,1,

224 -

, Z

(5 o0s

Yk

VO

ab
fe( X, y)

max Z e (X, Yk)

z(0 = 2)

‘Zn X« = X
1
3

L aX+DbY< Z

m

0 x£ 4,0 y< b

m
(m+1)-

I'k( Xk , yk)

Xk

(m+1)-

(m +1)

1

aX+ bY< Z

rk(xk, yk)

Z= aX+ bY

X

(m+1)

R (2),



(7 b)

Yk
(2)

(3) (2,

2.1

o ( %) k

ax ( a

he (W)

" | 1 X
R (2)
R(z)= _m ,(“,){ fHZ—abH y”
2 [Z—abﬂ] ‘
1
f(2)

fi(2) = :rgl’gxyz[R(zk) + fier(Z2- )]

k

fn(2) = Ri(2)

2
( )
( )
)
n ( )
)
n
, X k (
Vk = W-1 + X - Ok
Xk : K
)
0 X« =0
o(x) =7 K+ ax« xx=1,2, ,m
0 Xk > m
Vi

Ce (X ) + he( %)

, Xk =

225 -



n

min g= Zl [a( %) + h(w)]

(w=0,vw=0

K
W:Z (xi-d)=0 k=2, ,n-1

0 %< m k=1,2, ,n
L Xk k=1121 ln
. n
V- 1 , k
Xk , k
Vk = W-1 + Xk - Gk k=1, 2, , N
fk(Vk) 1 0 k Vi
f (W) :O<min [ac(xk) + (W) + fu-n (W-1)] k=1, ,n

_XkSO'k
ok =min(w + dk, m) m;
, k-1 Vk- 1 , W+ dk - = 0, X< W + Ok

fo(w)=0( fl(vl)=xn'1:i0n[e(x1)+h(v1)]), :

, K, f(W) % 0 min[z d.m- d
jber 1
fa (0)
) G(X<) O«
X =0
G((Xk)z{
K+ axX« X« =1,2,
Ok = W + Ok
K, fi (W 2 0 d;
k( k) jZ+1 ]
3 ,
9-5
9-5
(K) 1 2 3 4
(dv) 2 3 2 4
3 : 0;
) 6 )
, 05 0,
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: k
0 X« =0
G(xXc)=13+1 X xx=1,2, ,6
00 Xk > 6
Kk Vi
h« (W) =0 5w
k Ce (X ) + he(w)

f (W) :Osrpisnck[u(xk) + he(w)+ feer(W+ dk - )], k=2,3,4

ok =min(w + d, 6)
fi(u) = min )[G(Xl)"‘hl(\ﬁ)]

xlzmin(vl+dl,5
k=1 ,
fi(w)= min [a(x)+h(u)]

x1:m|n(vl+2,5)
4

w O min[z d,m- a&]=min[9,6-2] =4
2

w=0 , fi(0)=min[3+x +0 5x0]=5 X =2
X =
w=1 , fi(1)=min[3+x+05x1]=65 % =3
X =
w=2 , fi(2)=min[3+x +05x2]=8 x =4
X =
f.(3)=9 5 x =5
f1(4) =11 % =6

fz(vz):OSrpiSnc [e(x)+h(w)+ fi(vw+3- x%)]

o =min(w+3,6) v O min[z d,6-3] =min[6,3] =3

f2(0) = min [a (%) + h (0) + f1(3- %)]

[ 2 (0) + h(0)+ f.(3)] [0+9 5]
|l e(1) + h(0)+ fi1(2) | 4+8
= min =min =95 x =0
c(2) + h(0)+ fi (1) 5+6 5
L e (3) + h(0)+ f. (0) L6+5
fz(l):OSmxziD4[(‘2()(2)+|’b(l)+ fi(4- %x)]=115 X2 =0
fz(2)=ogmxzisns[cz(xz)+b(2)+ fi(5- x%)]=14 X2 =5

227 -



f2 (3) =oSmx2iDe[Q(X2) +h(3)+ fi(6- )] =155

os = min(

k=4

f.(2) f(3) , 6
, f1(5)= f1(6) = oo ,

fo(w)= min [a(%) +h(w)+ f(w+2-x)]

+2,6) v 0 min[4,6-2]=4
fs(0) = 14
fs(1) = 16
f2(2) =17 5
f2(3) =19
fs(4) =20 5
4 0,

X X X X &
I
© o uun b O O

<
I

fe(0)= min [a(x)+h (0) + fa(4- )]

= min

9-6

| G (0) + fs(4)] [0+20 5]
e (1) + f:(3) 4 +19
G(2) + fs(2)| =min 5+17 5/ =20 5 X
G (3) + fs (1) 6+ 16

1
o

L (4) + fs(0) L 7+14
X =5 %=0,%=6,% =0
20 5
9'6, )

X2 =6

f. (5)

di

Xi

Vi

(1)
(2)

(2)

228 -

I, Vv-1- x=0,(i=1,2,3,4) b

[
o

i, Vi-1 X =0, ( X= %,



w =0 Vn=0, 0
g(x) S ( ), 9(x) S
c(j, ) (js 1) j i , j-1 , ]
i ]
o(j,i):q[z d.] + IORDY hs[t ) d) (9-6)
fi [ vi=0 , 1 i
ftzlmigni[f;.1+c(j,i)] i=1,2, ,n (9-7)
fo=0 (9'8)
: fi, 2, , fa fa(0) n
j(n) fo o (9-7) [
fn:lmisnn[fj.1+c(j,n)]:fj<n).1+c(j(n),n)
j(n) n
Xi(n = d
n)
Xs =0 s=j(n+1,j(n)+2, ,n
j(n -1 j(n) -1 1
m=j(n) -1, j(m) fm o (9-7) [ j(m)
j(n) :
Jm: d;
Xj(m) SZm)
Xs =0 s=j(m+1,j(m+2, ,m
j(m) -1
4 3
0 x =0
G(x)=73+x xi=12, ,6 h(v)=0 5w
00 X >6
(1) (9-6) cj,i), 1= j<i, 1=1,2,3,4

¢(1,1) = ¢(2) + h(0) =5
¢(1,2) =¢(5) + h(3) =3+5+0 5x 3=9 5
¢(1,3)=¢(7) + h(5) + h(2) =0 +0 5x 5+0 5x 2=
¢(1,4) = o(11) + h(9) + h(6) + h(4) =
«(2,2) = ¢(3) + h(0) =6 o(2,3) =¢(5) + h(2) =9
o(2,4) = ¢(9) + h(6) + h(4) =00 (3,3) = ¢(2) + h(0) =5
229 -



o(3,4) = o(6) + h(4) =11

c(4,4) =c(4) =7

(2) (9-7) (9-8) fi
fo =0
fi=fo+c¢(1,1)=0+5=5 j(1) =1
fo =min[ fo + c(1,2), f1 + ¢(2,2)]
=min[0+9 5,5+6] =9 5 j(2) =1
fs =min[ fo + ¢(1,3), 1. +¢(2,3), f2 +¢(3,3)]
=min[0+o ,5+9,9 5+5] =14 j(3) =2
fa =min[ fo + c(1,4), f1 + ¢(2,4), f2 + ¢(3,4), fs + ¢c(4,4)]
=min[0+o ,5+00 9 5+11,14+7]
=20 5 j(4) =3
(3)
j(4) =3, x=k+d=6,%=0
m=j(4) - 1=3-1=2, j(m) =j(2) =1
x =th+ =5, %=0
X =5, %=0,%=6,% =0
20 5
[8]
5
9-7
9-7
k 0 1 2 3 4 5 6
ok 0 8 5 3 2 7 4
a 11 18 13 17 20 10
H=9, 2,
, k
S k ( ,
Lk k
S+1 = S+ W - Gk k=0,1, ,6 (9-9)

230 -



di< s< H (9-10)

Di(s) ={u:w= 0, dk+1< S+ Wk - k< H} (9-11)
fk(S) k Sk ) Kk 6

fk(a)zungil(w)[auk+fk+1(&+u—dk)], k=0,1, ,6
k k'S (9_12)
f7(s)=0
k=6 0, s=0 :
6 , W=0 fe (s) =0, (9-9) s=a¢ =4
k=5 , (9-9) s=s+ukL-&, u=1l-s

fs(S):u miln%(a k) =10(11 - s) =110 - 10s

U =11- s
k=4
fa(s)= min [aw+ fs(s+w-d)]
U Du(y)
=n3jn [20: + 110 - 10(s + w - 2)]
= ngin [10w - 10s +130]
U Dv(s) (9-11)
d< s+ w - s H, 9-s< w<11- s
w= 0, max [0,9- s]< u<s 11- s
(9-10) :8< 9, D(s)
9-s< w<s11-s
fa(s)=10(9- s) - 10s +130= 220 - 20s U =9-s
k=3 ,
fs3(s)= mn [ak+ fa(s+W- &)]
U 03(53)
:rrgin[17u;+220-20(3+w-3)]
=n3in[—3u;—20s+280]
3
(9-11) D:(s) max [0,5- s]< u< 12 -3
fs (s) =244 - 17s L =12-s
k=2
f2(s)= mn [ak+ (s+tw-d)]
u, D,(s)
=min[ - 4w - 17s + 329]
)
D:(s) max [0,8- s]< w<s 14- s
f.(s) =273 - 13s w =14 - s

231 -



fl(s):u rrgip)[a[ul+ f(s+w-d)]

1 1

=min[5w - 13s + 377]

D:(s) 13-s<u<1l7-5s
fi(s) =442 - 18s w =13 - s
k=0

fo(s):u rrgin [aw+ (s +w-d)]

b DPoly)

=min[ - 7w +442 - 18s]

0

Do(s) 8-s<u<9-s
fo(9) =379 - 11s bW =9-8
$ =2, fo = 357 b =7
y (9_9) y
W=7, U =4, U =9, & =3 Uu=0 u=4
0 5 :7,4,9,3,0,4, 357
2.2
6 ,
’ 9'8
9-8
500 03
600 03
700 04
’ 5 5 1
Yk ) k
Xk , Xk =1, k ; X« =0, k
Yke k )
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fk(yk) k Y« ) Kk 5

fc( W) =min{ y«, Y }, Ve & (9-13)
fs(Y) =¥, ¥ S (9-14)
s = {500, 600, 700} , k=1,2,3,4,5 (9-15)

Yke fk(yk)
Ve = Efkes (Yke1) =0 3 fk+1 (500) +0 3 fu+1(600) + 0 4 fu+1 (700) (9-16)

N =JL ) f (Yi) = W (9-17)
oC ) fi(ye) = yre

k=5, fs(y)=¥.% s,
fs (500) =500, fs (600) =600, fs (700) =700
k=4 , (9-16)
yie =0 3 f5(500) +0 3 f5(600) +0 4 f5(700)
=0 3x 500 +0 3x 600 +0 4x 700 =610
., (9-13)
fa(y) = ymilsﬁ{ Vo, Yae} = ymip{ ya , 610}
500 y» =500
—< 600 y: =600
610 y» =700
(9-17) :
{1( ) y: =500 600
X =
O( ) y» =700

fs(ys) =min{ys, e} = min{ ys, 574}
3 3 3 3

_{ 500 s =500
574 y» =600 700
{1 s =500
X3 =
0 ys =600 700
f2(y) =min{ y, e} = min{y,551 8}
Y2 % Y2 %
_{ 500 y> =500
551 8 v =600 700
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{1 y» =500
X =

0 y» =600 700
fi(y) = yrlnig{ Vi, Yie} = yrpig{ y: ,536 26}
_{ 500 yi = 500
[ 536 26 yi =600 700
{ 1 yi =500
¥ =
0 y. =600 700
, : , 500
, 500 600 , , ,

500x 0 3[1+07+07+07 +0.7°x 0 4]+
600x 0 3[0 .7 +0 4x 0 7] +700x 0 #x 0 .7°
= 500x 0 80106 + 600x 0 .14406 + 700x 0 05488
= 525 382= 525
0 80106 +0 14406 + 0 05488=1

3
) a
; n 1,2, ,n i
( ) Xi ci(x)
( ) ,
i ;
maxfzzn G(x)
{Z Wi Xi< a
x>0 (i=1,2, ,n)
X 0O 1, 0—1
n n
w 1 k
Xk k

W= W- XkWk

D« (w) ={ Xk |0 X< {wﬂH

k

Wi



f (w) w : 1 k

fe(w) = o max ]{Q(xk)+ fi-i(W- WeXk)}2< k€ n
xk: 1, ,ka
: fi(w), f2(w), ,fa(w) x (W), % (w), , X (w),
fn () :
7 max f=4x +5x +6X%
{3)@ +4x +5x< 10
xi= 0 , 1=1,2,3
: f2 (10)
f: (10) = 3x1+4rx?§§(x3510 {4% +5% +6x}
xiz 0, ,i=1,2,3
= 3><1+4I;<T2.]saz(0—5><3 {4)(1+5X2 +(6X3)}
xiz 0, ,i=1,2,3
= max {6x + max [4% +5% ]}
10-5x320 3x1+4x2+5x35 10-5x3
x32 0, xlz 0,x22 0,
:eroa>1<2{6xe + f2(10- 5x)}
5= 0L,
=max{0+ f.(10),6+ f-(5),12+ f.(0)}
: f: (10), f. (10), f2(5), f2(0)
f.(10) = 3X1[‘1§‘§§10 {4% + 5%}
xlz O,x220
= 3X <rrl()a—x4x2 {4X1 + (5)(2)}
xlz 0,x220
= MR 5%+, max  (4%))
x220 xlzo
= max {5x + f1 (10- 4x )}
x2=0,1,2
=max{ f. (10),5+ . (6),10+ f. (2)}
f2(5) = ,, max {4x +5x%x} = ma(}xl{sz + fi(5-4x%x)}
R X =

xlz 0, x22 0,

=max{ f: (5),5+ f (1)}

(0)=  max  {4x +5%}=max{5% + f (0- 4%)} = f(0)
f, (10), f.(5), f. (0), f1(10), f (6), f: (5), f (2), fs

(1), 1.(0),
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fi (w) = max (4x) =4x ( w 3 ) =4x [wW 3]

xlz 0,

x =[w 3],
f1(10) =4x 3=12 (x =3)
fi1(6) =4x 2=8 (x =2)
fi(5)=4x 1=4 (x =1)
f1(2) =4x 0=0 (x =0)
fi(1) =4x 0=0 (x =0)
f1(0) =4x 0=0 (x =0)

f,(10) = max{ f: (10),5+ f:(6),10+ . (0)}

=max{12,5+8,10+0} =13 (% =2, % =1)
fa (6)=max{ f. (5),5+ fi (1)}
=max{4,5+0} =5 (x =0,x =1)
f2 (0)=f.(0)=0 (x =0, x =0)
fs (10) = max{ f.(10),6+ f.(5),12+ f.(0)}
=max{13,6+5,12 + 0}
=13 (x=2,%=1,x =0)
x =2,% =1,% =0, 13
(1) , f1 (w) f2(w)(w=0,1, ,10)
(2) ) a ) ) Wi
Xi
(3) n : G(x) G Xi
pi=d wi(i=1,2, ,n) P1< P2<
n-1< Pn, W, W< Wh, n
X» =0; w= kwn (k ), n
X =k x =0(iz n); W > Wh, Wh , n
we —2—
Pn -pPn-1
Xn 1, n
b, | \Y;
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el T

fo(w,Vv)=0
fn(a, b

i(i=1,2, ,n) u

i=1,2, ,n

{a(x)+ fe-r (W- WXk, V- WXk)}

+])

k

1< k€ n

p(u)

P= ] P(u)

G, W, C,

max P= I‘nl p(u)

f (w, V)
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n
Z cus C
1

n
Z wWus w
1

Lu=0 , 1=1,2, ,n
’ U ’
Xk, Yk ,
X k n
Yk n
Wk K ,
Xek+1 = Xk = UkCk
Yir1 = Yk - UcWk (1< k< n)
Di( Xk, Ye) ={ k:0< w< min([ x/ «],[wW w])}
fk(Xk,yk) Xk Yk ) k n
fo (X, Yk) = max [ pe( W) fuer ( Xc - GUk, Yk - WkUk) ]
U DOy
k=n,n-1, ,1
fn+1(Xn+1,yn+1):1
1, Xn+ 1 yn+1 y y 1
fi (c, w)
) 1 1
pi(u) u , p(u)s 1
H ) Vl
(X, Y, Z) ,
8 : Db D Ds
9-9 : 105
( )
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9-9

Ds 20

09
08

05

(1- p)x Xk D«
D« Ds
fa(s)=_ max [1-(05)%]

X3< [ s3/ 20]

D
D
fi(s)

f2(2)=_ max {[1- (0 2)2]fs(s - 15%)}

X,< [ 52/ 15]

fi(s)=_ max {[1- (0 1)1] f2(s - 30x)}

X < [Sl/ 30]

s =105, f, (105)
f1(105) = max {[1- (0 1)"] . (105 - 30x )}

= max {0 9. (75),0 99 f. (45) ,0 999 . (15)}

f2 (75) = max {[1- (0 2)™]f:(75- 15%)}

= max {0 8% (60),0 96 (45),0 992 f: (30) ,0 9984 (15)}
fa (60) = max [1- (0 5)]=max{0 5,0 75,0 875} =0 875
_XBS

fs (45) =max {0 5,0 75} =0 75
fs (30)=05
fs (15) =0

f2 (75) =max {0 8x 0 875,0 96x 0 75,0 992x 0 5,0 9984x 0}

=max {0.7,0.72,0 496} =0 72

f (45) =max {0 8f:(30),0 96 f; (15)}
=max {0 4,0} =0 4

f (15)=0

f1 (105) =max {0 9x 0 72,0 99%x 0 4,0 999x 0}
=max {0 648,0 396} =0 648
Xx =1, %=2,% =2 , D1

2 100 0 648

n A B ,
( 9-1) a b i (1< i< n)

A B

Ds

, Ds
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(X, 1)
FOX,t,0)

, X
f(X, t,1,])

X i
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B
, ?
A , M or=a, B
A B Mtz=a; B}
A ’
, B
A B
n! : ,
n
, A
B 1
, B
A
X X
X B X
(X, 1)
A B
) S )
( X, 1) :
(X, 1) , A i
(X, 1) , A
X
_ a+ f(Xi,t- a+h)
f(X,t,1)= _
a+ f(Xi,h)
9-1
z(t)=max (t- a,0)+h
f(X,t,)=a+ f[ X i, z(t)]
X i

THF: |
|
i | b,
Ti%i-1 |
) N .
- [-# |!—| i - _-J:—{F ‘|'|I:'.= :
9-1
, B
B
X A
A
X
[
& a
K a




f(X,t,i,p)=a+a+ f[X{ij},zi(1)]

zi (1) A X ], J :
B i (X {i,j},zi(t)) A i
] A i (X, 1) (X {i, i},
z;i (1))
z (1) , AA{i,j} XA}, z(t) t, a,hb b,

zi(t)=max [z(t) - a,0] +b

zi(t)=max [max(t- a,0)+hb - a,0] +b
=max [max(t-a-a+hb,b-a),0]+h
=max [t-a-a+h+b,b+b-a,b]

]
f(X,t,j,D)=a+a+f[X{ij},zi(V)]
zi(t)=max [t-a-a+b+bh,b+b - a,b]
f(X,t) t : Z;i ()< zi (1)
f(X, t,0,))s (X, t,],10)
t ,zi(D) z(Y) i J
zi(t) zi(Y)
max (b +b - a,b)s max (b+h - a,h)
b Db,
max (- &, -b)x max (- a, - h)
min (a,b)< min (a,hb)
i j
(1)
uo| @2 anJ
h b b
(2) M ( : );
(3) M : (2)
( ) ( )
n , Johnson 1954
B B
B
9 5 A B A B
( ) 9-10
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9-10

aa b~ W DN
~N OB N W

A W N DN O

3 7 4 5 7
M_

le 2 7 3 4
28
6
(
li (t)— J t
Q(t)— j t
G((t)y— j t
oO— (0<a< 1),
T—
n_
g (t)— | t
X (t)— g(t j (
n J
: J t
1 j+1 n
t , ] n
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t+1 j+1 n , )

R:1;(0) - O (0) - G (1) +ag-: (1)

gi (1) = max
K:li(t) - Q(t) +ag+: (t+1)
(j=1,2, ,n t=1,2, ,j-1,j+T-1)
“ K" Keep , Y R’ Replacement :
n )
g+1(t) =0
gl( ) J t T )
10 n=5,a=1,T=1, 9-11 5
: 5
9-11
01 2 3 4/ 01 2 3|01 201 0|12 3 45
22 21 20 18 16|27 25 24 22|29 26 24|30 28 32 |18 16 16 14 14
6 6 8 8 10| 5 6 8 9|5 5 6/ 4 5 418 8 9 910
27 29 32 34 37|29 31 34 36|31 32 33|32 33 34 (32 34 36 36 38
j t ) J-t y
, s (0) , |5(O) =32 ls (2) 2
,  kL(2)=20 Q(0)=4,0(2)=8 G (1) 5 1
) : G (1) =33 G (2)=33,G (1) =231,
=5 T=1, 5 : 12345
R:1s5(0) - G(0) - G(t)+1- g (1)
g (t) = max
Kils(t)-O(t)+1- g (t+1)

R:32-4-334+0= -5]

=23 % (1) = K
K:28-5+0=23

gs(l)=ma><[
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gs(2):max[R:32_4_33+0=_5]:18 % (2) = K
K:24-6+0=18
(3)=13,%(3) =K;3(4)=6,x(4) =K
d(5)=4,x(5=K
| =4
[R: ls(0) - & (0) - G(t)+ 95(1)]
g () = max
K:ila(t) - O(t)+ g (t+1)
g4(l)=maxlR:3o-4-32+23:17]=39 % (1) = K
K:26-5+18=39
>(2)=29,%(2) =K; 3 (3)=16,x%(3) =K
(4)=13,x%(4) =R
]=3
[R: ls(0) - @(0) - G(t)+ g(l)]
¢ (1) = max
K:l(t) - G(t)+ g (t+1)
g3(1):maxlR:29-5-:«51+:«59::«52]:48 % (1) = K
K:25-6+29=48
®(2)=31,%(2) =R, &(3)=27,%(3)=R
|]=2
[R: l.(0) - @(0) - G(t)+ g;(l)]
¢ () = max
K:il(t)- QG(t)+ (t+1)
gz(l)zmax'R:27-5-29+48:41'=46 % (1) = K
L K:21-6+31=46 |
gz(z)zmaX_R:27-5-34+48:36_=36 %(2) = R
L K:16- 8+27=35 ]
]=1
[R: . (0) - O(0) - G(t)+ gz(l)]
& (t) = max
Kil(t) - O(t)+ g(t+1)
gl(l):maxlR:22-6-32+46=30]:46 % (1) = K
K:18 - 8+ 36=46
9-12 46
9-12
1 1 K
2 2 R
3 1 K
4 2 K
5 3 K
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n 1,2, n a [ J
1 ,
: , N
1 : |
Ni={2,3, ,i-1,i+1, ,n} 1 i
S i : S N
: (i,9) ,
f(i,S) 1 k S [

fk(i,S)erniSn[fk-l(j,S\{j})+dji]
(k=1,2, ,n-1 i=2,3, ,n S N)

fo(i,CD) = i
P(i, 9) : 1 k S i
i
9-13
1 2 3 4
0 8 5 6
6 0 8 5
7 9 0 S
9 7 8 0
11 : 9-13
1

fo(2,0) = d>=8, fo(3,®)=0ds=5, fo(4 ®)=cs=6

k=1 1 , i :
f,(2,{3}) = f(3,®) + db- =5+9=14
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f1(2,{4}) = fo(4,D) + do =6+7=13
f1(3,{2))=8+8=16  f.(3,{4})=6+8=14
f.(4,{2))=8+5=13  f.(4,{3})=5+5=10

k=2 1 : ( ) i
f2(2,{3,4}) =min [ f1(3,{4}) + &, f1(4,{3}) + 0]
=min [14+9,10+7] =17 p(2,{3,4}) =4
f2(3,{2,4}) =min [13+8,13+8] =21 rR(3,{2,4)=2 4
f2(4,{2,3})=min [14+5,16+5] =19 p(4,{2,3})=2
k=3 1 , ( ) 1

fa(1,{2,3,4}) =min [ f2(2,{3,4}) + du, f2(3,{2,4}) + th ,
f2(4,{2,3})+ da]=min[17+ 6,21+ 7,19+ 9] =23
p:(1,{2,3,4}) =2
1-3-4-2-1, 23

, 1963,
1981

11983 ,
( ,1976

9.1 6 :
9-14 , , ?

- 246 -



9-14

10

9.2

9-15

9-15

28

a7

65
74
80

85

18

39
61

78
90

95

25

45

57

65

70

73

20

42

60
75
85

90

9.3

150

200

100
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160
170
180
200

210
220
225
230

200
280
330
340



9.4 100 , :

: X : x/ 3 ;
: Y 10
10, 7 ?
9.5
max z=X y +3% ¥ +4X v
2x +3% +4x%< 24
3y +2y +5y < 30
xi=2 0,yi=20 (i=1,2,3 j=1,2,3)
9.6 : abc
r(x,y,z), (i=1,2, ,n)
W, n
9.7 3 ,
9.8
9.9 : 4 400 500 300
200 500 , 1,
1 1 100 ,4 4
9.10 : ;
3 2 3 2
02 : 2 , 1
: ?
9.11 :
9-16
9-16
Kk 1 2 3 4 5 6
dk 50 55 50 45 40 30
G 825 775 850 850 775 825
P 40 30 35 20 40
9.12
9-17
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9-17

9 04
8 03
7 03
9.13
(1) max z=10x + 22% + 17X
{2)@ +4% +3x< 20
xi= 0 (i=1,2,3)
(2) max z=x % X X
{2)@ +3% + X% +2x =11
xi= 0 (i=1,2,3,4)
(3) max z=4x +5x% + 8x
X+ % + x< 10
X +3x% +6x%< 13
xi= 0, (i=1,2,3)
(4) max z=g (x) + g¢(x)+ G(x)
{ X + % + X< 20
xi= 0 (i=1,2,3)
Xi g (x) 9-18
9-18
X 0 1 2 3 4 5 6 7 8 9 10
o (%) 2 4 7 11 13 15 18 22 18 15 11
@ (x) 5 10 15 20 24 18 12 9 5 3 1
®(x) 8 12 17 22 19 16 14 11 9 7 4
9.14 : 9-19
: 6 ?
9-19
1 2 3
2 3 4
80 130 180
9.15 A BC : :
0.40 0.60 0 .80,
0 40x 0 60x 0 80=0 192, : 2
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9-20

9-20
S A B C
0 0 40 0 60 0 80
1 0 20 0 40 0 50
2 0 15 0 20 0 30
9. 16 , ( )
9-21 ,
9-21
3 % 2 % % %
3 10 5 2 9 11
8 12 9 6 5 2
9. 17 , a=1,T=2,
9-22
9-22
0 1 2 3 4 0 1 2 3 0 1 2
20 19 18 16 14 25 23 22 20 27 | 24 | 22
4 4 6 6 8 3 4 6 7 3 3 4
25 27 30 32 35 27 29 32 34 29 | 30 | 31
0 1 2 3 4 5 6
28 26 30 16 14 14 12 12
2 3 2 6 6 7 7 8
30 31 32 30 32 34 34 36
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9-23

i
1 2 3 4 5 6
]
1 0 10 20 30 40 50
2 12 0 18 30 25 21
3 23 9 0 5 10 15
4 34 32 4 0 8 16
5 45 27 11 10 0 18
6 56 22 16 20 12 0
9.18 9-23
; ; 1 ;
[1] , : : ; ,1981
[2] . . ; ,1985
[3] : : : : ,1998

[4] Dreyfus SE, Law A M .The art and theory of Dynamic Programming . Academic Press, 1977
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10

; , 10-1(a)

fa) 1]
10-1

1736 10-1(b)

10-1(b) ,

, 20 50 :
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Jext A 1

L EE—
2
M T S
thr—d:ﬂ
- %
i) ) ,
10-2
] ) 10'3
s
7 iy
{10 iy
10-3
3 ,
) v, \b, , \b
; \'] Vi
, M,\Vo,\6,\4
Avl. {v, v, vl {w,w},{w,w}
)

10-5

10-2

M,v,\, Vs, ¥

Ty

i3

L

i3

e

10-4

4

Ty

Vi
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10-3
\é d 1
. b
10-6
( )
( ) G =(V,bB),
v, vV [v,M]1( [v,v])

, D=(V, A), V, A

Vi Vi (vi,vi)

V={w,v,»s,u}, E={e,e,e,e,e,e,e}

a=[w,v],e=[vu,v],e=[v,wn],e=[wn,w]

e=[vw,w],e=[v,w],e =[v,wu]

\ v, \
10-6
G
V, E G
D
D
10-7
10-8 :

V={v,v,u,u,¥,¥,v}, A={a,a,a,a, ,ai}

a=(v,v),a=(v,v),a=(vw,v),a=(v,wu)

a=(vw,vw),a=(vw,v),a=(vw,w),a=(v,w)

a=(%,w),a0 =(v,%),ar=(w%,w)
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G D p(G) p(D), () q(G) (a(D))

P: g
G=(V, E)
e=[u,v] E, uv e : u, v e u( V)
G e e ( 10-7 e)
( 10-7 e,e)
Y Y : G(v) d(v) 10-7 ,d(u) =4,
d(w)=3,d(w) =3,d(w)=4( e d(w) )
1
1 G=(V, E)
Zvd(v) = 2q
2 ;
Vi Ve G , 1,
>, d(v) > d(v) = Zvd(V) = 29

zvd(v) : Z d(v) , Z d(v) : Vi

2 1
G=(V, E) (v,,e,,V,,e,, V.8 ., V)
et:[Vit Vt+1](t:1 2 ’k_l)! Vl Vk (Vl
VZ Vk)’ Vi2 V3’ Vik-l
(V11V2 Vk) MV, = Vi (Vl’vz » Vi 4 Vl)
(Vi,, M, M) Vi, M, Vi, (vi,, W,
Vkl Vl) ’Vil’VZ Vkl ( )
() : ()
" Ey 1y By iig Ty 10-9 ,(\A,VZ,VB,VA,VS,V3,V6,V7)
y (M, %, 8, %, W)
ey sy
L . , \VA o
F‘] ko n
Ty - (V1,V2,V3,V4,V1) 1(\A1\Al\é!
L] \é,%’\ﬁ,\é,\é,v‘l)
o d L iy ty G y )
G : G
10-9
G
( ) 10-9
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G=(V, E), G=(V,E), V=V FE E G G
v V(G), Gv G vV Vv
G 10-10(a) . GWw 10-10(b) 10-10(c) G
. o v
1 u U3 1=-/ & iy
By s it T's iy &y
() (b) (c)
10-10

D G( D)

D a=(u,v), u a vV a a u %

(Vil’ail’Viz’aiz’ Vk-l a‘kl’vk) D

G( D) D

()
(vi,,a ,v,,a,, ,v ,,a_,,%) D , t=1,2, ,k-1,
at:(Vt’VHl)’ Vl Vk

C )

10-8  ,(w,(v,v), v, (v, vw), v, (va,w), %, (¥,n),w)
(v, (M, w),w,(B,w),va,(V,w),w) Vi Ve (v, (v, w), v, (B, w),
Vv, (W, %), w) :
( )
10-8

2.1
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Vi, Vb, \, Vb, \

10-12

7, Ty

I'a

P

3
p(G)z 2,
Vi
d(w)= 2,
(W, M, W,
: P
Ve, , Vm, V1)
d(V1)=1, Vi
4
G :
p=1,2
n ,
G- v,

10-11 T3
10-11
( 10-12 )
G=(V, E) , p(G)= 2, G
=(w,w, ,W«) G ,
G , P , V1
Vi , d(w)=1 :
[v, W], nm# 2 Vin P
,Vk) G , P
Vin P (v,
G ,
Vk , G
G=(V, E) G ,
, G : G p-1
G n+1 3,G , Vi

p(G- v)=n,9(G- »w)=q(G) -1 G- w
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n , , (G- v)=n-1,

AG) = G-wu)+1=(n-1)+1=n=p(C) -1

G , G

G, ,G(s2) G(i=1,2, ,9
Pi , , G pi-l

.G s G,

G G

a(G) =Zq(G) =Zl(p - 1) =le -s= p(G) - s p(G) -2

a(G) =p(G) -1
5 G=(V, E)
q(G) = p(G) -1
G , .G
G :
p(G) =n(n= 1) p(G) =n+1,
p(G)= 2, Vi, d(wv)=2
p(Q
a0 = 53 d(w)z p(o)
q(G) = p(G) -1 , G Vi
(G- uw)=gG) -1=p(G) -2=p(G-vuw) -1,
G
6 G
G
G
G
(1)
.4
(2)
10-11 [w,u], (v, v,¥,wn),
[vi,w], 10-13
2.2
2 T=(V,E) G=(V, E)
T G

10-14( b) 10-14(a)
T=(V,BE) G=(V,E)
T q(G) - p(G) +1
. 258

4,9(G) = p(CG) -1
p(G)=1,2

10-13

T=(V,E)

p(G) -1,G



EE By By ty
(a) (b)
10-14
7 G G
G : G : G : G
G , : , G
G G : G G ( G ); G
; G , : G G,
: G G, : G G
5 : ;
6 10-15
(M, V%,%,w), e=[w,u]; :
(v, Vv, Va,\8,\), e=[w,wu]; : (v, Vi, V%, )
e =[w,wn]; (M, v, \%,V,\%,\u) e =[wv, W] :
: , 10-15
e, a
e, {e,e} e, : {e,e, ,&},
{e,e, ,e&} B+ 1 :

10-15 10-16
7 10-16
e, e a : e, e {ea,e} ,
e( e {e,e} (v, w,%,\u), e);, e {e,e,
e} : e; e {e,e,e,e} : e ( , e {e,e,
e,e} e,e (v,w,vu,v), e) {e,e,e,e,e}
: 10-16
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4,5 : q(G) - p(G) +1
p(G) -1
2.3
3 G=(V,EBE), G [v,v], Wij,
G , W [Vi, v]
G=(V,E), e=[v,Vvi],
w(e) =w; (w;=0)
4 T=(V,E) G E T
w( T)
W(T) viZ] TWij
T w(iT ) G T G
( )
W(T*)=mTinW(T)
G T
G
1. (kruskal)
(
)
1 =1, b = (
2 e E\ E-: e (V, B+ {¢€})
ge E\E.1) E=E {e}, : T=(V,E-1)
3 [ i+1, 2
8 10-17(a)
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‘ . 2 P
(a) (b)
10-17
10-17(a)
i=1, b= , E [v,w], B ={[w,w]};
=2, E\E& [v,v]([v,w] [wv,w] ), B ={[w,w],
[V, w]};
I=3, EEBE [vi,w]((V,E {[w,w]}) ), B={lw,w],[v,w],
[Vi, ]}
i=4, E\B [ W, w]( [v,v])((V,.B {[w,w]}) ), E =
{le,w], [we,w], [v,w],[w,w]};
I=5, E\E [vi,vw]((V,E {[v,v]}) ) o[ v, W]
[Va, W], [ W, W] : [ Vo, %] [V, wv] : [ v,
wl), B={le,w],[v,w],[w,w] [w,w],[u,v]};
i =6, : ;
(V,B) : ( 10-17(b)),
15
G=(V, E) : 2.2 ; , T=(V,E-1)
i=p(G)
E(T)={a,e, ,e& 1}
p=p(G), T w(T) = >, w(e)
T , T , G
H T T H T
H e(ls i p-1) H , @ H
: C T , C T,
e H e, e, G To,
w(To) = w(H)+ w(e) - w(e)
w(H) w(To)( H ), w(e)< w(e) , @
(V,{e,e, ,e}) , (V,{e,e, ,e.,€)
w(e = w(e), w(To)=w(H) To G : To
T H T : H
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: (
: ) : :
9 10-17(a)
: (v,v,w%,u), [v,w] :
[vi,wn]; (v,V%, %, %), [w, w]; (v, %, Va,\,\%), [w,w];
(W%, V6,V,\), v, w] v, w] : :
[Va, W] ( 10-17(b) ),

3.1
10 10-18 :
Vi )
b )
, M | )
Vi , Vo, \6, B
Vi : VB, Ve, \b
: 6+1+6=13 ;
, 3+2+10+2+4=21 10-18
, , M Ve
Vi e Vi
v : Vi
v i : VAV VIR SV NV IRV \6
(v, Ve, Ve, V6,6, Ve, V%,V ,W), 47
D=(V, A, a=(vi,v), w(a) = wij, D Vs,
\ P D Vs Vi , P P , w(P)
VoWV : : Vs Wi
P,
W(Po)=ijnw(P)
D Vs Vi P ,  Po e W Po
Vs Wi : d(vs, w) ydlw,w)  d(w,w)
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3.2

Vs Vi
, P D Vs Vi , Vi P ,
, W P v Vs Vi : , Q
Vs Vi , P v Q Vi, Vi P Y : , P
P : P VsV
wij=0 : wii=>0 |,
Dijkstra 1959
Dijkstra Vs , ,
: ( ), Vs (
P ), Ve ( T ),
T : T P : D P
: : p-1 Vs
Dijkstra : 10
1 ,s=1 wij=> 0, d(v,wuw) =0 , i P
Vi (v, ), (M,w), (v, w) Vi (M,w)
\b diwv,vw) +w =6 ; Vi (v, w) \6
d(wv,wvw)+ ws =3 X , (v, w) Vi, d(v,w) +was =1

min{ d(v ,w)+ Wi, d(v,uv)+ Ws,d(v,u)+ Wa}=d(uv,u)+ w.=1

, i Vi 1 : Vi Va
(v,w),d(v,w)=1 Vi Vi P, (v, w),
vi  (w,w) (V3 (v,w) 6, \b \b \V ,
, 6 3 , \b \4 \V
1 wii=> 0) d(v,w) =1, Vi
P
Vi : , M , (M,v) (4,w)
Vo, \6, 6 3 : Vi (v, w) 6,

d(wv,w)+ws =1+10=11 ,
min{ d(v ,w)+ we,d(uv,vw)+ ws,d(v,w)+ Wse}=d(v,u)+ ws =3
, M \B (M,w),d(v,w»n)=3
%3 P : Vi
Dijkstra , P, T P T , S
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: Vv A, : A(V) =m, VeV
, V Vi ; A(Vv) =M, D Vs V A(v) =0
V=
Dijkstra : D=(V, A)
(i=0) S ={w},P(w) =0,A(w%w) =0, VZ Vs, T(v) = + o0,
A(v) =M, k=s
S=V, : : v S,d(w,Vv) =P(v);
(ve,v) A Vvi| S Vi
T(vi) > P(w) + wi, T(w) P(vi) + Wi, A(Vi) k;
T(v,)=min{ T(v)}
T(vw, )< +o, ] T P P(vi,)=T(v,), S-1 =S
{vi}, k=], i i+ 1, : , v S,d(w,Vv)=P(v),
vl S,d(w,Vv)=T(Vv)
Dijkstra 10 v , s=1
(1) i=0
S={w},P(w)=0A(uv)=0,T(v)=+0 A(v)=M(i=2,3, ,9), k=1
(M,v) Aw] S,P(vu)+w<T(uv), T(w) P(w) + w:
=6,A(v) 1;
T(w) P(v) +ws =3A(w) 1; T(w) P(v)+ Wa
=1 A(w) 1
: T T(w)=1 : P(w)=1, S=S5 {w}=
{w,w}, k=4
(2) i=1
T(w) P(w)+ ws =11, A(W%) 4
T , T(w) =3 : P(w) =3, S={wv,wu,wn},
k=3
(3) i=2
o (w,v) Ave] S, T(w)>P(w) +we, T(w) P(w) + we =
5A(w) 3
T , T(w) =5 : P(vw)=5S={v,w,w,w}, k=2
(4) i=3
T(w) P(w)+ ws =6,A(v) 2
T , T(w) =6 : P(w)=6,S={v,vu,%,v,w},
k=5
(5) i=4
T(w), T(vw), T(w) 10,9,12, A(w),A(v),A(w)
5
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T , T(w) =9
P(V?):g, S:{V1,V4,V3,V2,V5,\ﬁ}, k=7

(6) i=5
(v, w) Aw] S, T(w)<P(w) +ws, T(w)
T , T(w) =10
P(w)=10, S={wvi,vu,v%,wv,¥,w,w}, k=6
(7) i=6
\b S
T , T(w) =12
P(w)=12, S ={v,w,w,w,%,w,w,w}, k=8
(8) i=7
T Vo, T(W)=+o00 ,
P(w)=0, P(w)=1, P(w)=3, P(w)=5, P(w) =6,
P(v)=9, P(w)=10, P(w)=12, T(w)= +o
A(v)=0, A(w)=1, A(w) =1, A(v)=3, A(w) =2,
A(v)=5 A(w)=5, A(w) =5, A(vw)=M
I=1,2, ,8,d(v,v)=P(wv), 1 Vo , A
Vi i (i=1,2, ,8)
Vi , AMw), A(w)=5, (W, w);
Alv), A(w) =2, (v ,w); A(w) =3 A(w) =1,
(v,v), (v,w), 1 \b (M, \v,v,\%,W%)
: Vs
( ) G=(V,E), [Vi, V] Vi Vi, Vi Vi,
[vi,w] (vi,w)  (vi,v), wlvi, vi]
wij= 0, Dijkstra “ (%,vi) A
vi|] S V" “ [w,vi] E wv] S vi", Vs
( : )
11 Dijkstra 10-19 , M \b

3 1 iy

P(M)=0, P(w)=1, P(w)=3,
P(v)=5, P(w)=6, P(w)=8, P(w)=09,
P(w)=10, P(w)=11
A(w)=0, A(w)=1, A(w)=1, A(w)
=3, A(w)=2, A(w)=5 A(w)=5 A
(w) =5, A(w)=9

Vi & (M, ,\%,\, %,
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Dijkstra v S,P(v) Vs
v o d(vw,v) = P(v)
i i=0 i=n : V.S,
d( v, v) = P(V) i=n+1, S«.:=S {v}, d(w, v, ) =
P(vi,) ) Vi, T ,

To(vi,) = min{ To(vi)}

, Ta(V) i=n v T H D
Vs Vi : v« S, v | S, Vs , H ,
S, S (v,v) ,
H=(w, ,v,v, ,v), WH)=w(w, ,vw)+w +w(v, ,V)

, P(vr) VY :
w(H)= P(v)+wi +w(vi, ,Vv)
T , Vi S,V S, P(v)+wi= Ta(w)
Ta(uw)= Ta(Vvi,),

W(H)z Ta(v,) +w(v, ,v,)z Ta(Vv,)

( wi;=0, w(wv, ,v )=0)
To (Vi) VoV, :  P(vi,) = To (),
d(v, v )i P(v,)
Dijkstra wij= 0 , .,
: 10-20
, Dijkstra , i
\b 1, , Vi \b
(v, %,w), -1 ]
D , , 10-20
: Vi Vi ( D ,(v,v)]
A, (Vi,vi) Wij = + 00 )
, VsV Vs : Vi, (v, Vi) Vv
( Vi Vs ), , VsV
Vi Vi : d(vs, V)

d(w,v) :miin{ d(vs,v) + wj}

d(ve,vi), d(vs, ), ,d(v, v)( p=p(D)),

d” (w,v)=ws (j=1,2, ,p)

d? (v, v) =min{d" " (v, v) + wi}
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j:1121 1p
’ k ’ j:1121 1p1
d (v, vi) =d“ " (w,w)

{d? (v, vi)}izize .» Vs
12 10-21 Vi
) 10'1 ( +OO)
L] t=4 ] j=1121 181
d"V(w,v)=d (v, v),
0,-5,-2,-7,-3,-1,-5,6 Vi
Vi,\Ve, L\
g
Vs ,
Dijkstra : A :
A(w)=0A(v)=s (iz 9
d? (v, v) =min{ d" Y (v, ) + wi;}
=d" Y (v, v,) + Wy,
A(v) lo : A, \:
d(vs, vi), Wk, d(vs, W) + Wk; = d(Vw, Vi), (e, Vi),
d(vs, W), vi, dlv,v)+wr=d(w,w), : Vs :
Vs Vj (Vs, ,V,Vk,Vj)
10-1
Wi j d(t)(vl’vj)
1 b \5 A b b v Vs t=1 t=2 t=3 t=4
\' 0 -1 -2 3 0 0 0 0
\b 6 0 2 -1 -5 -5 -5
\5 -3 0 -5 1 -2 -2 -2 -2
A 0 2 3 -7 -7 -7
\5 -1 0 1 -3 -3
\b 1 0 1 7 -1 -1 -1
' -1 0 5 -5 -5
B -3 -5 0 6 6
3, 10-1 ,d(v,w) =6,
d(v,w)+ws=(-1)+7=dw,w), (v, \w)
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d(v,w)+ws=d(wv,w), (w,w)

d(v,v)+ws=d(w,w), i \b (M,\%,\w,w)
5 D C D , c  w(Q
D
(1) D , VA
: p-2 ;
(2) d? (v, w) t-1 Vs
Vi
(1) (2) : D : p-1
i=1,2, ,p, d (w,vi)=d“" (w,v), Vs
p-1 i, d7(w,vi)z d" P (w,v) D
VeV
d(w,vi)=w; (j=1,2, ,p)
d“’(vs,\/j)zmin{rnijn{d“)(vs,vj)+w;},rigijn{o“'”(vs,v)+Wi,»}}
(1=1,2, ,p).(t=2,3, )
JY.Yen :
d” (w,v)=w; j=1,2, ,p
t=2,4,6, , j=1,2, ,p :
d"(vs,v,-):min{d"”(vs,vj),qlijn{dU(vs,vi)+wi,-}}
t=3,5,7, , j=p,p-1, ,1 ;
dt’(vs,v,-)zmin{d“'”(vs,vj),rirlijn{dt)(vs,vi)+wi,-}}
=12, .,p
d (vs,vi) =d“ " (w,w)
3.3
13
1 2 3 4 5
11 11 12 12 13
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0 1 1 2 2 3 3 4 4 5
5 6 8 11 18
11+11+ 12+ 12+ 13=59, 5, 25
59+ 25=84
, 11+12 + 13 =36,
5+6+5+6+5=27 63
?
10-22

10-22
vioo“ i " ( v, S
) Vi Visel, Vb (vi, V) i
J ( j-1 )
(M, w) 1
11), 3 ( 546+8=19), (w,w)
’ \i \b
Av,w,w} {v,vu,w} :
1 3 ; 1 4
53
4
10-23 i \b : (v,v) Vi Vi
M Vi,

269 -



\i \6 \i \b
10'24 y )
8 M 6,
' y Vi \6 ')
n 5 o,
[N .
3 I. 11
4 3 ;
|' L
g 3 17
Uy 6 ty
10-23 10-24
4.1
1.
6 D=(V,A), V (
( @), (v,vi) A,
Ci), D
D=(V, A, Q)
, A f={f(v,v)},
(vi,v) ( fii)
10‘23 ] \A 1\5 1
Gj
10-24 : ;
) fi2 =5, fou =2, fis 23, faa =1
2.
( )i
7 f
(1) (vi,vw) A
0O< fij< ¢j
(2)
, i(iz s 1)
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c(vi,v)=0

f(vi, V)



(ViZ) Afij - (V.Z) Afji =0

] |

Vs,
%zﬁ Afsj - (VJZ) Af,-s = v(f)
Vi,
(th) Af“ -(VjZ) Ath = - v
v( f) : ( )
fij =0, (
v(f)=0
{fi} v( f) :
O fij< qj (v,vi) A
v(f) (i=9
Z fij - Z fii =710 (iz st
- v(f) (=1
{ fii},
v(f) :
3.
f={fi}, fij = qj : fij <@
fi; =0 , fi;i>0
10-24 (v, w) :
v Vs Vi , Vs Vi,
h , i
10-23 M=(M,%,B,Va,\6,\)
o= {(v, ), (v, ), (w,w), (%, w)}
Hoo={(w,w)}
8 f v Vs Vi , M )
( f)
(vi,v) p° ,0 fij<q;, u°
(vi,v) p° ,0<fij<aqi, M
10-24 , p=(vi,\Ve,Vs, Vi, 6, ) VRV
(v,v) p', fr=5<a =10
(v,vw) p , fa=3>0
4,

ST V.S T= S T :
271 -



(S T)

9 D= (V, A, C), Vv
Vs Vi, w Vl, (Vl,Tll) ( Vs Vi)
) , Vs Vi
Vs Vi
10 (Vi , V1), (Vi, V1)
( ). o(Vi W),
AV V1) = (vi,vj)Z(vl,Vl)GJ
, v( f)
v( )< o(Vi, Vi)
, £, (Vi Vi),
£ AV ARVAN D ,
8 f’ , f
f , D f u,
6 =min min(c; - fi;), minf’}
: 08>0, u u
fi; +0 (Vi,vi) p’
fi; =) fii -0 (vi,vi) p
fi) (vi,vi)l H
{ i} ;o V()= v(f )48 > ()
D £ , £
VARRVA
vi Vi, fii<aj, vi Vi
vi V., fi>0, vi W
f . ow| W
Vi =W\, (Vi , Vi)
_+oj (v, vi) (Vi Vi)
"o (Vi,vi) (Vi Vi)
v(f' )=V , Vi) f
. f :
v(f )=C(Vi , Vi)
D Vs Vi
V.
8
D f , 8

v(f )=doVi Vi),

.

\VA

(Vi Vi),

Vs,



VA

fii ]

fii]

4.2

(1)

(2)

Vi

Vi \ Vi D f
Vi
A W
Vi
( f f )
( ),
Vs (0v+°o)1
Vi, Vi
(v,w)  fii<oi, v (v, 1(w)) I(v)=min[I(%),¢ -
V,
(vi,vw) , fii>0, Vi - v, (v)), [(vi)=min[I(wv),
Vi
Vi \4
Vi M,
Vi : ; U u
vie( - W), (W, w)( (vi,w)) M Vi
vi( - w), (Vi i) ( (W, w)) Vi
Vs ¥ 0 [(w),
fi, +0 (vi,v)
fij: ﬁ;-e (M,w) H_
fis (vi,vi)| M
f ={f”j},
14 10-25 (Gj,fu)
(1)
Vs (0,+00)
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L (4, 3) Ty

™ )
2 s i 7
o (L1 N (3, 0) A%
¥ | WV
J 'l
v Lz‘zjh v
10-25
Vs (v, w) ,fe=c =3, (w,w) ,fa=1,
G=5fs<a, u (v, 1(w)),
I(v) =min[I(w),(G - fs)]=min[+o ,5-1] =4
Vi, (v,w) ,fiz=2,a3 =2,
(w,w) , fa=1>0, 2 (-w,l(w)),
I((v)=min[I(u), fx] =min [4,1] =1
v, (vw,w) ,fa=3,00 =4, f2a <, Vi (w,l(w)),
[(ww) =min [I(w),(cs - fa)] =min[1,1] =1
(v,v) ,f2=1>0, w (- vw,l(w)),
[((w) =min[I(w), fs2] =min [1,1] =1
Vs, Vi
(v,w) ,fse=1,6=2, fsx<@:, W™ (w,l(w)),
I[(w)=min [I(w¢),(c - fsr)]=min[1,1] =1
Vi ,
(2)
: 10-26
vy (=0, 1) (4, 3) v (1 ,1)
(0,4 )y, o, (0y,1)
vy (v ,4) (2,2) w5 (-n,,1)
10-26
B ={(w, v), (e, w)}
bo={(e,u),(w,w)}
=1 f
ue o fa+0=1+4+1=2
far 40 =1+1=2
M fa1-8=1-1=0
fs2 -0=1-1=0
fii
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,Vl={Vs,\ll},\—/1={\é,\é,V4,\ﬁ},

Y, o,
/
Y,
/
“" (0,45 ),
!
\‘H v
P,
T,
H'--..
Vs (O, +0°),
(V2,Vl) ) faou :O,
( 10-27)
(Vi,Vi)
, 5
5
D=(V,AQC,
b(vi, vi)= O
M f,
f Fo(

hi)

(vi,v) A

b( f) = b fi
(=2 .0

V(f)=vf)+1),b(f)

L] {4| .:I:l o By
s .
| )
HHH‘ "'-1"" o 1,0
‘»HH ) (3, o
1 e LA
2 (1, 07~ A o
(o, 300, {2, I}H'm., ¥a
el
ll_.f
- -
= #
o -
—
10-27
Vs, M (w»,3), Vi,
V(f): fao + fo = fae+ 5 =5
(Vl 7V1)1 V1 ,v1

b 1)

,f13=C123,

(Vi, Vi) ={ (%, %), (4,w)}



b(f)-b(f):[z by (fi - fiy) - Z bi(fi; - fiy)]

=y bi- 3 b

Z bj - Z bj H ‘ ”
, f v( f) o ;
’ ” f, f', V(f’)
T |
’ ij 0, :O 0 , f=0
, f V() , f
! wW(f), D ,
(V) (v, v) (v, w) W( ) W
{bj fi; <acj
W =
+ 0 fij=aj
{ - b fi; >0
Wi =
+ o fi; =0
( + o W( f) )
° f w(f)
Vs Vi
f? =0 k-1 flk- D)
W( .I:(k 1))’ W( f(k 1)) , v V. (
+00), f(k Y , ’ D
M, M fl b :
6 = min[min(c; - "), min( £}"7)]
u .
i(lj_l) +0 (Vi,Vj) ”+
w={ 50 e (vou) p
i (v, v)] u
f(k) f(k)
15 10-28 , (bi,c))
10-28
(1) =0
(2) W(f®), VRV (W, &, Vi, W),
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10-29(a) ( )

(3) D M=(V, 6, M, W)

(4) 06=5 fY( 10-29(b)) £ 2
£ f9 5,7,10,11; WYY, W), w(f?),
W( f“), 10-29

(&) (h) (i)

W (™) F, e (f®)=11 W (")
10-29
W( ) VARV , £
6
e w(e), ( ), ,
1962 ,
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6.1

- 278 -

G,
, ( )
( )
9 G G
, G : a(G)
, G , , A6z 3 q(G) =3 ,G
gq(G) =n+1 , G p(G)= 3 u, v, w,
[uvVv],[w,v] E G [u V], [w,V], [u, w], G G
q(G -1 : G G
C C [ w, U] [w,Vv], [V, U], G G
G,G v G .G, G G,G, G
[ u, wj [uVv],G [v,w], G
G : G
G u, v G
[u, v]( G u, v : ),
G, G 3,G c, C [u, V],
G u, v
10-1(b) 4
10-30 \b v, v
\;
L | v 1 '
| | ] 1 :
: ] ]
10-30
G
( G ) G ) ?
Fleury
e G G e
e G 10-10(b) ,[v,w]



ukz(v.o,el,v.l,ez,vi k1,e Vi)

Kk ={e .8, ,ek},Ek=E\Ek, Ge=(V, E)(
k=0 , Ho=(V,) Vi, G ,Bb= ;G =0) (k+1)
G Vi € = = Vies Vi 1, 8.1 G ( Vi Gx

, Vi, G em)
Uk+l:(V0,el,V1,ez1v 1\ﬁk_11ek’vik’ek+1’\ﬁk+1)
, Vio ,
G
G=(V,E) Vio G
6.2
10-30 , M :
Mo VoV oVBoVoUWoWw oW oW S W\ U, 12
, , [ve,va], [Va, W] ,[ W, ]
, [w,v],[w,w]
H [Vi\lj] 1 V"V]
10-30 10-31(a)
(b)
il I’y Ly
T s By Big
ey ih)
10-31
: ( ) :
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1.
1 y ’ !
16 10-32 , MLV, B, , \b
V1 b &
10-32 \b Vi : : (v, i, W,w, W%,
6, V) [ve,wv], [v,w],[w,vw], [vw,%],[Ww,e],[W,w]
, V3 \b (v, Vi, 6, \,Va, \b,V), [Ww,M],[Vv, w],
[Vo, W], [V, V], [w,w],[v,w] : 10-33
T 2 1 4 i u Uig T
5 3 3
t i Ly 4 o . iy "
3 4 4
'r'-'.; 4 Ty 4 LY Ty Ly s,
10-32 10-33
10-33 | : :
2Wi2 + Wes + Wes +2Wis + 2 Wse + W7 + Wis + 2 Wis = 51
2. ,

10-33 : [vi,\w] )

v, w], [vw, 6], [w,w]
, [V, V] : ,

(1) :
, 10-33 10-34, 21

(2) :
10-34  , (v,%,Va, W%, W) 24, 14,
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o [w,w], [ W, w] [v,w],[w,
W ] : 17, 10-35
i 2 ] 4 i
{1 2 g 4 T
5 3 4 33 4
3 3 3| |3
i f i 4
e " & w4 n
5 4 4
’ 2 ° 4 |4 4
4 4
T 1 1y i
9 ] q Ty 4 Ty
10-34 10-35
3.
: (1) (2 , ,
(1) (2),
: (1) (2)
, : (1) (2
10-35 (M, v, W, \%,V,\%,\u), 13,
24, (2), 10-36 15
2 2 b 4 i 10-36, (1) (2)
5/ 5 ? 3 3 , 10-36
" 4
i 3 ) Py ’
5 4l (4 4
(2),
Ty 9 by 4 T
10-36 , 13
[1]
[2] [5] [6] [7] [9] [12] [13] [21] [22] [23] [4] [8]
[11] [1] [9] [214] Ed-
monds-Karp Dinitz Karzanov , Tardos

: [3],
[15]

Edmonds

( matching) [19]



[10]

[17] [20]

Lawler [18]

10.1

(1) 7,6,5,4,3,2
(2) 6,6,5,4,3,2,1
(3) 6,5,5,4,3,2,1

10. 2 Vi, M, LW .M VRV
6,6, , B, \b

10. 4 10-38

10-38
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( Traveling Salesman Problem) (



10.5 :(Pe),(N),(Pa),(L),(T),(M) 10-2
10-2
Pe T Pa M N L
Pe X 13 51 77 68 50
T 13 X 60 70 67 59
Pa 51 60 X 57 36 2
M 77 70 57 X 20 55
N 68 67 36 20 X 34
L 50 59 2 55 34 X
10.6 Vi, V%, W, 10-39

10.7
10.8
10.9
(1)
(2)

Dijkstra
10-41
10-42

Dijkstra

|V

10-40 i

10. 10

10-43

fa

oy

283 -



4

|
3 4 6
T 2
s 2 tls
10-43 10-44
10. 11 10-44 , (ci, fiy)
(1) ;
(2) ;
(3)
10. 12 10-45 ( (C‘j,flJ))
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(12-18), n=1,
UPR=A+p)Np)Po -APo; , = (M )’ P
Po=(N )" Po
A
=<1 ,
P ( )
z: P =1
0
P ,
Powpn:Po- L:l
2. 1-p
P =1-p
) <1 (12-19)
Ph=(1-pp ,n=1
n
P , p=Nu

p=(Yuy (¥A),
0 (traffic intensity) , p
, (12-19) ,p=1- P,
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(12-19) ,
(1) ( )
Ls = Z nP. = Z n(l-p)p"
=P+ +P+ ) -+ + P+
:p+p2+p3+ :—L, 0<p<1
1-p
_ A
Ls =0 oA
(2) ( )
Lq=z (n—1)Pn=Z nPn—Z P
a0 _ pA
TR ET T
W ( ), M M1 ;
F(w)=1-¢®™"" w= 0
f(w)=(u-A)e "
(3)
_ _ 1
W- = E[W] = 75
(4)
Wq=Ws.'l=_L
booH-A
n Wh
Ti Tn+1
Wh=T1+ T2+ + Tn+ Th+a
T
f(wln+1) Wh , n , W
f(W):io P.f(w] n+1)
Ti(i=2, ,n+1) Y] , T
(12-13) W,

(W =5 @ -ppr HEery = @ - pyuen vy BEZHS
=0 =0

n! n!

= (4 -A)e (-Mw

)

M -A

(12 -20)
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A pA
(1) Ls = (2) Lq=
M -A Mo-A
. (12-21)
_ 1 __p
(3) Ws—“_)\ (4)Wq—pl Y
(1) Ls=A W (2) Lo =AW,
12-22
(3) We= Wa+ = (4) L= Lo+ ( )
M M
Little
3 , 100
n 12 -8 100
: V( ) 12-9
12-8 12 -9
n fn V( ) fV
0 10 0.0 0.2 38
1 28 0.2 04 25
2 0.4 0.6 17
3 16 0.6 0.8 9
4 10 0.8 10 6
5 6 1.0 1.2 5
6 1 1.2 0
100 100
nfn
1 WL
(1) 100 ( / )
~ 100 ( )
1 _
( )=05.42=2°5C1 )
(2) A=2.1,u=2.5, ( X ),
2.1 , 2.5
_A 2.1
(3)p=1 =57=0.84
( ) 84% ( ), 16%
(4) (12-21)
21
( ) L=52"%51=525( )
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( ) L, =0.84x 5.25=4.41( )
1

( ) We=55.21°2°%C )
__0.84
( ) Wq_2.5-2.1_2'1( )
( : , )
, ( )
3.2 (M M7 N o)
N, : N-1,
N (
12-8)
HEP, F
T s ——— 1
l I
: BHe
mﬁ | |
- i-'v il2|—=1| 1 —i—-r
I B 51 l
| |
WS ___ j
12-8
N=1 ) N oo |
, 12-9
OmOTHEOWO
: ATl Dl ()
12-9
12-9,
M P =A P
uPn+l +A Pn-lz()\‘l‘H)Pn, < N-1 (12'23)
M Pn =APn.oa
(12-17), (12-18)
P0+P1+ +PN:1
p=MNyp,
Pozl%;N% pz 1
1p (12-24)
__1-p
Pn—l_pN+1p nS N
p=1 ( 9 )
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N ,
p>1 P ( APn)
(12-24) ( ):
(1) ( )
Z NnPx __p__ 1-p pzt 1
(2) ( )
=S (n-1)P =L - (1-P)
W
, A
N) 0, Ae=A(1- Pu)
1- Po=AJd
(3) ( )
We =) (1I-_SP0):)\(1 -LqPN)J“ul
(4) ( )
We=Ws-1p
M MY N o ( p21 ):
Lo (N+lp
1-p 1-p
JLi=L-(1- )
Ls
Ty
(Wo=Ws -1 p
4 6 6
3/ ,
N=7 A=3 |/ Mw=4 |/
(1)
Po:ﬁ20.2778
(2)
L= ?344 ] 18-(?3421)8 =21
la=Ls-(1-P)=2.11-(1-0.2778)=1.39
(3)
Ae=p(l- P)=4(1-0.2778) =2 89( |/ )
(4)
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Wo

15

(12-22)
(n=

(12 -25)



We= LiNe=2.172.89=0.73( ) =43.8( )

(5) (Pn7)
7 .
1.2
o () 3| o
i [u 1-vp)) L4 1_[@]8 >0
4
A=3 |/
Ls Lqg Ws W P P
u=4 /
N=7 2.11 1.39 0.73 0.48 0. 278 3. 7%
3 2.25 1.0 0.75 0.25 0
3.3 (M M 2 o/ m)
m ( ),
m m
m , ) 1
, ( ) ( )
( 12-10) 4 o |
m (M M1 nmt m)
HEBA F 51
C T i
T 4)1] | BAS [
| |
—— & 8§ —:-- [ T T T —— B %< _:_
L = |
I nt I
| [
b e e e J
o S— -
i -
12-10
; A( A
)
m- Ls, Ae
Ae =A (M- Ls) (12-26)
(M M 1 o m) ,
0 1, )
)\Po, m ( ) )
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M\ P 1 0, M P 0

MP =pP 12-11 : 12-11
mA (m=13A {m=n+1)A (m-nlA 3
ONOEOTROBOEBOYRSEO
12-11
|JP1=rT?\Po
MPoss + (Mm-nNn+DAP.a=[(m-nNA+p] Py, 1< < m-1
upm:)\Pm-l
z P=1( Mp < 1)
P = m 1 :
s
1 Zo (m- i) 1p (12-27)
_ _ m! [7\_]
\Pn—(m_n)!“ Po (1< n< m)
L=m-*1-m)
A
L=m. QHOL-R) g g
‘ A (12-28)
__m 1
TTp(l-P) A
(We=Ws -1
Ls , m- Ls

m - Ls=)J\J—(1- P)

5 5 : :
15 , , , 12
(1) ;

(2) :
(3) ;
(4) ;
(5) ;
(6) ;
(7)
m=5A=215u=24 12N pu=0.8
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-1

(1) P :{ (0.8) + (o 8)' + (o 8)’ + (o 8)° += (o 8)" + :(0.8)5}
=1/ 136.8= 0, 0073

|
(2) P = g—;(o. 8)° P = 0. 287

3) |_S=5-0—18(1-o.oo73)=3. 76( )
(4) Li=3.76 - 0.993=2.77( )

5
L (1-0.007)
12t

(5) Ws = - 15=46( )

(6) Wa=46-12=34( )
(7) , :

4
( 0 :
(1) M M c (M M d o/ o);
(2) (M M¢EN o);
(3) (M M ¢ o/ m)
4.1 M M c (M M ¢ o/ o)
M M ¢ M M 1
( ) Wi =Mz = =Hc=U
""""""""""" 1 ( n=o0;
+ M <9 p=g o<l
] —— !
______________________ | (
12-12)
, 12-13 1 0, (
) b P 2 1,
: 2u P :
n n-1 < ¢, P, n>c C
, C , N-C ,
q.IPn
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” (L

(n+l)p
12-13
12-13
M P =AP
(n+1)|JPn+1 +)\Pn-1=()\+m)Pn (1S nSC)
q,lpn+l +APn-1:0\+qJ)Pn (n>C)

Ls = Lq +)\_
Y

] _(_Q_)_L
Z(n o P = cI(1 - p) Po

[ nZl(n—c)Pn—Z nPM_Z Cln( p) P =

Little ,
_ L _Ls
Wo =, We =1
6 , :
( ), ( ) , u=0.4
: 12-14(a), M M c
A A 2.25
c=3,7=2.25p="=""(<1 :
u P= 3 (<1
(1)
P, = p = 0. 0748
) 25)° , (2.25)" | ( ) L (2.25)° 1 '
0! 1 31 1-2.293
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(12-29)

(12-30)



groiy (sroo2) [wooy o |dwoo)] [woon
p=04 | | p=04| [ p=0.4 u=04 | | pu=04 u=0.4
XIF H A=0.3 Ha:u_z A=0.3
Ha:n.c;
A=01.9
(a) (b)
12-14
(2)
_(2.25)°. 34 _
Ly = 3!(114)2 x 0.0748=1.70
Ls = Lo +NM g =3.95
(3)
W, =1.70 0.9=1.89( )
W:=1.89+10.4=4.39( )
( 3
_ (2. 25)° _
P(re 3) =377, 0.0748=0.57
4.2 M M c c MM1
, , 3 , 12-14(b)
A1 =)\2:)\3:0.913=0.3( )
, 3 M M1
M M1 , 12-10
12-10
(1) M M 3 (2) M M 1
P 0. 0748 0. 25(
P(re 3) =0.57 0.75
L 1. 70 2. 25(
Ls 3.95 9. 00(
Ws 4.39( ) 10(
W, 1. 89( ) 7.5( )
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(1) ( ) (2)( )
Po (12-29) (12-30) :
(12-29) (12-30) Po Lq c Wi -

C p Wq ' ” ]

12-11 Wy
N @

c=1 c=2 c=3 c=4 c=5
0.1 0.1111 0. 0101 0. 0014 0. 0002 0. 0000
0.2 0. 2500 0.0417 0. 0103 0. 0030 0. 0010
0.3 0. 4286 0. 0989 0. 0333 0.0132 0. 0058
0.4 0. 6667 0. 1905 0. 0784 0. 0378 0. 0199
0.5 1. 0000 0. 3333 0. 1579 0. 0870 0. 0521
0.6 1. 5000 0. 5625 0. 2956 0.1794 0.1181
0.7 2. 3333 0. 9608 0. 5470 0.3572 0. 2519
0.8 4. 0000 1.7778 1. 0787 0. 7455 0.5541
0.9 9. 0000 4. 2632 2.7235 1. 9694 1. 5250
0.95 19. 0000 9. 2564 6. 0467 4.4571 3.5112
* 0. 00005
_ A _
6 c=3,p =0.75 12-11,
3]
Wy g =0.8129
M=0.4, Wy =2.03
- 1

Ws—2.03+o.4_4.53( )

Lg=2.030.9=2.2( )

Ls =2.2+2.25=4.45(

4.3 (M M ¢ N )
N(= o, n N (
N-c) |, : M M c



P 1 p# 1

n!
Py = ¢ (12-31)
C—p”Po (c< n< N)
A
= ; =1 9
Y © P ( Y )
_ Po ’ N-c N-c
L= gy ol 1p - (N- 9" *(1- )]
Ls—Lq+(p(1'PN)
< 12-32
W = ——Le ( )
A(1- Pn)
Ws=Wq+l
v
N = c( ) , :
Po =c;k
(o)
< 2. k! (12-33)
P. = | P,0< < c
\ n!
, n=_c P. , ., A. K. Erlang 1917
[ - _ _1
Lq—O,Wq—O,Ws—H
) c-1 C n-1
c Py i_p_)_n! (12-34)
LS:Z NP, = . — =cp(l- F)
Zo n!
( )
7 : : A6,
(Yp) 2 (01,2,3, ,8 :

Ls Pec

12-12 (A =6,1p=2,p=Ny=12)
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12-12

(1) (2) (3) (4) . ®) (6) C_1(7)C (8)
n (p)"=12" n! ()7 n! ZO -(—?l—?—n P.( ) _0/ ZO Ls( )
0 1 1 1 1 1 — —
1 1.2x 10 1 12 13 0. 92 0. 08 0.92
2 1. 44x 10° 2 72 85 0. 85 0.15 1.83
3 1. 73x 10° 6 288 373 0.77 0.23 2.74
4 2.07x 10°* 24 864 1. 24x 10° 0. 70 0. 30 3.62
5 2. 49% 10° 120 2.07x 10° 3.31x 10° 0. 63 0.37 4.48
6 2.99% 10° 720 4.15% 10° 7. 46% 10° 0. 56 0. 44 5.33
7 3.58x 10’ 5. 04x 10° 7.11x 10° 1. 45x 10° 0. 49 0.51 6. 14
8 4.30% 10° 4.03x 10* 1. 07x 10" 2.52x 10° 0. 42 0.58 6.93
(4) :(2)Y (3)
(5)  (4)
(6) :(4)Y (5) P, (5) (6) Cc n, P
c=1 , ( ) 0.92
c=5 5 , ( ) 0.63
c=8 8 , ( ) 0.42
(7) Ls : ()
(8) :(7)x 12 Ls, ,
n=1 , L, =0.93( )
n=>5 ,Ls=4.48( )
n=8 ,Ls=6.92( )
4.4 (M M ¢ o/ m)
( ) m, m>c, : A
: : m , C ,
: A
n , M= Cc
(c- n) ;. c<mrEm , (n-90 :
c , ( ) Y
(1) B = = — ! ,

m! 1
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_ mA
P @
m ! Al
(m-n)!n![u] Po (0< n= o)
Pn = | T (12-35)
m! A
(m-n)!c!c“'C[p] Po (c+ls e m)
(2) ( )
Ls = NP
1
Ly = n- c) P
! nZ+l( )
Ae A ( )
Ae =A (M- L)
, m
(3)
LS:Lq+A—e:Lq+)‘—(m- Ls)
M M
Ms = LJ )\e (12 -36)
L Wq = Ld Ae
PO,Pn y
8 , 5 :
1 a4( | )
m=5A=1( / Y,u=4( |/ ),c=2,@ m=Npu=14
Rt RS DR RO
5151 4 41 4 2131 4 212 1L 8 8 8
= 0. 3149

P. =0.394, P, =0.197, Ps =0.074, P, =0. 018, Ps =0. 002
Ls=P +2P. +3Ps =0. 118

m

Ls = z NPn=L+cCc-2P - P =1.094
1

Ae=1x (5 - 1.094) = 3. 906
W, =0.118 3.906 =0.03( )
W.=1 094 3.906=0.28( )
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5 M/G/1

E[ 1=El 1+ E| ]
E[- ] ;
Ls = Lo + Le
JL (12-37)
Ws = W, + E[ T]
T ( ), T LE[T] =2y, (12-22)
Ls =A Ws, Lo =A W4
7 3
A Ae
5.1 Pollaczek- Khintchine(P-K)
M G1 , T  ( E[T]
Var[ T] ), M M 1 p<1
P=AE[T]
_o PN Var[T] ]
Ls=p + 2(1 -p) (12-38)
Pollaczek-K hintchine( P-K) A E[T] Var[T], T
Ls, (12-37) (12-22) Lo, Wo Wi
: , (
) : Var[ T] =0
Ls,
9 2 30
2
1
RAL = 1
)|
(v) 0 y<l1
A=125=04,u=1Y2=0.5p=NMNpu=0.8
_ -1 _
Ws—” _)\—10( )

- 330 -



Y : Y=1+ X, X 1
E[Y] =2,Var[Y] =Var[1+ x] =Var[ X] =1
P=AE[Y]=0.8

0.8 +0.4x 1
2x (1 -0.8) =28

La=L-p=2
Ws=LJ/A=7( )
We = Ld A =5( )

Ls=0.8+

5.2 M D1

T=2Yp,Var[T] =0
2

L (12-39)

Ls=p +
P*2(-p)

10

1 4
A =4, E(T):l—O ), P=70 Var[ T] =0

2
Ls=0.4+2—(%=0. 533( )

L,=0.533 - 0. 4=0.133( )

WS:%”:O.HS( y=8( )

wo=228=0033( =2 )
L. W,
5.3 M E/{ 1
12-15 | K T
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) T= Ti k A
) 2. E B 45 HILHG
E[T]=2 Va[T]=7 -2 B
[T T ar| I]_KHZ | hep kg kp
1 1 TTTTTTTTTTTTTTT T
E[T) = ValT]=1; 115
M Ed 1 ( , M M 1 )
Lmp s WE o (k1)
2(1-p) 2k(1-p)
Lo L1yt
T 2k(1-p)
Ws= LdA, Wo=LJA
11 , 4 4
, 2
55 /| 6 . 8 )
2
A=55 /[ |
M— ( );
Vpy—- ;
14—
Y4qu=2( )u=v8( I y=6( /| ),p=5.56,
T— i :
T
E[T]=2 Var[T-]:[ 1 ]2
' ’ ' 4x 6
_ 4 _ 5.5
E[TI=8( ), ValTl= 1w p=
@] ,_ 1
[ + (5.5)" x >
1, =25,L6 4x 6 _ 7 5188
S8
6
We=LJ/A=7.2189 5.5=1.3( )
6 _
6.1
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A m%ﬁ'{-IF
12-16
(
(
)
N
6.2 M M1
1. M M1
y4
G w=1
(12-21) Ls
dz
4’

10

) ( 12-16)
( )
)
),
M (
C,
P
M
Z=GU + Gvls
; Gu
~ A
Z—G“+GN u_)\
0,
dz_ . 1
di” ¢ TN ey
=0

(12-41)

(12-42)
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2 N
) N ) )
P ( , );
1- Pu ;
A1 - Py)
1 G , A(1- Pu)G
Z=A(1-Pn)G-au
v L-p"
_)\G l_pN+l QU
N N
=G M
v -A
dz ’ dz _0
du du
orer, N-(N+1p+p™ o
(1_pN+1)2 G
b ¢ GA N , u
o ( N) p
( 12-17), G o, TR
3.
m .,
1 ) I‘J:l CS’
G m- Ls,
z=(m- L)G- ¢y
)
Em-1
_mG _ (pJ
= . -Q“
P m
|
p
o X __m
En()= > Tkr ® P= u
gE =E E
dx m(X) = En-1(X) - En(X)
dz dz
) 1 =Ol
g o di
En {L]Em[i] 4N {Em[&]Em Z[L] i Ezm.l[&H
p p p p 0 p _ GA
Ezm[ m ] G
Y
m GG A, u ;
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, ( m) P ( 12-18) ,

%\ b/
e, AG
I —
m=4
0.5 =
0 1 2 m,u.'fla
12-17 12-18
6.3 M Mc C
M M c , , (
)
z=¢s- ct G- L (12-43)
C ; Cs ; Cu
L Ls L ( c
) ¢s Cw : of z ¢
z(0), c zZc)
C , Z(C) :
(Marginal Analysis), z(c ) ,
{z(c* )< z(c -1)
z(c )< z(c +1)
(12-43) z :
{ 6sc +al(c )< és(c -1)+al(c -1)
¢sc +al(c )< és(c +1)+al(c +1)
L(C ) - L(c +1) éd @< L(cC -1)- L(c) (12-44)
c=1,2,3, L : L : ¢d G ,
¢
12 , ( ) )
A 43 6 ( )
, u 25 1 (
) 4 MMc ( )
?
¢s=4 |/ =6 /
A =48 M=25 Npy=1.92
c, C 1,2,3,4,5, 12-11, Ls
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C 1 2 3 4 5
N @ 1.92 0. 96 0. 64 0.48 0. 38
Wq- — 10. 2550 0. 3961 0.0772 0.0170
L = 3_(Wq o+ 1) — 21. 610 2.680 2.068 1. 952
Ls (12. 44) 12-13
12-13
L(c) - L(ct+1)
c Ls( ©) ( ) 2(©)
L(o - L(c-1)
1 00 00
2 21. 610 18.930 o 154. 94
3 2. 680 0.612 18.930 27.87(* )
4 2. 068 0.116 0.612 28. 38
5 1. 952 31.71
% =0. 666, (0.612 18.930) , c =3
, (10-43)
z(c )=2(3)=27.87( )
7
13 : , 2
) , 12-14
( ) 1.5 [/
12-14
0 1 2 3 4 5 > 6
0.23 0. 30 0.30 0.1 0. 05 0.02 0. 00
( ),
13 ;
100 : 12-14 , 23 0; 30 1; 30 2; 10
3, 5 4; 5 ,



, 12-15

MS Excel RAND() X, 0<x<1
ROUND(RAND() 1000)
12-15
97 95 12 11 90 49 57 13 86 81
02 92 75 91 24 58 39 22 13 02
80 67 14 99 16 89 96 63 67 60
66 24 72 57 32 15 49 63 00 04
96 76 20 28 72 12 77 23 79 46
55 64 82 61 73 94 26 18 37 31
50 02 74 70 16 85 95 32 85 67
29 53 08 33 81 34 30 21 24 25
58 16 01 91 70 07 50 13 18 24
51 16 69 67 16 53 11 06 36 10
04 55 36 97 30 99 80 10 52 40
86 54 35 61 59 89 64 97 16 02
24 23 52 11 59 10 88 68 17 39
39 36 99 50 74 27 69 48 32 68
47 44 41 86 83 50 24 51 02 08
60 71 41 25 90 93 07 24 29 59
65 88 48 06 68 92 70 97 02 66
44 74 11 60 14 57 08 54 12 90
93 10 95 80 32 50 40 44 08 12
20 46 36 19 47 78 16 90 59 64
86 54 24 88 94 14 58 49 80 79
12 88 12 25 19 70 40 06 40 31
42 00 50 24 60 90 69 60 07 86
29 98 81 68 61 24 90 92 32 68
36 63 02 37 89 40 81 77 74 82
01 77 82 78 20 72 35 38 56 89
41 69 43 37 41 21 36 39 57 80
54 40 76 04 05 01 45 84 55 11
68 03 82 32 22 80 92 47 77 62
21 31 77 75 43 13 83 43 70 16
53 64 54 21 04 23 85 44 81 36
91 66 21 47 95 69 58 91 47 59
48 72 74 40 97 92 05 01 61 18
, , 12-16
, F(x),R [0,1]
X=F-1(R), F-i(- ) X
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12-16

0 0.23 0.23 00 22
1 0.30 0. 53 23 52
2 0.30 0. 83 53 82
3 0.10 0. 93 83 92
4 0. 05 0. 98 93 97
5 0.02 1.00 98 99
1.00
( 12-17) 3 , X
2 50 1 66, 12-16 .1
2, 12-17 2 9%, 12-16 4
50 12-17 (2) (3) , (4) (5) (6)
X (3) + (6) = (4);
5) ={ (4), <2
2 >2
, X
, 12-17
50 ,
36 , 1.58,
0.9 ,
12-17
(1) (2) (3) (4) (5) (6)
X 97 4 4 2 2
X 02 0 2 2 0
X 80 2 2 2 0
1 66 2 2 2 0
2 96 4 4 2 2
3 55 2 4 2 2
4 50 1 3 2 1
5 29 1 2 2 0
6 58 2 2 2 0
7 51 1 1 1 0
8 04 0 0 0 0
9 86 3 3 2 1
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12.1 :

(1) 10 , 100 , 12-18:
(2) 1000 ( ) ( ) 12-19,
A=1.6 ,
M=0.9 .
(3) : ? c=2,3,4
W, 12-11
(4) 6
3 , , ?
12.2 , )
4 , 6
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C(S+1) = G+ K(S+ - I)+rZ G (S - r)P(r)+rZ G(r- S1)P(r)

i+1 i+1

C(S) =G+ K(S- 1) +Y G(S-nNP(r)+Y C(r- )P

C(S:1) =G+ K(S: - 1)+ Z G(S:1-r1)P(r)+ Z G(r- S1)P(r)

- -1 i-1

o(S) S .S
C(S+1) - C(S)= 0
C(S) - C(S.1)< 0
AC(S)=C(S+1)-C(S),AC(S.1)=C(S)-C(S 1)

AC(S) = KAS + GASY P(n) - CASY P(1)
= KAS + GASY P(1) - QAS[l-Z P(1)]
= KAS+ (G + C)ASY P(1) - GAS = 0
AS% 0 K+(CG+C)Y P(N-C2 0

ZSlP(r)z g+é: N
5> P(ns< §+g= N
S

> P(r) < N= §+és > PN (13-30)

(1330) S s 0=s- |
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A'S)

C(S:1) - C(S)

AS#O0,
S,
10
60
| =10,
S=40
|>s

C(S-1) - C(S)= 0
C(S)-C(S.1)< 0

KaS+ CGASY P(r) - GASY P(1)

KAS+CASY P() - CA s[1- 5 P(r)]

KAS + (G +G)ASY P(1) - GAS

KAS+(G+Q)ASZ P(r) - GAS=0
S

G - K _
ZS.P(r)2 C+ G N

5 P(s N
S
P(r) < N< P(r
3 P 3 P
S= S, Q=S- |
, 800
G =40 G =1015 =10

P(r=30 )=0.20, P(r=40 )=0.20
P(r=50 )=0.40, P(r=60 )=0.20

_ 1015 - 800

N="1015 + 49 U 0-204

P(r)> N S S
S,

P(30) =0.20 0. 204
P(30) + P(40) = 0. 20+ 0. 20= 0. 40 > 0. 204

S = 40, S
Q=S- 1=40-10=30
30
, S 30,40,50
S 40 ( 13-4)
: Q=30
, | ?
. I< s , S, Q=S- |
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13-4

S giko Gy (S- 0P Gy (- 9P

30 10 20 16060 0 16240 32300
40 10 30 24060 80 8120 32260°
50 10 40 32060 240 2030 34330

S :
KS+Z Ci(s-r)P(r) +z C(r-9gP(r)s G + KS+

ZSQ(S- r) P(r) +ZSCz(r- S) P(r) (13-31)
S fo,h, ,Im (13-31) n(r< S S
s<S ,(13-31) :
: , s= S
( 0<G) S S S :
S 10 S S=40,
S r 30 40
30 S (13-31)
800 x 30+1015% [(40-30)x 0.2+ (50 - 30)x 0.4 + (60 - 30)x 0. 2]
= 40240
40 (13-31)

60 +800x 40+ 40x [ (40 - 30)x 0. 2] +1015% [(50 - 40)x 0.4 +
(60 - 40) x 0. 2] =40260
40240, 40260, , 30 r S
10 [, | > 30
< 30 40

30

P(r=80)=0.1, P(r=90)=0.2, P(r=100)=0.3
P(r=110)=0.3, P(r=120)=0.1
G =2825 , K=850

G =45 ( )
G =1250 ( )
1250 -850 _
(1) (13-30) = ey as = 0- 309
(2) S

P(r=80) + P(r=90)=0.3 0.309
P(r=80) + P(r=90) + P(r=100) =0.6> 0. 309
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S=100
(3) (13-31) s
S= 100, (13-31)
2825 +850x 100+ 45x [ (100 - 80)x 0.1+ (100 - 90)x 0.2+
(1000 - 100)x 0. 3] + 1250x [(110 - 100)x 0.3+
(120 - 100)x 0. 1] = 94255
s= 80, (13-31)
850 x 80 +45x (80 - 80)x 0. 1+ 1250x [(90 - 80)x 0. 2 +
(100 - 80)x 0.3+ (110 - 80)x 0.3 + (120 - 80)x 0. 1]
= 94250
94250 < 94255, s= 80
1< 80 100, | > 80

12 : ,

0. 000001€e **™ " >0
f(r) =
0 r<o

12 G =0,G=0,K=2,C =3,

_3-2_
N—3+0—0.333 , S

S S
I f(r)dr :I 0. 000001€° *°**"dr = 0. 333

- 0.000001x% r

S
, =0.333

- 0.000001%x s

=0.667

S= 405000( )
(13-31) s

2% s :Ox (s- r)f(r)dr+J3°;(r— 9 f(r)dr< 2x S+

J’ OSOX (S- r)f(r)dr+J'32(r- S) f(r)dr

2 x sf :gx (r- 9 f(r)dr< 2x s]f st (r - S)f(r)dr

: s= S, 405000 :
405000 s=S ? ,
371 -



r , f(1) , S J'Osf(r)dr: N
3.4 (
)
t r @:(r)
, pt X : P(x)
G, G,
G, D : ( )
L , B L X, X, ( 13-11)
0 \ \
:\
P N NS
0 - | T — ] | T | T
13-11
B, L, Q, ?
E.O.Q )
_ _ 12GD _D
Q=E.0.Q= G I’b—QO
( My , Q)
L D.
81 ’ U
L=D + B=pyp+ B
L : ,
P. = Z P(x)Fx(L)
- P(x) X ,
Fx(L) L( L ) X r>L
Fa(L) = 5 @(1)
P. , GP.,n
nG P [%Qws]o o
nGP.+GB L B
L:up+B L B

372 -
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13 ( ) , t @:(r)

0.(n =00
p=1, D 365 t r
Qi(r) =51
X
P(X) = —e 0%
Jono
u=15( ), o =1
_ 1l k97
P(x) = E
50 1500 5000
? Q, B, L, ?
Q = j%’ 0 148( )
n = a?a 2.5( )
L B, 13-5
13-5
P( x
() X ( ;(X)_;e.(x.ls)%z( | ¢
T ( P X)
13 0. 05 13
14 0.24 14
15 0. 40 15
16 0.24 16
17 0. 05 17
X T L x.or
() r> L, F (L) , FX(L)zzLe‘r—le-Zoe‘r—;‘
L=15 L=21 L=22 L=23 L=24 L=25 L=26 L=31
0. 236 0.014 0. 008 0. 004 0. 002 0. 001 0 0
0. 331 0. 029 0.017 0. 009 0. 005 0. 003 0. 001 0
0.432 0. 053 0. 033 0. 019 0.011 0. 006 0. 003 0
0.533 0. 089 0. 058 0. 037 0. 022 0.013 0. 008 0
0. 629 0. 138 0. 095 0. 063 0. 040 0. 025 0. 015 0. 001
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()=(

)x ()

P(x) Fx (L)

L=15 L=21 L=22 L=23 L=24 L=25 L=26 L=31
0. 012 0 0 0 0 0 0 0
0. 079 0. 007 0. 004 0. 002 0. 001 0. 001 0 0
0.173 0. 021 0.013 0. 008 0. 004 0. 002 0. 001 0
0. 128 0.021 0.014 0. 008 0. 005 0. 003 0. 002 0
0. 031 0. 007 0. 005 0. 003 0. 002 0.001 0. 001 0
13-5 P. B 13-6
13-6
L L=15 L=21 L=22 L=23 L=24 L=25 L=26 L=31
P 0.423 0. 056 0. 036 0. 021 0.012 0. 007 0. 004 0
B 0 6 7 8 9 10 11 16
5287. 5 1000 800 663 600 588" 600 800
.
P. = zlsP(x)Fx(L),B = L-pX
n G P.+ G B=2 5x 5000x P.+50x B
13, 18 :
L , L
L=25,B=10 588"
148 25 2.5 ( 5 ),
10
, , 13
: B=10 , D
—pp = 15 25
4
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4.1

14 A, I, m

a, b,(i=1,2, ,m)

C= Zm (ayi - bxi)

x,y C (i=1,2, ,m) Xi, Vi,
(1) , A;
(2)
(3)
( ):

(1)I+Z(xi-yi)s A, (s=1,2, ,m)

(2) ys < I+i (x - v), (s=1,2, ,m)
(3) x=0,y=0(i=1,2, ,m)

13.1 1800
60 200

13.2 100000
30 600 ;

(1)
375 -



(2)

13.3 , 18000 |, 3000 |
5000 | 15
13. 4 4 50 8
10
13.5 2000 150 |
16%, 100 , E.0.Q
13.6 5 , s , G =200
13.7 50 20 3.6
(1) EO0.Q
(2) : ,
4% , ?
13.8 , 5000 | 500
10 0
1500 18 ?
( : G + KQ, K
13.9
( ) ()
0 1999 100
2000 80
10000, 2000 20%, ?
13. 10 E.0.Q
E.0.Q ,
13.11
() 20 30 40 50 60
P(N (S P(r)=1) 0.1 0.2 0.3 0.3 0.1
G =500 K=400 | G=5
G =600 (s 9 . s S
13. 12 r , t
o (n) = 00 1p=1)
X
P(x) = —2—e (7%
Jno
u=14 o =1
G=125 c=10 |, G=3
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[1] : : : ,1978
[2] : : ( ), 1984
[3] : : : : ; ,1995
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1.1

378 -

20

40
(O .Morgenstern)

14

20

50

1994

1944

( Nash)

(von Neumann)



1.2

) (

s=(s,s,

, S)

) (

1={1,2,

) (

, N}
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S=Sx Sx X S

, SIS
Hi(9) , Hi (S) S : [
, 1={1,2},
S={a1,az,aa,a,aa,as} Sz{Bl,Bz,Bs,B4,Bs,Be} ,
Bj S al:( , , )1B1:( ) ] )1
S1 Hi(s:) =3, Ho(s:) = -3,
1.3
1 ( ) : 4000
14-1( ),
14-1
2000 3000
1000 3000
2 ( ) :
[0,1] X , y
C )
[ o(y- x) X<y
H( X, y) =) %c(l- X) X=y
L ¢c(1- Xx) X>y
?

3 ( ) 3 A B C
3
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n Pz, v Py Pn > Pn-1 > >
Pz, n Pn-1, ,
? ?
5 ( ) :
1 ) 7 )
1) 1 1 1 )
1 9 ) )
(1) : ;
(2) ,
(3) :
(4) :
: (finite two-person zero-
sum game),
2
2.1



)Gl ,a2 ,am, n Bl ,Bz , ,Bn,

S ={Bl ’[321 lB”}
ai Bj (Gi ,Bj)
mx< n (Gi ’Bj) ] aj,
i1 a2 cin
&1 & &n
A=
an awe Ann
( )
S S A
G={ 'S, S A G={S,S ;A
14 -2
14-2
[Be] [B:] [Bs ] [B4] [Bs] [Bs ]
)| ( )| ( )| ( ) [ ( )| (
o1 ( ) 3 1 1 1 1 1
oz ( ) 1 3 1 1 1 1
s ( ) 1 -1 3 1 1 1
04 ( ) -1 1 1 3 1 1
s ( ) 1 1 -1 1 3 1
06 ( ) 1 1 1 -1 1 3
3 1 1 1 1 -1
1 3 1 1 -1 1
1 -1 3 1 1 1
A=
-1 1 1 3 1 1
1 1 -1 1 3 1
1 1 1 -1 1 3.
)
6 G:{S,S;A}, S={G1,G2,G3,G4},Sz{Bl,BZ,Bs}
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-6 1 -8
As 3 2 4
9 -1 -10
-3 0 6
A , 9, : s
: s , Bs
; 9 10
: Ol4 , 10 6 : :
6 01,02 ,0z ,04 ( A
) -8,2, -10, -3
( ) ( ) 2 :
O , ;
2; : 2, :
: B1 B2 ,Bs ( A )
9,2,6
( ) 2,
B, : 2;
: 2 ; i ¥
a: P, (
2) : ,
: az [
1 G={S,S; A S ={0:,0z2, ,am},S ={B:,B2, ,
B}, A= (@i )m s
max rTJ]in aij =mjin max aij = a’" ;' (14-1)
, Ve=a Ve G : (14-1) (a* Bi*) G
( ).ait By :
1 : ( )
7 G={S,S; A},
-7 - 8
As 3
16 - -
-3
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B. B2 Bs mjin aij
o -7 1 -8 -8
a2 3 2 4 2"
a3 16 -1 -3 -3
Oy -3 0 5 -3
max  aij 16 2 5
max min a; = min max aj = a =2
i i j i
1,Ve=2,G (0z ,B2) ,02 B2
7 ) A a22
a< a< & 1=1,2,3,4; j=1,2,3
1 G={S,S; A}
(ai* ,Bi* ) i=1, ,mj=1, ,n,

(14-3) (14-4)

384 -

ai*<s a"'ji"< a“j
, i, ]
aij”

I
2
I
®

max ai;* < a*;*< min a*;
i J

min max a;< max aj*
J [ i

min a* ;< max min aj;
J | J
min max a;< a*;* < max min a;
i [ [ j
I, ]
min a; < a;< max aij
J i

max min a;< min max aij
i ] ] |

max min a; = min max a; = a* ;"
i j j i

Ve =a" "
i* ’j*
min a*; = max min aj;
J | J
max ai;* = min max aj
i j i

(14-2)

(14-3)

(14-4)



max min a; = min max aj
I ] ] I

max a;* =min a* ;< a*;* < max a;* =min a-
i j [ |

I
aj's max a;’ < a'yt < mjin a’ i< a;
2 f(x,y) X A y B , X A,
y B, x A vy B,
f(x,y ) f(x ,y)s f(x,y) (14-5)
(X ,y) f
2 1 : G , Ve=a";
Pact A , A
1 (14-2) a* i A= (aj)men |
: i ,ooan (@i B )
(i Bi") : o
: : Bi*, ; :
B~ i,
(@i B )
8 G={S,S; A}, S ={o:,0:,0:,04}, S ={B,
B2 ,Bs Ba},
(6 5 6
As 1 4 2 -
8 5 7
L0 2 6 2-
A :
Br B Pz Pa |min
Gl 6 5 6 5/5
o211 4 2 -1|-1
ozl 8 5 7 5
a.L0 2 6 2
max 8 5 7 5
max rTj\in ai :mjin max ai; = a*;’ =5
i =1,3; j =2,4
(0 ,B2), (0n ,Ba), (0 ,B2) , (05,4 ) , Ve =5
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1 (CXi1 ,le) (Gi2 ,sz) G , a-ljl = a2j2
(o, ,Bi,)  (ai,,Bi,) G , (o, Bi,)
(ai, ,Bi,)
: Ve
9
15 , 10 20
100 ,150 200 100
, ?
10 15 20 o1 ,002 ,0s
( ), ( )
: B:,B2,Bs
(
) , :
B ( Ba ( )Bs ( )
o: (10 )| -1000 -1750 - 3000
o: (15 )| -1500 - 1500 - 2500
oz (20 )L -2000 -2000 - 2000
max min a; = min max ai; = as = - 200
i j j i
((13 ,Bs) , 20
2.2
, G={S,S; A ,

Vi = max min aij
[ J

V. = mMin max aij
j i

v < W, 1,

386 -



M =max minaj; =4,i* =2
i i

Vv =min max a; =5, * =
j i

v =a1=5>4=w

a: B, 5, v =4 ,
B, B :
B2 , o8} 6,
B1 (of : (o PR 0
Br  Pe :
, v < W , G :
¥4 34 O Oz, {a.,0:}
, : ) Y212
B Be
3 G={S, S; A}, S ={o:,02, ,am},S ={B:,B2, ,
Bn}, A=(a;)mn
S :{x E"| x>0, i=1, ,m, Zmlle}
s ={y Ely=20 j=1 ,n Zlyjzl}
S S ( ):x S y S
( ); X S,y S, (XY) (
)
E(x,y)= X Ay= Z Z aj Xi i (14-6)
G ={S ,S .B, G G
3 : Ok
X=(x, ,X) S,
{1 i =k
X =
0 i#Z k
X= (%, ,Xn) G
i, ,Om : Xx=(x,
Xm)'
G
X
( )
min E(X,y)
y s
X S, ( ),

387 -



v =max min E(X,Y) (14-7)

X Sly 52
Vv = min max E(x,Y) (14-8)
y Sl X 82
: (14-7) (14-8) :
E(X,Y) E™ " D :
_{(Xy)lxl— 1y]20|:11 1mlj:11 lnl
z i = 1, Z y; = 1}
, X, E( X, Y) S ,  minE(X,y) , min E( X,
y S, y S,
y) S , max min E(X,Y) min max E(X,y)
X S1 y S2 y 52 X Sl
, M w :
max min E( X, y) —mlnE(x y)
X Sly 52
min max E( x, y)—max E(x,y )
y S X Sl

M =min E(X ,y)< E(x ,y )Smax E(x,y )=w

y S x s
4 G ={S ,S ;B G={S,S;A ,
max min E(x, y) = min max E(X,Y) (14-9)
C sy s yos xS
Ve Ve G , (14-9) (X ,y) G
( ), Xy (
)
: G={S,S; A G ={S,S E} :
G={S,S;A G ,
: E(X,y)
1 : G
2 G={S,S;A X
Sy (X .,y ) E(X,y) x S,y S,
E(x,y )< E(X ,y )< E(X ,Y) (14-10)
1, aj E(XY), . G
, 4 G Ve
G (X ,y) Ve =E(X ,y )
10 G={S,S;A
o
5 4
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Y=(Y,))

S

X=(%,X%)

={(x,%)| %, %=20,x +x =1}

S ={(y,¥) Iy, p=20,yn+y=1}

E(X,y)=3x Yy +6X ¥ +5% % +4x

=3x yh+6x(1- yn)+5y(1- x)
+4(1-x)(1-w)
= -4(x-Va4)(yn-Y2)+92

X =(¥4,34),y =(V212),
E(x ,y )=9 2,E(x ,y)=E(x,y )=9 2,
E(x,y )< E(X ,y )< E(Xx ,y)

X =(¥4,34) y =(U2,12)
)VG:9'2
2.3
a E(1,Y),
E(i,y) = Z ai i
Bi E(x ),
E(x,j) = Z aij Xi
(14-11) (14-12)
E(x,y) = Z Z aij Xiy; = Z (Z aij yi) X
:Z E(i,Y) X
E(x,y) = Z Z aij Xiyi = Z (Z ai Xi) Vi
=Z E(X, )y
2
3 X S,y S, (x,y) G
1=1,

E(i,y )< E(X ,y )< E(x ,])

(14-11)

(14-12)

(14-13)

(14 -15)
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(X ,y) G , 2,(14-10)
. (14-15) . (14-15)

E(x,y )= S E(i,y )x< E(x ,y*)z x = E(X ,y )

E(X ,y) = > E(x ,j)yiz E(X ,y*)z yi = E(X ,y)

(14-10)
3 : (X ,y ) G , (14-15)
(mn )
1 3 1
4 X S,y S, (x,y) G V,
y () () ,  V=Ve
ZainiZ Vv ] =1 n
()Y x=1 (14-16)
x = 0, =1
Z a;jyi< v, 1 =1, 'm
()3 y=1 (14-17)
yi =2 0, ] =1, ,n
5 G={S, S A},
3, X S,y S, (14-15) ,
max w
’Z ajXi=2 Ww, j:l, , N
(p)‘inzl
Xi=2 0 =1, ,m
min v
Z ajyi < Vv, i=1, ,m
(D)<Zyj:1
yi=z 0 ] =1 n
(P) (D)
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(P)
y=(1,0, ,0)" E', v=max au
(D) (P) (D)
(X ,w) (y,v), V =w X S,y S Vo, i =
1, ,m j=1, ,n,
Z ai;yf < V* < Z aini* (14-18)
E(i,y )< V < E(X ,]) (14-19)

E(x*,y*)zz E(i,y )x € Vv - Z Xi =V
E(X ,y ) =3 E(X )y 2 v - > yi =V

Vv = E(x,y ),  (14-19)  (14-15)
5 , '
6 10 ’
6 (X ,y) G ,V= Vs,

(1) x* >0, Z aijyi* =V
(2) yir >0, Z aj Xit =V
(3) Z ajyi© < v, i =0

(4) Z aij Xi* >V, yir =0

v=max E(x, y )

X S
1

Za.,yJ —maxE(xy)-E(ly)> 0

[ Za,yj]=v- Za.Jx.y, =

x =0, i=1,
, x >0 , Z aijyl‘* = Z auyl <V , X =0,(1) (3)
(2) (4)
G T(G),
7
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G={S,S;A}
G={S,S; A}
A=(aj),A=(a;+L),L
(1) Ve, = Ve, + L
(2) (G)=T(&)
8
G={S,S; A
G={S,S;aA}
a>0
(1) Ve, =a Ve,
(2) (G)=T(&)
9 G={S,S;A — A= - A
)
(1) Ve =0
(2) (G = T (GQ), L(G T(G)
7 9 10
5 G={S,S; A, S ={m,
A=(aj) =1, n a’i= ad;, A
ai° aw;
ar’s an® A ° i
Bie B
10 G={S,S; A} , S ={m
A=(aj) (of! 02 ,Olm
G
G={S3:,S; A}
S: ={02, ,am}
A =(aj")m-nxn
aj = aj i=2, ,m j=1,
(1) Ve = Ve;
(2) G G :
(3) (x )" G X
G
02 O
&= aj ] =1, n
X =(x% Xn) Y = (¥ y») G

(14 -20)



i, (14 -20)

(14-21)  (14-22)

n m
Z ajyi < Ve < Z aj Xi
1 2
I = ' , N

2, ,m;j=1

Zn aljyi* < Zn azjyj* < Ve
1 1

n m
Z aijy;* < Ve < Z a;j Xi* + aj-
1 2
i )

4,(x ,y) G

10

=1, ,m J=1, ,n

E(i,y )< Ve< E(X ,j)

=1, ,m; j=1, ,n
X =(0,% , ,X)",
Oz, ,Om
A :
G
G G :
'3 2 0 30
5 0 2 5 9
A=l7 3 9 5
4 6 8 7 55
L6 0 8 8
1 , 3 2
/7 3 9 5 9
A = 4 6 8 7 5.5
6 0 8 8 3
.2 4 U 3x (
4 5
7 3
A= 46
60
Ao 3

0

Ve = Ve

1 )+23x (

(14-21)

(14-22)
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A, , 4, ( ).C )

~

7% +4% =2V (7y1+3yzsv
<3xe+6x42v <4y1+6yzsv

) X+ % =1 ) o+ =1
L %, %= 0 Ly, 2 0

7% +4% =V Ty +3y =V
3% +6X =V 4y +6y =V
X+ x =1 i+ =1

x =13, x =23
vi =12, y =

v=5

x =(0,0,1 3,2 3,0)"
y =(1¥2,22,0,0,0)

Ve=5
3
3.1
1. 2x 2
2% 2 2% 2 :
a1 a2
Al ]

ce1 2

A : ; A :
X LV : 6 :

a1 X + a1 X =V
( Wazxt+tax=vVv (14-23)
x+ %=1
airyy +azy =V
( Wayptay=v (14-24)
i+ yp=1
394 -



) Yy =(y, %),

12

X =(12,12)7,y =(14,34)7,

2. 2Xx n

13

T

1-X)

x=3 11, Vs =49 11

n mx 3

S ={o:,0:},

(x,1- %", X

G={S,S; A},

2 3 11
7 5 2

S ={B:,B2,Bs}
[0,1]

|

(14-29)

() ()
)(1_* _ 2 -
T (artaz) - (az+ a1)
Xz*_ i1 - 2
_(al+&2)-(az+&1)
L 2 -
n (ar+ @) -(az +a)
s i1 -
¥ (ar + @) -(az +ar)
Ve = i1 2 - A2
T (ai+az) - (aw+ a)
G={S,S; A},
23
A=
4 2
(14 -25)
52

14-1
B: B Ps

2Xx+7(1- x)=V
3x+5(1- x)=V
11x+2(1- x)=V

{3x+5(1- X) = Ve

B. BB B

Ve,

14-1

11x+2(1- xX) =Ve

X =(3 11,9 11)’

X*

:()(1*’

(14-25)
(14-26)
(14-27)
(14-28)

(14-29)
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11

7 B,
5 E:
B, H
B, 3
Iz / 7
0 i ez T

14-1 2x n

B2 Ps
, y =(¥ ¥, %) ,
E(x ,1)=2x 3 11+7x § 11=62 11 >49 11= Ve
E(x ,2)= E(x ,3)=Ve
6 , i =0,y >0,y >0

3y +11y =49 11
5y + 2y =49 11

y+ =1
vy =911,y =2 11 y =(0,9 11,2 11)'
14 G={S,S: A, S ={a:,02,0:}, S, ={B: B2},
2 7
A=| 6 6
11 2
(y,1-y)", 14 -3 , o Oz O y [0,1]
(y,1-y)'
: Y,
14 -2 , OA < y< OA:, 6
2y+7(1-y)=6 11y+2(1-y) =6
OAL =15, 0A =49 y =(y,1-y)", 1 5<
(0,1,0)7, o2

yszvg;
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15

15

-

iy

i

14-2 mx 2

[4 g3 4 2]
A=

1 5 5 7
, 2 3

(23)x( 4 )+@3)x( 1 )=(

A 2 y
A_
1

X = (34,1 4)
y =(98,0,0,3 8)’
Ve =13 4

, 14 -3 ,

Y =(¥ %, %,.¥%), ¥

4y + (§ 3)y: +2y. =13 4
i +5yp +7y =13 4
oty +ty=1

X =(34,14)
=0, Vi ,¥% .,%
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T ]
I \ B2
' 2
B, |
| /
| ,fff
; yd .
ol 304 -
14-3
3.
4, (X ,y) (14-16) (14-
17), 5 6, o v |
> axi=v, j=1,.,n
14-30
Z Xxi =1 ( )
Z aiyi =V, =1, .m
(14-31)
Z yi =1
(14-30) (14-31) Xy, (X . y)
Xy : . (14-30)
(14-31) | |
oy ! Xy ,(14-30)
(14-31) | |
16 L ”
3 1 1 1 1 -1]
1 3 1 1 -1 1
1 -1 3 1 1 1
A=
-1 1 1 3 1 1
1 1 -1 1 3 1
1 1 1 -1 1 3l
) A f
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X =(x %, %, % ,%,%) Y =(¥,¥%, %, %, ¥%,%)
A : ,
x >0 'y >0,i=1, ,6;j=1, ,6,
(3%t Xt X- Xt X%t X
X +3% - X%+ X+ X%+ %=
XX+ X% +3%+ X - X% X6
+ X+ X% +3Xx%+ X% X6
- X+ X+ Xx+3%+ X% =

+ X+ X+ X+ X% +3X% =

Y
Y
Vv
Xt =V (14-32)
Xt Y
X Vv
X+ X+ X%+ x+ x+ %=1

3+ v+ B+ U+ - V=
Yo +3y%+ et i - Yt Y=
Yo - Y t3yt Yt Yt =
1 -t v+ B+H3yt+ B+ =
Yot Y- Yyt Ya+3¥+ ¥ =
Yot et Y- et Y +3¥% =
ot et it oyt pt+ w=1

(14-33)

x=16, i=1, ,6
yi=¥6, j=1, ,6
v=1

X =(16,16,1616,1616)" y =(1616,16,16,16,16)"
( ) Ve=1 , 16

17 01 O2 Qs B: B2 Bs,
: 14 -3
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14-3

B B2 Bs
o1 3 4
o> 1 2
O3 2
, 01 O O3
(x,%, %), B P Ps (Y, ¥, 9)
, 7,
1 -4 2
A=A-(2sxs=| -3 2 0
0
G, ;
X - 3% =
-4x +2% =
< (14-34)
2% + 4dx =
Xx + x+ %=1
Vi -4y +2y =V
jowrey =V (14-35)
4y =V
ot vt yp=1
; . (14-34) 3
, (14-35) 1 ,
X - 3% =V
-4x% +2% =V
) (14-36)
2% + 4dx >V
Xx+ X+ x=1
Vi -4y +2y <V
[ owrey -V (14-37)
4y =V
it et yp=1
6, (14-36) (14-37) X y x =0,y =0
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x =0,% =1
vy =25, y =35
vV =0
x =(0,0,1)", y =(25,35,0)
( YVe=V +2=2

3.2

5 : G={S,S; A}
, 4 : G Xy
ZainiZ v, |j =1, ,n

()2 %=1

x>0, 1=1, ,m

Za”y,_ v, i=1, ,m

)

v=max min E(x, y) = min max E(X, y)

x Sy s y s x s
Ve
11 G={S,S ;A Ve,
Ve—max min E( X, J)—mln max E(i,y)

* 1< j< n &*
y 3

Ve :
Ve = max min E(x, y) = min max E(X,y)
X Sl y S2 y SZ X S
, X S,
mn E(X, )= mip E(X,Yy)
S2

1< j€ n

max min E(X, j)= max min E( X, Y)
Xsl*l<J<n sty%*
, X S,y S,

n

E(x,y)= Zl E(X,j))- = min E(X,])

1< j<n

min E( X, y)= min E(X, ])

y 82 1< j£ n

max min E( x, y)= ma3< m|n E(X,])
x S y S, S ==

(14-44)  (14-46)

(14-38)

(14-39)

(14 -40)

(14-41)

(14-42)

(14-43)

(14-44)

(14-45)

(14-46)
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(14-38)

Ve = max min E( X, )

1< js< n
X Sl

Ve = min max E (i, y)
y S;ls < m

v>0):
Xi=Xi/V, I=1l 1m

)‘inzjlv

(X2 0, 1=1, ,m

11, v=max min aij Xi

*1< j<
X S1

, ()

(P,

(14-39)

V= min maxz aivy,

*1< i€ m
y S,

n .

’minzzz X'i

Zain'iZ 1, j=1, ,n

max w= Z Y
(D)< Z aijyj < 1, =1, , M
yi2 0, =1 n
, (P) (D) '
, (D) :
: (P) (D)
(D) , (14-47) (14-50)

18
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’Z aixi =21, j=1, ,n

(14 -47)

(14-48)

(14-49)

(14 -50)

(14-51)

(14 -52)

(P)



mn(x + % + %)

© N N

o © N
-
_ © ©

(7x + 2% +9%> 1

J2x + 9% > 1 (14-53)
IO9x + 11> 1
L X, x,x=0
max(y: +y + )
(7y1+ 2y +9y< 1
|2y + 9y <1 (14-54)
Oy + 1lys< 1
Ly, ,g=20
14-4
G 1 1 1 0 0 0 w
G X8 b Y1 Y2 Y3 v} ¥ U
U 1 7 2 9 1 0 0
0 b 1 2 9 0 0 1 0
0 b 1 [9] 0 11 0 0 1
G-1Z 1 1 1 0 0 0 0
0 U 29 0 2 4 9 1 0 -79
0 W 719 0 [9] |-229 0 1 -29
1 Vi 19 1 0 11/ 9 0 0 Y9
G-z 0 1 -2/ 9 0 0 -1 9 19
0 U 4 81 0 0 [80/ 81] 1 -29 - b9 81
1 Yo 7 81 0 1 -22 81 0 Y9 -281
1 Vi V9 1 0 17 9 0 0 /)
G- Z 0 0 4 81 0 -19 -7 81 16 81
1 Vs 4 80 0 0 1 81/ 80 -18 80| -59 80
1 Vo Y 10 0 1 0 22/ 80 4 80| -18 80
1 Vi ¥ 20 1 0 0 - 99 80 22 80 81 80
G-12 0 0 0 -4 80 -8 80 -4 80 14 80
(D), 14-4 , 14-4 (D)
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{ y= (1 20,7 10,4 80)" = (¥ 20,1 10,1 20)"

w=16 80
14 -4 (P)
JL x= (4 80,8 80,4 80)" = (¥ 20,1 10,1 20)"
z=14 80
Ve =80 16=5

X =Ve (120,110,720) =(1 4,2 4,1 4)
y =Ve- (120,710,%20)" = (¥ 4,24,14)

, , 7 8
, [1]
4 *
4.1
G={S,S;H} : S S
, H I
v = max minH( B)
\b =Bmin max H(ai,Bi)
Vi Y U< v,
6 G={S,S; H} ar S ,Bi
max Amin H(ai Bi) = minumax H(@i,Bi)=H(a* Bi*)
Ve, Ve G ) (14-55) (ai* Bi*) G
it By
12 @ Bi') G={S,S; H}
ai S,Bj S,
H(Gi,Bj* )S H(O(i* ,Bj* )S H(Gi* ,Bj)
19 [0,1] X
H(x y)=2X - ¥ , H ,
14 -4 H(X,Y)
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[0,1]

(14 -56)



(1,1), a” =18 =1
,VG =1
(ai Bi*)=1(1,1), (14-56)

, (14-55)
G={S,S;H}
i : X Y
14-4 S S (
), X Y
,FX(X),FY(y) X, Y ) |
4 .
H(X, )
H(X y) HOG ) dR(x)
H(X,Y)j' H(x, y)dF ()
S
H(X,Y):II SZH(x,y)de(x) Fe(y)
.
sgpigf H(X,Y) =igf sup H(X,Y)=Ve (14-57)
G , (14-57) (X ,Y") G XY
13 (X ,Y") G={S,S;H} : X X,Y Y,
H(X,Y )< H(X ,Y )< H(X .,Y) (14 -58)
S=5=[0,1], H(x,Yy) ,
[0,1] [0, 1]
D,
H(X,Y)j’ﬁ CH(x, y)dFx (X)dFv (y)
vl:r)pagYmiDn H( X,Y)
\/z:rYniQ max H( X,Y)
14 , V=W
20 ( ) , A B
1 1 A
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A X A y
w313
y'l-y
y,
_xu} 1459
max max Ty (14-59)

S=S=[0,1], H(x y) = max u}

yl-y
( )y =12,
( ) 0.5 0 1,
A B Ve =
2(
)
4.2
(1) 1={1,2, ,n};
(2) 'S,S, ,S( );
(3) :s=(s, ,s) Sx x §;
(4) i Hi(9), Z Hi(s)z 0 n
G={1.{S}.{ H}}
n :
d $§=(s, ,s-1,9,S81, ,S) (14 -60)
s=(s, ,s) , i s s,
s, g s,
Hi(s)= Hi(dl $)
S [ : : S [ : i
S
8 s i 1,8 S
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Hi(s)= Hi(dl S)
S G ( )
G , Z(Gi* ,Bj*)
i,

(Nash) ) n

2%x 2

[ h: bz]
B=
b: b

(y,1-y),

a  a
(x,1- x) (14-63)
(X, y)

E(x,y)z2 B(1,y)

E(x,y)2 BE(0,y)

E(x,y)2 E(x,1)

E(Xx,y)2 E(x,0)
(14-65) ,(14-66)

Q(1- xX)y-g1-x<0

Qxy- gxz 0

Q=a: + & - a -

az,(= &2 -

a., (14-69)

, (14-70)

(14-61)

(14-62)

(14-63)
(14-64)

(14-64)

(14 -65)
(14 -66)
(14 -67)
(14 -68)

(14 -69)
(14 -70)
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(1) Q=0,g=0 , 0O x<1 0Ocgy1
(2) Q=0,9>0 , x=0 0 y<1
(3) Q=0,0<0 x=1 0 y<1
(4) Q0 , dQ=a,
x=0 y<a
O0<x<1l y=a
x=1 y= o
,  (14-67) (14-68)
Rx(1-y)-r(1-y)<0 (14-71)
Rxy- ry= 0 (14-72)
R=h:+b:-b:-h,r=b -b:, (14-71) ,(24-72) :
(1) R=0,r=0 , 0 x1 0Ocgy<1
(2) R=0,r>0 , 0 x1 y=0
(3) R=0,r<0 , 0 x1 y=1
(4) RO , 1 R=p,
x<B y=0
x=B O<y<1
=B y=1
21 2% 2 :
2 -1 1 -1
L5 el ]
2% 2 :
Q=5>0 g=2 a=d Q=25
R=5>0 r=3 B=v R=35
x=0 y< 25
10<x<1 y=25 (14-73)
x=1 y= 25
(x< 35 y=0
1 x=35 0<y<l (14-74)
(x>35 y=1
(14-73) (14-74) 3
(x )= 0.0, 22|,
(14-73) 14-5 : (14-74) ;
3 3
E(X,y) =5xy-2(x+y+1 (14-75)
E(X,y) =5xy-3(x+y)+2 (14-76)
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[3:8)-el2.2]-2

E(0,0)=1, E(1,1)=2
E(0,0)=2, E(1,1)=1

fl' —————
i
|
I (0,0)
2 i 3
f* |
i
----- 4
3 -
5
A—[_7
14-5 |l g
Q=1>0 g=-1 a=qd Q= -1
R=1>0 r=-1 B=Vv R=
(x,y) =(1,1),
7 (14-80)
-1, 1
4., 3
v(S, l={1,2, ,n,S |
S
Xo , Xn)

(1,

-1

(0,0)
(35,2 5)

1)

(14-77)

(14 -78)
(14 -79)

5),

'9] 14 -80
| (14-80)

, V(' S)
X= (%,
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(14-81)

(14-87)

14 -6

410 -

Y

x= v({i}) i=1, ,n (14-81)
Z x = v(I) (14-82)
-82) X
? “ ” ? “ ” ?

) ( 1, 2) :
Q=12- 2P + P (14-83)
Q=12-2P + P (14-84)
,Q, Q (

20 : 1
m=PQ-20=12P. -2P.+ PP, - 20 (14-85)
dru
dP1=12—4P1+ P. =0 (14-86)
P1:3+ZP2 (14-87)
2 : , 2 1
_ 1
P. =3+ ) P (14 -88)
n’ ’ 12
: “ 6 7, 16 ,
! "1 6 H
i 2 i Rt 28
________ ———4(6, 6) BfEiHE
I e 1 R il £

14-6




I/ 1 2

I 2 el

(q\]
(q\]
—i
j
O
4
.ﬂ =+ s
W ._...ﬂ. ...|...“.
£l —
.% alli ﬂ-
== - O
il I
T
=+ =

14-7

14. 3

O~ ©® d <
0 © M N L
A < O A < MO N M
N < o M W10 < ©
N MO N O © N IO ™
_ ~ _ _ ~ !
o <
N N
<t O ™M
! - < < ©
N S N N M -
—
N N DM
N« 0
! ! N N MmN
_ ~ _ _ ~ !
— ™
N N

2.1

14. 4

14.5

14 -5
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14-5
1 2 3
1 10 -1 3
2 12 10 -5
3 6 8 5
14.6
14. 7
14. 8 8 9
14.9 G 2x X =(x,x% )’
(v ) G :
x >0 i=1,2
yi >0 j=1,2
14.10
a1 a2
S
1 b2
14.11° 2% 2 (14-25) (14-29) 14. 10
14.9
14. 12 mx m
a:  aw anm |
&1 @ @m
an  amw amm
I¢J ’aij:]-! = = '1;
=(YmI¥m, ,¥m
VG_m-Z
m
14. 13
] '3 4 0 3 0
0 3 4
5 0 2 5 9
- 4 0 1
(1) A= (2) A=|7 3 9 5 9
2 2 3
4 6 8 7 6
4 1 1
L6 0 8 8 3.
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14.14 : A

2 4]
2 3 "0
(1) - (2)| -6 0
5 6 7 8 5
4 2 3 -1 1 3 11
(3) (4)
L -4 0 -2 -2 L8 5 2
14. 15
4 0 0
A=|0 0 8
0 6 0
X =(6 13,3 13,4 13)",y =(6 13,4 13,3 13)", 24 13
, A
6 2 2 -2 -2 2 32 20 20
(1)[2 2 10 (2) 6 -2 -2 (3)| 20 20 44
2 8 2 -2 4 -2 20 38 20
14. 16 , A
8 2 4 2 0 2
(1)|2 6 6 (2)|0 3 1
6 4 4 1 2 1
[1] . ( ) . X , 1960
[2] J , , , . . ; , 1960
[3] . . : , 1985

[4] Owen G .Game Theory . Academic Press,1982
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(A .Simon)

15

- 414 -



15-1

15-1

: 15-1
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wsz | [wow] [

H#r fHE E

15-1

15-1

(1)

(2) ( )

(3)

(4)
(5)
(6)

- 416 -




35
10

40

1

30

0 10 20 30 40

?

{S},i=1,2, ,5 ; 0,10, 20, 30,
40, {Ej},jZl,Z, ’5 1 _
” 20 , 10
10x (35 - 30) - 1x (20 - 10) = 40( )
143 _ alj
: 15-2
15-2
E
I
S 0 10 20 30 40
0 0 0 0 0 0
10 - 10 50 50 50 50
20 - 20 40 100 100 100
30 - 30 30 90 150 150
40 - 40 20 80 140 200
3.1 (max min)
, max min
15-3

417 -



15-3

EJ'
min
S 0 10 20 30 40
0 0 0 0 0 0 0 — max
10 - 10 50 50 50 50 - 10
20 - 20 40 100 100 100 - 20
30 - 30 30 90 150 150 - 30
40 - 40 20 80 140 200 - 40
max min
max (0, - 10, - 20, - 30, - 40) =0
S , 13
S - max min (aj)
3.2 (max max)
(max max) ,
, 15-4
15-4
EJ'
max
S 0 10 20 30 40
0 0 0 0 0 0 0
10 - 10 50 50 50 50 50
20 - 20 40 100 100 100 100
30 - 30 30 90 150 150 150
40 - 40 20 80 140 200 200 — max
max max
max (0,50, 100, 150, 200) = 200
S
S - max max(ai)
i j
3.3 (Laplace)
(Laplace) 19 L aplace
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15-5
S —-max{ E(S)}
15-5
E.
J E(S) = Z pai
S 0 10 20 30 40
0 0 0 0 0 0 0
10 -10 50 50 50 50 38
20 - 20 40 100 100 100 64
30 - 30 30 90 150 150 78
40 - 40 20 80 140 200 80 — max
1
P= 5
E(S) = Z pPaij
max{ E( S)} = max{0,38,64,78,80} =80
S
3.4
Savage
13 - ” ( ,
) ) k
a,1=1,2, ,5,
ax = max( ax)
d«={max(a«x) - ax},i=1, ,5
15-6
15-6
EJ
max
S 0 10 20 30 40
0 0 50 100 150 200 200
10 -10 0 50 100 150 150
20 - 20 10 0 50 100 100
30 - 30 20 10 0 50 50
40 - 40 30 20 10 0 30 min

419 -



S - min max d i
i j

min (200, 150,100,50,30) =30~ S

420 -

3.5
min max max max
a < x1
H=aa_ +(1-aa,
hax ’aimin I a= :l[ 3,
Hi 15-7
S - max{ Hi}
max (0,10,20,30,40) =40- S
15-7
EJ'
H,
S 0 10 20 30 40
0 0 0 0 0 0 0
10 -10 50 50 50 50 10
20 -20 40 100 100 100 20
30 - 30 30 90 150 150 30
40 - 40 20 80 140 200 40 — max
4
4.1 (expected monetary value, EMV)

P



Z pJaij, [

mlaxz p,ai - S

1 , 15-8
15-8
EJ'
N 0 10 20 30 40 EMV
S 0.1 0.2 0.4 0.2 0.1
0 0 0 0 0 0 0
10 - 10 50 50 50 50 44
20 - 20 40 100 100 100 76
30 - 30 30 90 150 150 84 — max
40 - 40 20 80 140 200 80
max (0,44,76,84,80) =84 S
S =30
EMV :
4.2 (expected opportunity loss, EOL)

- y pj1

4.3 EMV EOL

EMV  EOL

dj

: 15-9
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15-9

EJ E1 Ez En

S b P p P
S ai - a1 & - a» &n - an
S ai - a1 & - a» an - &n
S a1 - & & - ao & - n

EOL = p (a: - &)+ p(@2 - ai)+ +pa(an - &)
—patpa+ +tpan-(patpat+t + pani)
=K-(pai+pa+ + pan)
= K- EMVi
EMV , EOL

4.4 (EVPI)

” EPPL

, EPPL= EMV’
EPPL - EMV = EVPI
EVPI
4.5
1.
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, 15-10 15-10 0. 47,
15-10
1 3 S
1 0.6 0.6 0.6 0.1
2 0.7 0.4 0.5 0.1
3 0.9 0.5 0.3 0.2
4 0.7 0.6 0.3 0.1
5 0.8 0.2 0.5 0.3
1. 67 1.31 0.55 3.53
0. 47 0.37 0.16 1
2.
(A,i=1, ,5) ,
) 15'11
15-11
Qi
1 2 3 4 5 Wi
1 A As A As A 0.7
2 A A A A A 0.8
3 Ps As P A Au 0.6
4 A A A A A 0.7
5 Pe A A As Au 0.9
6 A Ae A A A 0.8
7 Ps A As A Aa 0.7
8 A A A A As 0.9
9 A A s A As 0.7
10 A Ao A A A 0.8
15-11 , A
0] N Wi
1 1 w: =0.7
2 3 w.=0.8 w=0.7,w =0.7
3 2 w=0.7,w =0.9
4 4 Wo =0.8,ws =0.6,ws =0.8,w =0.9
5 0

423 -



Ix w +2(w + W + W) +3(w + W) +4(w + We + W + Wio)

W(A1)= ZWi
=3
W(A)=2.26;w(A)=3.43; Ww(A)=4.56; w(As)=1.78
A>A>A>A>A
(A1) A 1,
(A -1 (A-2) (A-3) (A-4) (A-5)=1 1 1 1 1
1,
2. Pt
P(A-1)=145;, P(A-2)=15, P(A-3)=15
P(A-4)=15; P(A-5=15
4.6 —
«C )
P(B | A) = P(B)P(A]| B) i=1.2. .n
Z P(B)P(A| B)
C )
2 : P(O) =
0.5; P(D)=0.5 ,
: P(F|O) =0.9;
P(U O =01 P(F| D) =0.2;
P(U|D)=0.8 , 2

P(F) =P(O)- P(F|O) + P(D)- P(F|D)
=0.5%x 0.9+0.5x 0.2
=0. 55
424 -



P(U)=P(O)- P(U|D)+ P(D)- P(U|D)
=0.5x 0.8+0.5x 0.1=0. 45
( )
_P(O)- P(F|O) _0.45_9
P(OIF) = P(F) ~0.55 11
_P(D)- P(F|D)_0.10_2
P(DIF) = P( F) ~0.55 11
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p=0.5, X X
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R:wi[Cx-2Z]-w[éx-2]=0 x R

z 2 cx ¢ ( x R)
1
max Cc X
X R
(1) Z.l
2
max C X
X R
(2) ZZ
(1) 2
, max ¢ X ,
, ; , X 2
3
max z, max ¢ X, max ¢ X
x RL x RL x RY
12
(% + %< 7
z2=3x+ X . Xt <5
max 1
2=%X+2% %< 5
L X%, =0
max z: max z
X R X R
XV =(5,2),z2 =17, X? = (2,5), 2 =12, 16-13

w=w =05,
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z=05[3x +x]+05[x +2x]
=2x% +1 5%
R
05[3x+x-17] -05[x +2x -12] =0
x -05% =25, x R

_x=(4,3), W W

( 4 )
7
(analytic hierarchy process, AHP ) (T.L .Saa
ty) 20 70 :
: C )

7.1 AHP

x x 1) ; 1 )

: : 16-14
n A, A, A Wi, Wo, , Wh
, nx n A
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AW= nW AW = Anac W |
. W
) _A ] A )
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n-1 n-1
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RI, 16-2, CR
CR=—2—
16-2
1 2 3 4 5 6 7 9
RI 0 00 0 00 0 58 0 90 112 124 132 141 145
7.2
: 1 9
7+ 2, 16-3
- n(n-1
2
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5 i ]
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9 i ]
2,4,6,8
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1974  Zeleny
20 70 ,
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[1]
[2]
[3]
[4]

[5]
[6]
[7]

Zeleny M . M ultiple Criteria Decision Making . Kyoto, 1975
Churchman C W . Introduction to Operations Research . John Wiley and Son, 1957
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Hwang C L and Masud A S. Multiple Objective Decision Making . Methods and Applications .

Springer - Verlag . Berlin, 1979

Hwang C L and Yoon K S. Multiple Attribute Decision Making . Springea Verlag, 1981
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1.1

(1)

(2)
(3)

(4)
(5)

(heuristic method), (heuristic a gorithm)

1.2

(1) ( ),

(2)
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(3)

(1)
(2)
(3)

1.3

(1)

(2)

(3)

(4)
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, B
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6 B A Bi (
) ( 17-1), A B
17-1
1 2 3 4 5 6
A 30 60 60 20 80 90
B 70 70 50 60 30 40
1 1 21
1-2  2-1( 17-1) BB=B, A<A, 1
2 3, A=A B <B,
2 ( 17-2)
17-1 17 -2
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(traveling salesman problem, TSP)

, n ( ) : ,
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1. CW
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i |
i j
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17-3

17-5
17-3
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4 (E, F) 8 00 12 (B, E) 134
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5 | (CE) | E G , 0
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2.3

(vehicle scheduling problem, V SP) Dantzig Ramser 1959

V SP
’ ( ’ ’
) 1 )l ( !
1) 1 )
( )
1.
n , An+1, Ans2 , Am+n
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m :Allpey ,Am, glygz; 1gm1
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| y |, ’i' i In
, i
i g a ,
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( ) ,
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1
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Z Xilzala J:1a21 lm
1
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: (17-4)

To:

m m
. _ G Xij
mnz-Y Y,
m

Z X =a, i=1,2, ,m
1 L (17 -6)
2 Xi=a, j=1,2, ,m
1
Xii=0
X =
(x7) T : ,
T
X(O) T
(1)
X X? >0 (i,j=1,2, ,m),
;= _min {c;|b>0} + min  {c 1B, >0} - ¢ (17-7)
, sz-z Y, i=m+1, ,m+n (17-8)
1
_bj:bj'z X7, j=m+1, ,m+n (17-9)
1
(17-7) S Xi
(17-7) i k | [k (m+1, m+n)], Xi >0 X
. (0) (0) (0)
Xil, , X Xk Xil
xi:= XY -min{ X, b, B}
i =% +min{ X2, b, B} (17 -10)
xi:= XY +min{ X¥ b, 81}
6ij y )
17-5 F—C C—F XY =(xX7),
’ T 6ij <O , X(l) X(O)
(2)
(1) 17-5 F—C C—F
X7 X7 , G—C ,
[Zlkal * ZlIZml | ]
X?; >0 XV >0kl (m+1,m+n;i,j (1, m)],
d i =minfc; - & - i | %} >0, %7 >0} (17 -11)
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X = X - min{ i/, xi7’ }

X=X - min{ x5, X'} (17-12)
Xi:= X7 +min{ x; , X'}
X2 = (K2, T
3.
(X" X?) T
X :
Xk k, > 0, Xk, ky >0, X, k, >0, , kakq >0 (17-13)
koke LmeLl,menl,  xq, X 17-5 F—C C—F
Akl—»AlQ—»AlG—»AM* —>Akp—’Akq
( ) , (
] 1 ) ( )’
( )
(neurd networks) (smulated anneding) (tabu
search) (genetic dgorithm)

[1] [ ] : : . : ,2000
[2] : . ; ,1993

[ ]George E Luger %

, 2004
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17.3

17. 4 C-W
17.5 Norback L ove C-W
17.6 ,
(1) :
(2)
17.7 17-6 12 B
(1) A : B
(2) 8 12 B : A ,
17-6

1 2 3 4 7 8 9 10 11 12

5 8 11 2 12 3 9 3 6 10
B 5 9 4 3 9 4 5 8 9 4
17.8 4 b, X, X, L, A, B, C ,

17 -7 ,
17-7
J N N Ji

A 5 10 9 5
B 7 5 7 8
C 9 4 5 10
17.9 10 , 17-8
(1) C-W
(2) Norback Love
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(3) , :

17-8
1 2 3 4 5 6 7 8 9 10
X 5 8 10 15 16 18 18 20
y 20 12 15 4 18 8 15 17
17. 10 , 3 2 , 17-9
1,2 3 (
) 7,8 9, ,
)L 45 60
17-9
1 2 5
4 12 10 8 10
1 10
2 8 8 6 10
2 6
12 4 6 14 2
3 7
6 4 6 M M
4 <4
14 2 8 M M
5 <6
10 6 < <7

[1]
[2]

[3]
[4]
[5]

Kanti Swarup P K .Gupta and Man Moohan . Operations Research . Sultan Chand & Sons . 1982

Hamdy A Taha . Operations Research: An Introduction . 3rd Edition . The Macmillan Company,

1980

, 1995

, 1994
2
,1989
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